
2 0 1 8  B r a k e  C a l i p e r  C a t a l o g u e

“SET YOUR BRAKE  
SET YOUR LIFE ” 







Kaliper tamir takımları  üretiminde uzun yıllara dayanan tecrübesi ve konusunda uzman ekip
arkadaşları ile 2015 yılında  “kalite” , “Müşteri memnuniyeti” ve

“yenilikçi yaklaşım” temelinde kurulmuştur.

Hali hazırda üretimini yaptığımız standart kaliper tamir takımı  setlerinin yanı sıra
ihtiyaca özel  müşteri  tasarımı ve üretimi yaparak karmaşık

sorunlara ideal çözümler sunmaktayız.

Müşterilerimiz’in sahip oldukları fikirleri ve servislerde ortaya çıkan ihtiyaçları,
tüm kalite güvence gereksinimleri yerine getirilmiş, pazarlanabilir ürünler halinde kendilerine 

sunarak 34 ülkede 48 adet Müşterimiz’e, tedarikçiden çok çözüm ortağı
olarak hizmet vermekteyiz.

With its deep experience caliper repair kit  manufacturing was founded by 2015 with its well 
qualified staff  based on the fundamentals of “quality”, 
“Customer satisfaction” and “innovative approach”.  

 
Besides our wise alternatives to standard irepair kits  need in the maintenanceservice , we also 

offer innovative solutions to complex issues by designing and manufacturing custom-made, 
case-specific instruments and implants.

By transforming our Customers’ genious ideas and particular need in the OR into marketable 
products with all quality assurance necessities complied, we serve all of our 48 Customers in 

34 different countries across the World not as a subcontractor but as a solutions partner.





KNORR

MERITOR

WABCO

HALDEX

IVECO

HYDRAULIC

Z-CAM

6-67

69-166

168-207  

209-236

238-250

252-258

260-265

Caliper Repair Kits INDEX



5www.setfren .com



6 www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

SN6...SN7...SK7...NA7...

SN6… SN7… SK7…

SB5… 

Caliper Tappet & 
Boot Set (69 mm)
K000366
K001300
K010603

STK1003

Setfren No 

K247

K233

K122

GRS05

Description

Thrust Part With Bellow - (69 mm)

Shaft Housing Boot

Bush - Ø 16 x 18 / 10 mm

Grease (White) - 5 g

Pcs

 x 2

 x 2

 x 2

 x 1

Caliper Tappet SetSTK1004

Setfren No 

K247

K122

GRS05

Description

Thrust Part With Bellow - (69 mm)

Bush - Ø 16 x 18 / 10 mm

Grease (White) - 5 g

Pcs

 x 2

 x 2

 x 1

Pcs

  x 1

 x 1

 x 1

 x 1

STK1005

Setfren No 

K249

K234

K122

GRS05

Description

Thrust Part With Bellow - (74 mm)

Shaft Housing Boot

Bush - Ø 16 x 18 / 10 mm

Grease (White) - 5 g

Caliper Tappet & 
Boot Set
II370760065



7www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

Caliper Tappet & 
Boot Set
II370760065

SB6...SB7...

SB6...SB7...

SL7...SM7...ST7...

Caliper Tappet & 
Boot Set (74 mm)
K000944
K010604

Caliper Tappet Set
II179320065
II304130065

Caliper Tappet & 
Boot Set (69 mm)

STK1007

STK1008

STK1009

Setfren No 

K248

K233

K121

GRS05

Description

Thrust Part With Bellow - (69 mm)

Shaft Housing Boot

Bush - Ø 15 x 17 / 8 mm

Grease (White) - 5 g

Setfren No 

K249

K234

K122

GRS05

Setfren No 

K249

K122

GRS05

Description

Thrust Part With Bellow - (74 mm)

Shaft Housing Boot

Bush - Ø 16 x 18 / 10 mm

Grease (White) - 5 g

Description

Thrust Part With Bellow - (74 mm)

Bush - Ø 16 x 18 / 10 mm

Grease (White) - 5 g

Pcs

 x 1

 x 1

 x 1

 x 1

Pcs

x 2

x 2

x 2

x 1

Pcs

x 2

x 2

x 1



8 www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

SN5...

SL7... SM7... ST7...

SL7... SM7... ST7...

Caliper Tappet & 
Boot Set (69 mm)
K046523K50

STK1011

Setfren No 

K248

K233

K121

GRS05

Description

Thrust Part With Bellow - (69 mm)

Shaft Housing Boot

Bush - Ø 15 x 17 / 8 mm

Grease (White) - 5 g

Pcs

x 2

x 2

x 2

x 1

Caliper Tappet & 
Boot Set
K001929

STK1012

Setfren No 

K250

K233

K122

GRS05

Description

Thrust Part With Bellow

Shaft Housing Boot

Bush - Ø 16 x 18 / 10 mm

Grease (White) - 5 g

Pcs

 x 1

 x 1

 x 1

 x 1

STK1010

Pcs

 x 2

 x 2

 x 1

Setfren No 

K248

K121

GRS05

Description

Thrust Part With Bellow - (69 mm)

Bush - Ø 15 x 17 / 8 mm

Grease (White) - 5 g

Caliper Tappet Set
(69 mm)



9www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

SN6… SN7… SK7… NA7…

Caliper Tappet & 
Boot Set (69 mm) 

STK1013

Setfren No 

K247

K235

K122

GRS05

Description

Thrust Part With Bellow - (69 mm)

Shaft Housing Boot

Bush - Ø 16 x 18 / 10 mm

Grease (White) - 5 g

Pcs

 x 2

x 2

x 2

x 1

Caliper Lever - 93°

Caliper Lever (Angle 12°)

Caliper Lever
(Angle 12°)

Caliper Lever

STK1014

STK1016

STK1015

STK1017

SB7... RADIAL

SN6...SN7...SK7... SK7...

SB7...



10 www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

Caliper Lever - Straight
(Angle 0°)

Caliper LeverSTK1022 STK1023

Caliper Lever

Caliper Lever

Caliper Lever - Straight
(Angle 0°)

Caliper Lever - Straight 
(Angle 0°)

STK1018

STK1020

STK1019

STK1021

SL7... SM7...

SN6...

SN7...SK7... SN7...SK7...

SB6...

SN6...



11www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

Caliper Lever - Straight
(Angle 0°)

STK1024 Caliper LeverSTK1026

Caliper Lever Needle Bearing SetSTK1027 STK1028

Caliper Short Pin 
Repair Kit
K000421

STK1025

Setfren No 

K191

K145

K198

STK1188

K200

Description

Pad Spring

Caliper Pin - Ø 32 / 80 mm

Pin Bolt - M16 x 1.5 / 80 mm

Rubber Bush - Ø 35 mm

Pin Bolt Ring

Pcs

 x 2

 x 1

 x 1

 x 1

 x 1

Setfren No 

K103

Description

Needle Bearing

Pcs

 x 2

SB6...SB7...

SN5…

SB5... SB6... SB7...
SN6... SN7... SK7...

SB7... SN5...



12 www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

Setfren No 

K189

Setfren No 

K106 

Description

Needle Bearing

Description

Needle Bearing

Pcs

 x 2

Pcs

 x 2

Needle Bearing Set Adjusting Mechanism ShaftSTK1031 STK1032

Setfren No 

K142

Description

Thrust Part With Bellow - (69 mm)

Pcs

 x 2

Shaft Housing AssemblySTK1033

 SN6… SN7… 

Setfren No 

K241

K237

K236

K238

Description

Shaft Housing

Shaft Housing Pin

Shaft Housing Pin Clamp

Shaft Housing Spring

Pcs

x 1

x 1

x 2

x 1

Needle Bearing Set Needle Bearing SetSTK1029 STK1030

SB6... SB7... SN6... 
SN7... SK7...

SL7...SM7...ST7...
SB6... SB7... SN6... SN7...
SK7... SL7... SM7... ST7...

SN5...



13www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

Shaft Housing SetSTK1034

Setfren No 

STK1033

STK1192

STK1050

Description

Shaft Housing Assembly

Lever Bearing

Caliper Calibration Bolt - (3 Thread)

SN6… SN7… 

Pcs

x 1

x 1

x 2

Sensor Plastic 
Locker Set

STK1035

Setfren No 

K227

Description

Sensor Plastic Locker

SB6... SB7... SN6...
SN7... SK7...

Pcs

x 5

Shaft Housing 
Assembly

STK1036

Setfren No 

K239

K237

K236

K238

Description

Shaft Housing

Shaft Housing Pin

Shaft Housing Pin Clamp

Shaft Housing Spring
SB6… SB7…

Pcs

 x 1

 x 1

 x 2

 x 1



14 www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

Shaft Housing SetSTK1037

Setfren No 

STK1036

STK1192

STK1050

Description

Shaft Housing Assembly

Lever Bearing

Caliper Calibration Bolt - (3 Thread)

SB6… SB7…

Pcs

 x 1

 x 1

 x 2

 STK1038

 SB6… SB7…

Setfren No 

K171

Description

Cover Bolt - M14 x 2 / 55 mm

Pcs

 x 8

Shaft Housing AssemblySTK1041

Setfren No 

K240

K238

Description

Shaft Housing

Shaft Housing Spring

Pcs

 x 1

 x 1
SN7... SK7... SL7...
SM7... ST7...

Setfren No 

K169

Description

Cover Bolt - M10 x 1.5 / 60 mm

Pcs

x 8

Caliper Cover Bolt KitSTK1039

SB6...SB7... SB6...SB7...



15www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

Setfren No 

STK1143

STK1007

STK1036

STK1029

STK1068

Setfren No 

STK1052

STK1056

STK1050

GRS05

Description

Caliper Pin Repair Kit

Tappet & Boot Set - (74 mm)

Shaft Housing Assembly

Needle Bearing Set

Calibration Shaft Chain

Description

Adjusting Mechanism Shaft

Pinion Shaft

Caliper Calibration Bolt - (3 Thread)

Grease (White) - 5 g

Pcs

x 1

x 1

x 1

x 1

x 1

Pcs

x 1

x 1

x 2

x 1

Caliper Complete Repair 
Kit - (Without Lever)

STK1040

SB6... SB7...

Shaft Housing SetSTK1042

Setfren No 

STK1041

STK1050

Description

Shaft Housing  Assembly

Caliper Calibration Bolt - (3 Thread)

Pcs

 x 1

 x 2

SN7... SK7...



16 www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

Shaft Housing SetSTK1043

Setfren No 

STK1041

STK1051

Description

Shaft Housing  Assembly

Calibration Bolt - (3 Thread)

Pcs

 x 1

 x 2

Caliper Tappet & 
Boot Set

STK1044

Setfren No 

K191

K145

K198

STK1189

Description

Pad Spring

Caliper Pin - Ø 32 / 80 mm

Pin Bolt - M16 x 1.5 / 80 mm

Rubber Bush -  Ø 39 mm SB6… SB7…

Pcs

 x 2

 x 1

 x 1

 x 1

Shaft Housing Assembly Caliper Lever - 86°STK1045 STK1046

SL7... SM7... ST7...

SB5... SB7… RADIAL



17www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

Caliper Complete Repair Kit - (Without Lever)STK1049

SL7…

Caliper Complete Mechanism Rapair KitSTK1047

SB7… RADIAL

Setfren No Description Pcs

STK1007 Tappet & Boot Set - (74 mm) x 1

STK1036 Shaft Housing Assembly x 1

STK1046 Lever - 86° x 1

STK1028 Needle Bearing Set x 1

STK1068 Calibration Shaft Chain x 1

STK1052 Adjusting Mechanism Shaft x 1

STK1056 Pinion Shaft x 1

STK1050 Caliper Calibration Bolt - (3 Thread) x 2

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

STK1143 Caliper Pin Repair Kit x 1

STK1011 Caliper Tappet & Boot Set - (69 mm) x 1

STK1041 Shaft Housing  Assembly x 1

STK1031 Needle Bearing Set x 1

STK1068 Calibration Shaft Chain x 1

STK1052 Adjusting Mechanism Shaft x 1

STK1060 Pinion Shaft x 1

STK1051 Calibration Bolt - (3 Thread) x 2

STK1093 Caliper Cover x 1

GRS05 Grease (White) - 5 g x 1

STK1060 Pinion Shaft x 1

STK1051 Calibration Bolt - (3 Thread) x 2

STK1093 Caliper Cover x 1

GRS05 Grease (White) - 5 g x 1



18 www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

Shaft Housing AssemblySTK1048 Caliper Calibration Bolt
(3 Thread)

STK1050

Adjusting Mechanism ShaftSTK1054

Caliper Calibration Bolt
(3 Thread) 8 mm

Adjusting Mechanism ShaftSTK1051 STK1052

Pinion ShaftSTK1056

SN5...

SB5... SN5...
SB6... SB7...
SN6... SN7...
SK7...

SB6... SB7... SN6... SN7...
SK7... SL7... SM7... ST7...

SB6... SB7... SN6... SN7...
SK7... SL7... SM7...

SL7...SM7...
ST7...

SB5...SN5...



19www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

Caliper Complete Repair Kit - (Without Lever)STK1053

SM7...

Setfren No Description Pcs

STK1143 Caliper Pin Repair Kit x 1

STK1011 Caliper Tappet & Boot Set - (69 mm) x 1

STK1041 Shaft Housing  Assembly x 1

STK1031 Needle Bearing Set x 1

STK1068 Calibration Shaft Chain x 1

STK1052 Adjusting Mechanism Shaft x 1

STK1060 Pinion Shaft x 1

STK1051 Calibration Bolt - (3 Thread) x 2

STK1092 Caliper Cover x 1

GRS05 Grease (White) - 5 g x 1



20 www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

Caliper Complete Repair Kit - (Without Lever)STK1055

Setfren No Description Pcs

STK1152 Caliper Pin Repair Kit x 1

STK1012 Caliper Tappet & Boot Set x 1

STK1095 Caliper Cover x 1

STK1050 Caliper Calibration Bolt - (3 Thread) x 1

STK1048 Shaft Housing Assembly x 1

STK1030 Needle Bearing Set x 1

STK1054 Adjusting Mechanism Shaft x 1

STK1062 Pinion Shaft x 1

STK1067 Caliper Calibration Shaft Chain (14 Link) x 1

GRS05 Grease (White) - 5 g x 1



21www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

Pinion Shaft

Pinion Shaft

Pinion Shaft

Pinion Shaft

STK1058

STK1059

STK1057

STK1062

Setfren No 

K208

Description

Pin Cap - Ø 40 / 24.5 mmT

Pcs

x 5

Caliper Cap SetSTK1061

SB6… SB7…

Pinion ShaftSTK1060

SB6... SB7... SN6...SN7...
SK7... SL7... SM7...

SB6... SB7... SN6... SN7...
SK7... SM7... SL7...

SB6... SB7... SN6... SN7...
SK7... SM7... SL7...

SB6... SB7... SN6... SN7...
SK7... SL7... SM7... ST7...

SK7... ST7...

SN5…



22 www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

Pinion Shaft

Adjusting Mechanism 
Adapter Set
Z001548

Caliper Calibration Shaft 
Chain (14 Link)

Caliper Mechanism Gear

Caliper Calibration Shaft 
Chain (12 Link)

Calibration Shaft Chain
(29 Link)

STK1063

STK1065

STK1067

STK1064

STK1066

STK1068

Setfren No 

K111

Description

Adjusting Mechanism Adapter

Pcs

x 10

SB5...

SB5...

SN5...

SB6... SB7...

SB6... SB7... SN7...
SK7... SM7... ST7...

SB6... SB7... SN7...
SK7... SM7... ST7...



23www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

Without Sensor

With 3 Wires Sensor

Without Sensor

With 2 Wires Sensor 

With 3 Wires Sensor 
MAN Type

With 2 Wires Sensor 

STK1069

STK1071

STK1073

STK1070

STK1072

STK1074

SB6… SB7… SN6… SN7… 
SK7…SL7…SM7…

SB6… SB7… SN6… 
SN7… SK7…SL7…

SB6… SB7…  SN6… SN7… 
SK7… SL7… SM7…

SB6… SB7… SN6… SN7… 
SK7… SL7… SM7…

SB6…SN6…SN7...
SB7…SK7…

SB6…SN6…SN7...
SB7…SK7…



24 www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

STK1075 With 3 Wires Sensor 

Without Sensor

Without Sensor

With 2 Wires Sensor STK1079

STK1076

STK1080

With 2 Wires Sensor With 3 Wires Sensor STK1077 STK1078

SB6…SN6…SN7...
SB7…SK7… SN5...

SN5...SN5...

SB7…RADIAL SB7…RADIAL



25www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

With 3 Wires Sensor 

With 2 Wires Sensor

 Without Sensor

Wires Sensor 

With 3 Wires Sensor

With 2 Wires Sensor

STK1081

STK1083

STK1085 

STK1082

STK1084 

STK1086

SB5...

SB5...SB5...

SB5... SB5...

SB7…RADIAL



26 www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

With 3 Wires Sensor Plastic Gear Shaft SetSTK1087 STK1088

Setfren No 

K215

Description

Plastic Gear Shaft

Pcs

x 5

Plastic Gear Shaft SetSTK1091

Setfren No 

K110

Description

Plastic Gear Shaft

Pcs

x 5

Plastic Gear Shaft SetSTK1089

Setfren No 

K109

Description

Plastic Gear Shaft

Pcs

x 5

Plastic Gear Shaft SetSTK1090

Setfren No 

K108

Description

Plastic Gear Shaft - 9 mm

Pcs

x 5

Caliper CoverSTK1092

SB5...

SB6... SB7... SN6... SN7... SK7... SL7... SM7...

SB6... SB7... SN6... SN7... SK7... SL7... SM7...ST7

SN6... SN7... SK7... SM7... ST7...

SN6... SN7... SK7... SL7... SM7...

SB7... RADIAL



27www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

Caliper CoverSTK1093

Caliper Pin Repair Kit
K001925 - K028451

STK1094

SN6...

SN6... SN7... SK7... SL7...

Setfren No Description Pcs

K150 Caliper Pin - Ø 36 / 103 mm x 1

K145 Caliper Pin - Ø 32 / 80 mm x 1

K199 Pin Bolt - M16 x 1.5 / 85 mm x 1

K198 Pin Bolt - M16 x 1.5 / 80 mm x 1

K126 Bush - Ø 36 x 40 / 75 mm x 1

STK1189 Rubber Bush -  Ø 39 mm x 1

K202 Pin Boot - (Red) x 1

K218 Ring - (White) x 1

K207 Pin Cap - Ø 40 / 14.5 mm x 1

GRS05 Grease (White) - 5 g x 1



28 www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

Caliper Cover Seal SetSTK1096

Setfren No 

K105

Description

Cover Seal

Pcs

x 5

Caliper CoverSTK1095

Caliper Complete Mechanism Rapair KitSTK1097

SB7...RADIAL

SN5...

SN5...

Setfren No Description Pcs

STK1007 Tappet & Boot Set - (74 mm) x 1

STK1036 Shaft Housing Assembly x 1

STK1014 Lever - 93° x 1

STK1028 Needle Bearing Set x 1

STK1068 Calibration Shaft Chain x 1

STK1052 Adjusting Mechanism Shaft x 1

STK1056 Pinion Shaft x 1

STK1050 Caliper Calibration Bolt - (3 Thread) x 2

GRS05 Grease (White) - 5 g x 1



29www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

Caliper Complete Mechanism Rapair KitSTK1098

Caliper Complete Mechanism Rapair KitSTK1099

 SN7... SK7...

Setfren No Description Pcs

STK1007 Tappet & Boot Set - (74 mm) x 1

STK1036 Shaft Housing Assembly x 1

STK1015 Lever - (Angle 12°) x 1

STK1028 Needle Bearing Set x 1

STK1068 Calibration Shaft Chain x 1

STK1052 Adjusting Mechanism Shaft x 1

STK1056 Pinion Shaft x 1

STK1050 Caliper Calibration Bolt - (3 Thread) x 2

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

STK1003 Tappet & Boot Set - (69 mm) x 1

STK1033 Shaft Housing  Assembly x 1

STK1016 Lever - (Angle 12°) x 1

STK1029 Needle Bearing Set x 1

STK1068 Calibration Shaft Chain x 1

STK1052 Adjusting Mechanism Shaft x 1

STK1056 Pinion Shaft x 1

STK1050 Caliper Calibration Bolt - (3 Thread) x 2

GRS05 Grease (White) - 5 g x 1

SB7...



30 www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

SL7... SM7...

SL7...SM7…SK7...

STK1100 Caliper Complete 
Mechanism Rapair 
Kit

Setfren No Description Pcs

STK1003 Tappet & Boot Set - (69 mm) x 1

STK1041 Shaft Housing  Assembly x 1

STK1017 Lever x 1

STK1029 Needle Bearing Set x 1

STK1068 Calibration Shaft Chain x 1

STK1052 Adjusting Mechanism Shaft x 1

STK1056 Pinion Shaft x 1

STK1050 Caliper Calibration Bolt - (3 Thread) x 2

GRS05 Grease (White) - 5 g x 1

Caliper Complete 
Mechanism Rapair 
Kit

STK1101

Setfren No Description Pcs

STK1011 Caliper Tappet & Boot Set - (69 mm) x 1

STK1041 Shaft Housing  Assembly x 1

STK1018 Caliper Lever x 1

STK1031 Needle Bearing Set x 1

STK1068 Calibration Shaft Chain x 1

STK1052 Adjusting Mechanism Shaft x 1

STK1060 Pinion Shaft x 1

STK1051 Calibration Bolt - (3 Thread) x 2

GRS05 Grease (White) - 5 g x 1

Caliper Complete 
Mechanism Rapair
Kit

STK1102

Setfren No Description Pcs

STK1003 Tappet & Boot Set - (69 mm) x 1

STK1033 Shaft Housing  Assembly x 1

STK1019 Lever - Straight (Angle 0°) x 1

STK1029 Needle Bearing Set x 1

STK1068 Calibration Shaft Chain x 1

STK1052 Adjusting Mechanism Shaft x 1

STK1056 Pinion Shaft x 1

STK1050 Caliper Calibration Bolt - (3 Thread) x 2

GRS05 Grease (White) - 5 g x 1

SN6...



31www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

SB6...

Caliper Complete 
Mechanism Rapair 
Kit

STK1104

SN6...

Caliper Complete 
Mechanism Rapair 
Kit

STK1105

Caliper Complete 
Mechanism Rapair 
Kit

STK1103

Setfren No Description Pcs

STK1003 Tappet & Boot Set - (69 mm) x 1

STK1041 Shaft Housing  Assembly x 1

STK1020 Lever x 1

STK1029 Needle Bearing Set x 1

STK1068 Calibration Shaft Chain x 1

STK1052 Adjusting Mechanism Shaft x 1

STK1056 Pinion Shaft x 1

STK1050 Caliper Calibration Bolt - (3 Thread) x 2

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

STK1007 Tappet & Boot Set - (74 mm) x 1

STK1036 Shaft Housing Assembly x 1

STK1021 Lever - Straight (Angle 0°) x 1

STK1028 Needle Bearing Set x 1

STK1068 Calibration Shaft Chain x 1

STK1052 Adjusting Mechanism Shaft x 1

STK1056 Pinion Shaft x 1

STK1050 Caliper Calibration Bolt - (3 Thread) x 2

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

STK1003 Tappet & Boot Set - (69 mm) x 1

STK1033 Shaft Housing  Assembly x 1

STK1022 Lever - Straight (Angle 0°) x 1

STK1029 Needle Bearing Set x 1

STK1068 Calibration Shaft Chain x 1

STK1052 Adjusting Mechanism Shaft x 1

STK1056 Pinion Shaft x 1

STK1050 Caliper Calibration Bolt - (3 Thread) x 2

GRS05 Grease (White) - 5 g x 1

SN7...SK7...



32 www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

Caliper Complete Repair Kit
 

STK1109

SB5… 

SN5…

Setfren No Description Pcs

STK1152 Caliper Pin Repair Kit x 1

STK1012 Caliper Tappet & Boot Set x 1

STK1095 Caliper Cover x 1

STK1050 Caliper Calibration Bolt - (3 Thread) x 1

STK1048 Shaft Housing Assembly x 1

STK1026 Caliper Lever x 1

Setfren No Description Pcs

STK1030 Needle Bearing Set x 1

STK1054 Adjusting Mechanism Shaft x 1

STK1062 Pinion Shaft x 1

STK1067 Caliper Calibration Shaft Chain (14 Link) x 1

GRS05 Grease (White) - 5 g x 1

Caliper Pin & Boot 
Set

STK1106

Setfren No Description Pcs

K249 Thrust Part With Bellow - (74 mm) x 1

K122 Bush - Ø 16 x 18 / 10 mm x 1

K202 Pin Boot - (Red) x 1

K218 Ring - (White) x 1

K117 Bellow Cap - (Black) x 1

K168 Clamp x 1

K219 Rubber Bush - Ø 34 x 40 / 50 mm x 1

GRS05 Grease (White) - 5 g x 1



33www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

Caliper Plastic Cover Gasket Caliper Plastic Cover GasketSTK1107 STK1108

Caliper Complete Repair KitSTK1111

SB5… SN5… 

SB5… 

Caliper Pin Repair Kit
II328090062
 

STK1110

Setfren No Description Pcs

K153 Caliper Pin - Ø 36 / 145 mm "x 1

K149 Caliper Pin - Ø 34 / 80 mm x 1

K195 Pin Bolt - M16 x 1.5 / 150 mm x 1

K198 Pin Bolt - M16 x 1.5 / 80 mm x 1

K127 Bush - Ø 36 x 40 / 82 mm x 1

K219 Rubber Bush - Ø 34 x 40 / 50 mm x 1

K202 Pin Boot - (Red) x 1

K218 Ring - (White) x 1

K117 Bellow Cap - (Black) x 1

K168 Clamp x 1

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

STK1120 Caliper Pin Repair Kit x 1

STK1005 Caliper Tappet & Boot Set x 1

STK1195 Caliper Cap Set x 1

STK1050 Caliper Calibration Bolt - (3 Thread) x 1

STK1045 Shaft Housing Assembly x 1

STK1027 Caliper Lever x 1

STK1028 Needle Bearing Set x 1

STK1054 Adjusting Mechanism Shaft x 1

STK1063 Pinion Shaft x 1

STK1066 Caliper Calibration Shaft Chain (12 Link) x 1

GRS05 Grease (White) - 5 g x 1

SB6… SB7…



34 www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

STK1112 Brake Pad Retainer Repair Kit
K000946

Brake Pad Retainer Repair Kit
K002311

STK1113

Brake Pad Retainer Repair 
Kit

Brake Pad Retainer Repair 
Kit

STK1114 STK1115

Cable Protection KitSTK1118Brake Pad Retainer Repair 
Kit

STK1116

SB6... SN6... SN7...

SB6... SN6... SN7...

SB6... SN6... SK7... SB6... SN6... SK7...

SB6... SN6... SN7...

SB7... SN7...



35www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

Caliper Pin Repair Kit
K000365
 

STK1117

SB6... SB7... SN6... 
SN6... SN7...

Setfren No Description Pcs

K151 Caliper Pin - Ø 36 / 114 mm x 1

K145 Caliper Pin - Ø 32 / 80 mm x 1

K149 Caliper Pin - Ø 34 / 80 mm x 1

K199 Pin Bolt - M16 x 1.5 / 85 mm x 2

K198 Pin Bolt - M16 x 1.5 / 80 mm x 1

K127 Bush - Ø 36 x 40 / 82 mm x 1

K219 Rubber Bush - Ø 34 x 40 / 50 mm x 1

STK1189 Rubber Bush -  Ø 39 mm x 1

K202 Pin Boot - (Red) x 1

K218 Ring - (White) x 1

K206 Pin Cap - Ø 40 / 11 mm x 1

K243 Steel Cap x 1

K190 O-ring x 1

GRS05 Grease (White) - 5 g x 1

Plastic Cover Seal SetSTK1119

Setfren No 

K107

Description

Plastic Cover Seal

Pcs

x 5

Caliper Lever (Angle 12°)STK1132

SB6... SB7... SN6...
SN7... SK7... SL7...
SM7... SB6... SB7...



36 www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

Caliper Pin Repair Kit
II369100062

 

Caliper Pin Repair Kit
K000687 

Caliper Long Pin Repair KitT
K000935

STK1120

STK1121

STK1122

Setfren No Description Pcs

K153 Caliper Pin - Ø 36 / 145 mm x 1

K149 Caliper Pin - Ø 34 / 80 mm x 1

K195 Pin Bolt - M16 x 1.5 / 150 mm x 1

K199 Pin Bolt - M16 x 1.5 / 85 mm x 1

K127 Bush - Ø 36 x 40 / 82 mm x 1

K219 Rubber Bush - Ø 34 x 40 / 50 mm x 1

K202 Pin Boot - (Red) x 1

K218 Ring - (White) x 1

K117 Bellow Cap - (Black) x 1

K168 Clamp x 1

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

"K153 Caliper Pin - Ø 36 / 145 mm x 1

K145 Caliper Pin - Ø 32 / 80 mm x 1

K195 Pin Bolt - M16 x 1.5 / 150 mm x 1

K198 Pin Bolt - M16 x 1.5 / 80 mm x 1

K127 Bush - Ø 36 x 40 / 82 mm x 1

K202 Pin Boot - (Red) x 1

K218 Ring - (White) x 1

STK1189 Rubber Bush -  Ø 39 mm x 1

K117 Bellow Cap - (Black) x 1

K168 Clamp x 1

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

K153 Caliper Pin - Ø 36 / 145 mm x 1

K148 Pin Bolt - M16 x 1.5 / 150 mm x 1

K195 Bush - Ø 36 x 40 / 82 mm x 1

K193 Pin Boot - (Red) x 1

K127 Ring - (White) x 1

K220 Bellow Cap - (Black) x 1

K202 Clamp x 1

K218 Grease (White) - 5 g x 1

K117 Bellow Cap - (Black) x 1

K168 Clamp x 1

GRS05 Grease (White) - 5 g x 1

SB6… SB7…

SB5... SB7... SB7... RADIAL

SB5... SB6... SB7...



37www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

Caliper Pin Repair Kit
II358510062

Caliper Complete Mechanism Rapair Kit
II328090062 

STK1123

STK1125

Setfren No Description Pcs

K153 aliper Pin - Ø 36 / 145 mm x 1

K148 Caliper Pin - Ø 34 / 120 mm x 1

K195 Pin Bolt - M16 x 1.5 / 150 mm x 1

K193 Pin Bolt - M16 x 1.5 / 125 mm x 1

K127 Bush - Ø 36 x 40 / 82 mm x 1

K220 Rubber Bush - Ø 34 x 40 / 95 mm x 1

K202 Pin Boot - (Red) x 1

K218 Ring - (White) x 1

K117 Bellow Cap - (Black) x 1

K168 Clamp x 1

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

STK1007 Caliper Pin - Ø 36 / 145 mm x 1

STK1036 Caliper Pin - Ø 34 / 80 mm x 1

STK1132 Pin Bolt - M16 x 1.5 / 150 mm x 1

STK1028 Pin Bolt - M16 x 1.5 / 80 mm x 1

STK1068 Bush - Ø 36 x 40 / 82 mm x 1

STK1052 Rubber Bush - Ø 34 x 40 / 50 mm x 1

STK1056 Pin Boot - (Red) x 1

STK1050 Ring - (White) x 2

GRS05 Bellow Cap - (Black) x 1

Plastic Cover GasketSTK1124

SB7...RADIAL

SB6... SB7... SN6... SN7...
SK7... SL7... SM7... ST7...

SB7...

Plastic Cover GasketSTK1138

SB7... RADIAL



38 www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

Caliper Pin Repair Kit

Caliper Pin Repair Kit
 K000132 - II350470062  
 

Caliper Pin Repair Kit
K000935

STK1126

STK1127

STK1128

Setfren No Description Pcs

K153 Caliper Pin - Ø 36 / 145 mm x 1

K149 Caliper Pin - Ø 34 / 80 mm x 1

K195 Pin Bolt - M16 x 1.5 / 150 mm x 1

K199 Pin Bolt - M16 x 1.5 / 85 mm x 1

K219 Rubber Bush - Ø 34 x 40 / 50 mm x 1

Setfren No Description Pcs

K152 Caliper Pin - Ø 36 / 135 mm x 1

K149 Caliper Pin - Ø 34 / 80 mm x 1

K194 Pin Bolt - M16 x 1.5 / 140 mm x 1

K199 Pin Bolt - M16 x 1.5 / 85 mm x 1

K127 Bush - Ø 36 x 40 / 82 mm x 1

K219 Rubber Bush - Ø 34 x 40 / 50 mm x 1

K202 Pin Boot - (Red) x 1

K218 Ring - (White) x 1

K117 Bellow Cap - (Black) x 1

K168 Clamp x 1

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

K152 Caliper Pin - Ø 36 / 135 mm x 1

K149 Caliper Pin - Ø 34 / 80 mm x 1

K127 Bush - Ø 36 x 40 / 82 mm x 1

K219 Rubber Bush - Ø 34 x 40 / 50 mm x 1

K202 Pin Boot - (Red) x 1

K218 Ring - (White) x 1

K117 Bellow Cap - (Black) x 1

K168 Clamp x 1

GRS05 Grease (White) - 5 g x 1

GRS08 Grease (Green) - 8 g x 1

GRS05 Grease (White) - 5 g x 1

SB6… SB7…

 SB7…

SB6… SB7…



39www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

 SB7…

Caliper Pin Repair Kit
II179320062

 

Caliper Pin Repair Kit
II197140062 

Caliper Pin Repair Kit
II197330062 

STK1129

STK1130

STK1131

Setfren No Description Pcs

K152 Caliper Pin - Ø 36 / 135 mm x 1

K148 Caliper Pin - Ø 34 / 120 mm x 1

K194 Pin Bolt - M16 x 1.5 / 140 mm x 1

K193 Pin Bolt - M16 x 1.5 / 125 mm x 1

K127 Bush - Ø 36 x 40 / 82 mm x 1

K220 Rubber Bush - Ø 34 x 40 / 95 mm x 1

K204 Pin Boot x 1

K118 Bellow Cap - (Black) x 1

K168 Clamp x 1

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

K152 Caliper Pin - Ø 36 / 135 mm x 1

K149 Caliper Pin - Ø 34 / 80 mm x 1

K194 Pin Bolt - M16 x 1.5 / 140 mm x 1

K199 Pin Bolt - M16 x 1.5 / 85 mm x 1

K127 Bush - Ø 36 x 40 / 82 mm x 1

K219 Rubber Bush - Ø 34 x 40 / 50 mm x 1

K204 Pin Boot x 1

K226 Rubber Cap - (Black) x 1

K168 Clamp x 1

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

K152 Caliper Pin - Ø 36 / 135 mm x 1

K149 Caliper Pin - Ø 34 / 80 mm x 1

K194 Pin Bolt - M16 x 1.5 / 140 mm x 1

K199 Pin Bolt - M16 x 1.5 / 85 mm x 1

K127 Bush - Ø 36 x 40 / 82 mm x 1

K219 Rubber Bush - Ø 34 x 40 / 50 mm x 1

K204 Pin Boot x 1

K118 Bellow Cap - (Black) x 1

K168 Clamp x 1

GRS05 Grease (White) - 5 g x 1

 SB7…

 SB7…

 SB7…



40 www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

Caliper Pin Repair Kit
K031844K50 

Caliper Pin Repair Kit
K067417K50 

Caliper Pin Repair Kit
K000472 

STK1133

STK1134

STK1135

Setfren No Description Pcs

K151 Caliper Pin - Ø 36 / 114 mm x 1

K146 Caliper Pin - Ø 32 / 84 mm x 1

K199 Pin Bolt - M16 x 1.5 / 85 mm x 1

K198 Pin Bolt - M16 x 1.5 / 80 mm x 1

K127 Bush - Ø 36 x 40 / 82 mm x 1

K225 Rubber Bush x 1

K202 Pin Boot - (Red) x 1

K218 Ring - (White) x 1

K201 Pin Boot - (Black) x 1

K217 Ring - (Red) x 1

K243 Steel Cap x 1

K190 O-ring x 1

K210 Pin Cap - Ø 40 / 36.5 mm x 1

K207 Pin Cap - Ø 40 / 14.5 mm x 1

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

K151 Caliper Pin - Ø 36 / 114 mm x 1

K145 Caliper Pin - Ø 32 / 80 mm x 1

K199 Pin Bolt - M16 x 1.5 / 85 mm x 1

K198 Pin Bolt - M16 x 1.5 / 80 mm x 1

K127 Bush - Ø 36 x 40 / 82 mm x 1

STK1187 Rubber Bush - Ø 39 mm x 1

K244 Stop Ring - Ø 35 mm x 1

K200 Pin Bolt Ring x 1

K202 Pin Boot - (Red) x 1

K218 Ring - (White) x 1

K207 Pin Cap - Ø 40 / 14.5 mm x 1

K243 Steel Cap x 1

K190 O-ring x 1

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

K151 Caliper Pin - Ø 36 / 114 mm x 1

K145 Caliper Pin - Ø 32 / 80 mm x 1

K199 Pin Bolt - M16 x 1.5 / 85 mm x 1

K198 Pin Bolt - M16 x 1.5 / 80 mm x 1

K127 Bush - Ø 36 x 40 / 82 mm x 1

STK1187 Rubber Bush - Ø 39 mm x 1

K200 Pin Bolt Ring x 1

K202 Pin Boot - (Red) x 1

K218 Ring - (White) x 1

K207 Pin Cap - Ø 40 / 14.5 mm x 1

GRS05 Grease (White) - 5 g x 1

SB6... SN7...

SB6... SB7... SN6... SN7...

SN6... SN7... SK7...



41www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

Caliper Complete Mechanism Rapair Kit

Caliper Pin Repair Kit
K000375

Caliper Pin Repair Kit
K001532 

STK1136

STK1137

STK1139

Setfren No Description Pcs

STK1007 Tappet & Boot Set - (74 mm) x 1

STK1036 Shaft Housing Assembly x 1

STK1024 Lever - Straight (Angle 0°) x 1

STK1028 Needle Bearing Set x 1

STK1068 Calibration Shaft Chain x 1

STK1052 Adjusting Mechanism Shaft x 1

STK1056 Pinion Shaft x 1

STK1050 Caliper Calibration Bolt - (3 Thread) x 2

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

K151 Caliper Pin - Ø 36 / 114 mm x 1

K145 Caliper Pin - Ø 32 / 80 mm x 1

K199 Pin Bolt - M16 x 1.5 / 85 mm x 1

K198 Pin Bolt - M16 x 1.5 / 80 mm x 1

K127 Bush - Ø 36 x 40 / 82 mm x 1

STK1187 Rubber Bush - Ø 39 mm x 1

K200 Pin Bolt Ring x 1

K202 Pin Boot - (Red) x 1

K218 Ring - (White) x 1

K243 Steel Cap x 1

K190 O-ring x 1

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

"K151 Caliper Pin - Ø 36 / 114 mm x 1

K145 Caliper Pin - Ø 32 / 80 mm x 1

K199 Pin Bolt - M16 x 1.5 / 85 mm x 1

K198 Pin Bolt - M16 x 1.5 / 80 mm x 1

K127 Bush - Ø 36 x 40 / 82 mm x 1

STK1188 Rubber Bush - Ø 35 mm x 1

K200 Pin Bolt Ring x 1

K202 Pin Boot - (Red) x 1

K218 Ring - (White) x 1

K243 Steel Cap x 1

K190 O-ring x 1

GRS05 Grease (White) - 5 g x 1

SB6… SB7…

SB6...

SB6... SB7...



42 www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

SN6… SN7… SK7…

Caliper Pin Repair KitT
K052759K50

Caliper Pin Repair Kit
II39769F0062 

STK1140

STK1142

STK1143

Setfren No Description Pcs

K151 Caliper Pin - Ø 36 / 114 mm x 1

K147 Caliper Pin - Ø 32 / 88 mm x 1

K199 Pin Bolt - M16 x 1.5 / 85 mm x 1

K198 Pin Bolt - M16 x 1.5 / 80 mm x 1

K127 Bush - Ø 36 x 40 / 82 mm x 1

STK1187 Rubber Bush - Ø 39 mm x 1

K202 Pin Boot - (Red) x 1

K218 Ring - (White) x 1

K207 Pin Cap - Ø 40 / 14.5 mm x 1

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

K151 Caliper Pin - Ø 36 / 114 mm x 1

K149 Caliper Pin - Ø 34 / 80 mm x 1

K199 Pin Bolt - M16 x 1.5 / 85 mm x 2

K127 Bush - Ø 36 x 40 / 82 mm x 1

K219 Rubber Bush - Ø 34 x 40 / 50 mm x 1

K202 Pin Boot - (Red) x 1

K218 Ring - (White) x 1

K243 Steel Cap x 1

K190 O-ring x 1

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

K151 Caliper Pin - Ø 36 / 114 mm x 1

K145 Caliper Pin - Ø 32 / 80 mm x 1

K199 Pin Bolt - M16 x 1.5 / 85 mm x 1

K198 Pin Bolt - M16 x 1.5 / 80 mm x 1

K127 Bush - Ø 36 x 40 / 82 mm x 1

STK1189 Rubber Bush -  Ø 39 mm x 1

K202 Pin Boot - (Red) x 1

K218 Ring - (White) x 1

K207 Pin Cap - Ø 40 / 14.5 mm x 1

GRS05 Grease (White) - 5 g x 1

NA7...

SB6… SB7…

SB6... SB7... SN6... SN7... SL7... SM7...

Caliper Pin Repair Kit
K001915 - K001925
K028451 - K048389K50



43www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

STK1145

Setfren No Description Pcs

K151 Caliper Pin - Ø 36 / 114 mm x 1

K145 Caliper Pin - Ø 32 / 80 mm x 1

K199 Pin Bolt - M16 x 1.5 / 85 mm x 1

K198 Pin Bolt - M16 x 1.5 / 80 mm x 1

K127 Bush - Ø 36 x 40 / 82 mm x 1

STK1189 Rubber Bush -  Ø 39 mm x 1

K202 Pin Boot - (Red) x 1

K218 Ring - (White) x 1

K243 Steel Cap x 1

K190 O-ring x 1

GRS05 Grease (White) - 5 g x 1

GRS08 Grease (Green) - 8 g x 1

SB6… SB7…

Caliper Complete Mechanism Rapair Kit STK1144

Setfren No Description Pcs

STK1003 Tappet & Boot Set - (69 mm) x 1

STK1041 Shaft Housing Assembly x 1

STK1023 Lever x 1

STK1029 Needle Bearing Set x 1

STK1068 Calibration Shaft Chain x 1

Setfren No Description Pcs

STK1052 Adjusting Mechanism Shaft x 1

STK1056 Pinion Shaft x 1

STK1050 Caliper Calibration Bolt - (3 Thread) x 2

SN7...SK7...

Caliper Pin Repair Kit
K048371K50 



44 www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

Caliper Pin Repair KitSTK1146

SN6… SN7… SK7…

Caliper Pin Repair Kit
K004100 - K004168 - K010766

STK1147

STK1148

Setfren No Description Pcs

K151 Caliper Pin - Ø 36 / 114 mm x 1

K145 Caliper Pin - Ø 32 / 80 mm x 1

K199 Pin Bolt - M16 x 1.5 / 85 mm x 1

K198 Pin Bolt - M16 x 1.5 / 80 mm x 1

K127 Bush - Ø 36 x 40 / 82 mm x 1

STK1190 Rubber Bush -  Ø 35 mm x 1

K202 Pin Boot - (Red) x 1

K218 Ring - (White) x 1

K243 Steel Cap x 1

K190 O-ring x 1

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

K151 Caliper Pin - Ø 36 / 114 mm x 1

K154 Caliper Pin - Ø 36 / 64 mm x 1

K199 Pin Bolt - M16 x 1.5 / 85 mm x 1

K196 Pin Bolt - M16 x 1.5 / 70 mm x 1

K127 Bush - Ø 36 x 40 / 82 mm x 1

K123 Bush - Ø 36 x 40 / 20 mm x 1

K202 Pin Boot - (Red) x 2

K218 Ring - (White) x 2

K208 Pin Cap - Ø 40 / 24.5 mm x 1

K207 Pin Cap - Ø 40 / 14.5 mm x 1

GRS05 Grease (White) - 5 g x 2

Setfren No Description Pcs

K151 Caliper Pin - Ø 36 / 114 mm x 1

K154 Caliper Pin - Ø 36 / 64 mm x 1

K199 Pin Bolt - M16 x 1.5 / 85 mm x 1

K196 Pin Bolt - M16 x 1.5 / 70 mm x 1

K127 Bush - Ø 36 x 40 / 82 mm x 1

K123 Bush - Ø 36 x 40 / 20 mm x 1

K202 Pin Boot - (Red) x 2

K218 Ring - (White) x 2

K208 Pin Cap - Ø 40 / 24.5 mm x 1

K243 Steel Cap x 1

K190 O-ring x 1

GRS05 Grease (White) - 5 g x 1

SB6… SB7…

SN7... SK7...

SB7...

Caliper Pin Repair Kit
K010813



45www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

Caliper Short Pin Repair Kit

Caliper Pin Repair Kit
K001274 - K002716

STK1149

STK1150

STK1152

Setfren No Description Pcs

K154 Caliper Pin - Ø 36 / 64 mm x 1

K196 Pin Bolt - M16 x 1.5 / 70 mm x 1

K123 Bush - Ø 36 x 40 / 20 mm x 1

K202 Pin Boot - (Red) x 1

K218 Ring - (White) x 1

K208 Pin Cap - Ø 40 / 24.5 mm x 1

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

"K150 "Caliper Pin - Ø 36 / 103 mm "x 1

K145 Caliper Pin - Ø 32 / 80 mm x 1

K199 Pin Bolt - M16 x 1.5 / 85 mm x 1

K198 Pin Bolt - M16 x 1.5 / 80 mm x 1

K126 Bush - Ø 36 x 40 / 75 mm x 1

STK1187 Rubber Bush - Ø 39 mm x 1

K200 Pin Bolt Ring x 1

K202 Pin Boot - (Red) x 1

K218 Ring - (White) x 1

K206 Pin Cap - Ø 40 / 11 mm x 1

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

K144 Caliper Pin - Ø 30 / 99 mm "x 1

K143 Caliper Pin - Ø 30 / 72 mm x 1

K192 Pin Bolt - M16 x 1.5 / 105 mm x 1

K197 Pin Bolt - M16 x 1.5 / 75 mm x 1

K203 Pin Boot - (Red) x 2

K216 Ring - (Plastic) x 2

K129 Pin Bush - Ø 30 x 34 / 65 mm x 1

K128 Pin Bush - Ø 30 x 34 / 20 mm x 1

K205 Pin Cap - Ø 34 / 14 mm x 2

GRS05 Grease (White) - 5 g x 1

SN6... SN7... SK7...

SB5… SN5…

SN5…

Caliper Pin Repair Kit
K001928



46 www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

Caliper Pin Repair KitSTK1154

SN6… SN7… SK7…

Caliper Long Pin Repair Kit
K000696 - II310370066

 

STK1155

STK1156

Setfren No Description Pcs

K151 Caliper Pin - Ø 36 / 114 mm x 1

K145 Caliper Pin - Ø 32 / 80 mm x 1

K199 Pin Bolt - M16 x 1.5 / 85 mm x 1

K198 Pin Bolt - M16 x 1.5 / 80 mm x 1

STK1187 Rubber Bush - Ø 39 mm x 1

K200 Pin Bolt Ring x 1

Setfren No Description Pcs

K151 Caliper Pin - Ø 36 / 114 mm x 1

K199 Pin Bolt - M16 x 1.5 / 85 mm x 1

K127 Bush - Ø 36 x 40 / 82 mm x 1

K202 Pin Boot - (Red) x 1

K218 Ring - (White) x 1

K243 Steel Cap x 1

K190 O-ring x 1

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

K151 Caliper Pin - Ø 36 / 114 mm "x 1

K155 Caliper Pin - Ø 36 / 70 mm x 1

K199 Pin Bolt - M16 x 1.5 / 85 mm x 1

K197 Pin Bolt - M16 x 1.5 / 75 mm x 1

K127 Bush - Ø 36 x 40 / 82 mm x 1

K124 Bush - Ø 36 x 40 / 20 mm x 1

K202 Pin Boot - (Red) x 2

K218 Ring - (White) x 2

K209 Pin Cap - Ø 40 / 31 mm x 1

K207 Pin Cap - Ø 40 / 14.5 mm x 1

GRS05 Grease (White) - 5 g x 2

SB6… SB7…

SB6… SB7…

SN6… SN7…

Caliper Pin Repair Kit
K002872



47www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

STK1159

Setfren No Description Pcs

K151 Caliper Pin - Ø 36 / 114 mm x 1

K154 Caliper Pin - Ø 36 / 64 mm x 1

K199 Pin Bolt - M16 x 1.5 / 85 mm x 1

K196 Pin Bolt - M16 x 1.5 / 70 mm x 1

K218 Ring - (White) x 2

K208 Pin Cap - Ø 40 / 24.5 mm x 1

K207 Pin Cap - Ø 40 / 14.5 mm x 1

STK1202 Brake Pad Retainer Repair Kit x 1

K111 Adjusting Mechanism Adapter x 1

K113 Adjusting Mechanism Cap - Ø 38 mm x 1

GRS05 Grease (White) - 5 g x 1

SK7...

Caliper Complete Repair Kit - (Without Lever)
K013007

STK1157

Setfren No Description Pcs

STK1139 Caliper Pin Repair Kit x 1

STK1003 Tappet & Boot Set - (69 mm) x 1

STK1041 Shaft Housing  Assembly x 1

STK1028 Needle Bearing Set x 1

STK1068 Calibration Shaft Chain x 1

Setfren No Description Pcs

STK1052 Adjusting Mechanism Shaft x 1

STK1056 Pinion Shaft x 1

STK1050 Caliper Calibration Bolt - (3 Thread) x 2

STK1092 Caliper Cover x 1

GRS05 Grease (White) - 5 g x 1

SN6… SN7… SK7…

Caliper Pin & Pad Retainer Repair Kit
K013007 



48 www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

STK1160

Setfren No Description Pcs

K151 Caliper Pin - Ø 36 / 114 mm x 1

K145 Caliper Pin - Ø 32 / 80 mm x 1

K199 Pin Bolt - M16 x 1.5 / 85 mm x 1

K198 Pin Bolt - M16 x 1.5 / 80 mm x 1

K218 Ring - (White) x 1

K207 Pin Cap - Ø 40 / 14.5 mm x 1

STK1202 Brake Pad Retainer Repair Kit x 1

K111 Adjusting Mechanism Adapter x 1

K113 Adjusting Mechanism Cap - Ø 38 mm x 1

GRS05 Grease (White) - 5 g x 1

SL7... SM7...

Caliper Complete Repair Kit - (Without Lever)STK1158

Setfren No Description Pcs

STK1143 Caliper Pin Repair Kit x 1

STK1007 Tappet & Boot Set - (74 mm) x 1

STK1033 Shaft Housing Assembly x 1

STK1029 Needle Bearing Set x 1

STK1068 Calibration Shaft Chain x 1

Setfren No Description Pcs

STK1052 Adjusting Mechanism Shaft x 1

STK1056 Pinion Shaft x 1

STK1050 Caliper Calibration Bolt - (3 Thread) x 2

GRS05 Grease (White) - 5 g x 1

SN6...SN7...SK7...

Caliper Pin & Pad Retainer Repair Kit
K012912



49www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

STK1165

Setfren No Description Pcs

K151 Caliper Pin - Ø 36 / 114 mm x 1

K145 Caliper Pin - Ø 32 / 80 mm x 1

K199 Pin Bolt - M16 x 1.5 / 85 mm x 1

K198 Pin Bolt - M16 x 1.5 / 80 mm x 1

K200 Pin Bolt Ring x 1

K218 Ring - (White) x 1

K207 Pin Cap - Ø 40 / 14.5 mm x 1

STK1204 Brake Pad Retainer Repair Kit x 1

K111 Adjusting Mechanism Adapter x 1

K113 Adjusting Mechanism Cap - Ø 38 mm x 1

SB7... SN7...

Caliper Complete Repair Kit - (Without Lever)STK1161

Setfren No Description Pcs

STK1135 Caliper Pin Repair Kit x 1

STK1003 Tappet & Boot Set - (69 mm) x 1

STK1033 Shaft Housing Assembly x 1

STK1029 Needle Bearing Set x 1

STK1068 Calibration Shaft Chain x 1

Setfren No Description Pcs

STK1052 Adjusting Mechanism Shaft x 1

STK1056 Pinion Shaft x 1

STK1050 Caliper Calibration Bolt - (3 Thread) x 2

STK1092 Caliper Cover x 1

GRS05 Grease (White) - 5 g x 1

SN6... SN7... SK7...

Caliper Pin & Pad Retainer Repair Kit
K003800



50 www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

STK1168
Setfren No Description Pcs

K247 Thrust Part With Bellow - (69 mm) x 2

K233 Shaft Housing Boot x 2

K122 Bush - Ø 16 x 18 / 10 mm x 2

K202 Pin Boot - (Red) x 1

K218 Ring - (White) x 1

K117 Bellow Cap - (Black) x 1

K168 Clamp x 1

K127 Bush - Ø 36 x 40 / 82 mm x 1

K219 Rubber Bush - Ø 34 x 40 / 50 mm x 1

K243 Steel Cap x 1

K190 O-ring x 1

K113 Adjusting Mechanism Cap - Ø 38 mm x 1

K200 Pin Bolt Ring x 1

GRS05 Grease (White) - 5 g x 1SN6… SN7…

Caliper Complete Repair Kit - (Without Lever)STK1162

Setfren No Description Pcs

STK1147 Caliper Pin Repair Kit x 1

STK1003 Tappet & Boot Set - (69 mm) x 1

STK1041 Shaft Housing  Assembly x 1

STK1028 Needle Bearing Set x 1

STK1068 Calibration Shaft Chain x 1

Setfren No Description Pcs

STK1052 Adjusting Mechanism Shaft x 1

STK1056 Pinion Shaft x 1

STK1050 Caliper Calibration Bolt - (3 Thread) x 2

STK1092 Caliper Cover x 1

GRS05 Grease (White) - 5 g x 1

SN6... SN7... SK7...

Caliper Pin & Boot Set



51www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

STK1171

Setfren No Description Pcs

K249 Thrust Part With Bellow - (74 mm) x 2

K234 Shaft Housing Boot x 2

K122 Bush - Ø 16 x 18 / 10 mm x 2

K202 Pin Boot - (Red) x 1

K218 Ring - (White) x 1

K117 Bellow Cap - (Black) x 1

K168 Clamp x 1

K127 Bush - Ø 36 x 40 / 82 mm x 1

K219 Rubber Bush - Ø 34 x 40 / 50 mm x 1

K243 Steel Cap x 1

K190 O-ring x 1

K113 Adjusting Mechanism Cap - Ø 38 mm x 1

K200 Pin Bolt Ring x 1

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

K249 Thrust Part With Bellow - (74 mm) x 2

K122 Bush - Ø 16 x 18 / 10 mm x 2

K202 Pin Boot - (Red) x 1

K218 Ring - (White) x 1

K117 Bellow Cap - (Black) x 1

K168 Clamp x 1

K219 Rubber Bush - Ø 34 x 40 / 50 mm x 1

GRS05 Grease (White) - 5 g x 1

SB6… SB7…

Caliper Pin & Boot Set STK1170

Setfren No Description Pcs

K247 Thrust Part With Bellow - (69 mm) x 2

K122 Bush - Ø 16 x 18 / 10 mm x 2

K202 Pin Boot - (Red) x 1

K218 Ring - (White) x 1

K117 Bellow Cap - (Black) x 1

K168 Clamp x 1

K219 Rubber Bush - Ø 34 x 40 / 50 mm x 1

GRS05 Grease (White) - 5 g x 1

SN6… SN7…

SB6… SB7…

Caliper Pin Repair Kit 

Caliper Pin & Boot SetSTK1169



52 www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

Caliper Short Pin Repair Kit
II368470064

STK1173

SN6… SN7… SK7…

Caliper Short Pin Repair Kit

 

STK1174

STK1175

Setfren No Description Pcs

K149 Caliper Pin - Ø 34 / 80 mm x 1

K199 Pin Bolt - M16 x 1.5 / 85 mm x 1

K219 Rubber Bush - Ø 34 x 40 / 50 mm x 1

Setfren No Description Pcs

K149 Caliper Pin - Ø 34 / 80 mm x 1

K219 Rubber Bush - Ø 34 x 40 / 50 mm x 1

Setfren No Description Pcs

K145 Caliper Pin - Ø 32 / 80 mm x 1

K198 Pin Bolt - M16 x 1.5 / 80 mm x 1

STK1187 Rubber Bush - Ø 39 mm x 1

K200 Pin Bolt Ring x 1

SB5… SB6… SB7…

SB5… SB6… SB7…

SB6… SB7…

Caliper Short Pin Repair Kit
K000698



53www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

Caliper Short Pin Repair Kit
K000697

STK1179

STK1181

Setfren No Description Pcs

"K145 "Caliper Pin - Ø 32 / 80 mm x 1

K198 Pin Bolt - M16 x 1.5 / 80 mm x 1

STK1188 Rubber Bush - Ø 35 mm x 1

K200 Pin Bolt Ring x 1

Setfren No Description Pcs

K145 Caliper Pin - Ø 32 / 80 mm x 1

STK1187 Rubber Bush - Ø 39 mm x 1

Setfren No Description Pcs

K145 Caliper Pin - Ø 32 / 80 mm x 1

STK1188 Rubber Bush - Ø 35 mm x 1

SB6… SB7…

SB6… SB7…

SB6… SB7…

Caliper Short Pin Repair Kit

Caliper Short Pin Repair KitSTK1177



54 www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

Caliper Short Pin Repair KitSTK1184

Setfren No Description Pcs

K145 Caliper Pin - Ø 32 / 80 mm x 1

K198 Pin Bolt - M16 x 1.5 / 80 mm x 1

STK1189 Rubber Bush -  Ø 39 mm x 1

Setfren No Description Pcs

K145 Caliper Pin - Ø 32 / 80 mm x 1

STK1189 Rubber Bush -  Ø 39 mm x 1

SB6… SB7…

SB6… SB7…

Caliper Short Pin Repair KitSTK1183

Rubber Bush - Ø 35 mmSTK1188Rubber Bush - Ø 39 mmSTK1187

SB6… SB7… SB6… SB7…



55www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

Setfren No Description Pcs

STK1192 Lever Bearing x 1

K237 Shaft Housing Pin x 1

K236 Shaft Housing Pin Clamp x 2

Setfren No Description Pcs

K243 Steel Cap x 6

K190 O-ring x 6

K117 Bellow Cap - (Black) x 6

K168 Clamp x 6

STK1189 Rubber Bush -  Ø 39 mm Rubber Bush -  Ø 35 mmSTK1190

RubberBush Caliper Lever BearingSTK1191 STK1192

Caliper Cap Set
K001301

STK1194Caliper Lever Bearing SetSTK1193

SB6… SB7…

SB7… SN7…

SB6… SB7…

SB6… SB7…

SB6… SB7… SB6… SB7…



56 www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

Caliper Cap Set
II39769F0063

Adjusting Mechanism Cap Set
K000029

STK1095

STK1198

Adjusting Mechanism Cap Set
K000945 

Adjusting Mechanism Cap Set
K003902

STK1097

STK1199

Setfren No Description Pcs

K243 Steel Cap x 1

K190 O-ring x 1

Setfren No Description Pcs

K113 Adjusting Mechanism Cap - Ø 38 mm x 10

K111 Adjusting Mechanism Adapter x 10

Setfren No Description Pcs

K112 Adjusting Mechanism Cap - Ø 35 mm x 10

K111 Adjusting Mechanism Adapter x 10

Setfren No Description Pcs

K113 Adjusting Mechanism Cap - Ø 38 mm x 10

K114 Adjusting Mechanism Cap x 10

K111 Adjusting Mechanism Adapter x 10

SB6… SB7…

SN5... SN6... SN7... SL7... SM7... SK7... 

SB6… SB7…



57www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

Adjusting Mechanism Cap Set
K000945 

Brake Pad Retainer Repair Kit

Brake Pad Retainer & Adapter 
Repair Kit

STK1200

STK1203

Brake Pad Retainer Repair Kit
K000133

Brake Pad Retainer Repair Kit
K000129 

STK1202

STK1204

SB7... SN7...

SB6... SN6... SN7... SK7... SN7... SB7...

SN5... SB6... SN6... SK7...
SL7...SM7...ST7...



58 www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

Caliper Pin Boot & Cap Set
II350470061

Caliper Cap Set
II197140063

STK1213

STK1217

Caliper Bellow Cap Set
II350470063 

Caliper Cap Set
II197140063 

STK1216

STK1218

Setfren No Description Pcs

K202 Pin Boot - (Red) x 1

K218 Ring - (White) x 1

K117 Bellow Cap - (Black) x 1

K168 Clamp x 1

Setfren No Description Pcs

K226 Bellow Cap - (Black) x 1

K168 Clamp x 1

Setfren No Description Pcs

K117 Bellow Cap - (Black) x 1

K168 Clamp x 1

Setfren No Description Pcs

K226 Rubber Cap - (Black) x 1

K168 Clamp x 1

SB5... SB6... SB7...

SB7... SB7...

SB6... SB7... SB7... RADIAL



59www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems www.setfren .com

Caliper Pin Boot & Cap Set
II328090061 

Caliper Support Seal Set

STK1219

STK1221

Caliper Pin Boot Set

Caliper Head Sealing Plug Set

STK1220

STK1222

Setfren No Description Pcs

K243 Steel Cap x 1

K190 O-ring x 1

K202 Pin Boot - (Red) x 1

K218 Ring - (White) x 1

Setfren No Description Pcs

K104 Caliper Support SealT x 5

Setfren No Description Pcs

K202 Pin Boot - (Red) x 1

K218 Ring - (White) x 1

Setfren No Description Pcs

K102 Head Sealing Plug x 5

SB6... SB7...

SB5... SB6... SB7... SB5... SB6... SB7...

SB6... SB7...



60 www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

Caliper Actuator Seal Set

Caliper Cap Set

STK1223

STK1225

Caliper Actuator Seal Set

Caliper Cap Set

STK1224

STK1226

Setfren No Description Pcs

K100 Caliper Actuator Seal - Ø 42,00 mm x 5

Setfren No Description Pcs

K206 Pin Cap - Ø 40 / 11 mm x 5

Setfren No Description Pcs

K207 Pin Cap - Ø 40 / 14.5 mm x 5

Setfren No Description Pcs

K101 Caliper Actuator Seal - Ø 45,00 mm x 5

SN6... SN7... SK7...

SN6... SN7...

SN6... SN7... SK7...

SN7... SL7... SM7... ST7...



61www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems 61

Caliper Boot & Ring Set
381413 - 93161192

Brake Pad Retainer Kit
381419 - 93161560

STX1001

STX1003

Caliper Pin Repair Kit
381391 - 93161189

Brake Pad Retainer Bolt Kit
II33692 - 93161843

STX1002

STX1004

ADB 3700 ADB 4300 ADB 3700 ADB 4300

ADB 3700 ADB 4300

Setfren No Description Pcs

X118 Tappet Boot x 1

X112 Pin Boot - (Big) x 2

X113 Pin Boot - (Small) x 2

X114 Pin Boot Ring - (Big) x 2

X115 Pin Boot Ring - (Small) x 2

X119 Washer x 1

X116 Plastic Washer x 1

Setfren No Description Pcs

X109 Pad Spring x 1

X107 Clamping Element x 1

X103 Buckle x 1

X101 Bar x 1

X100 Adjusting Tool x 1

X102 Bolt x 2

X108 Clip x 2

Setfren No Description Pcs

X106 Caliper Pin - Ø 45 / 150 mm x 1

X105 Caliper Pin - Ø 24 / 92 mm x 1

X111 Pin Bolt - M22 x 1.5 / 175 mm x 1

X110 Pin Bolt - M16 x 1.5 / 124 mm x 1

X104 Bush - Ø 50 x 45 / 40 mm x 2

X117 Rubber Bush - Ø 38 x 24 / 55 mm x 1

GRS05 Grease (White) - 5 g x 2

Setfren No Description Pcs

X102 Bolt x 4

X108 Clip x 4



62 www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

Caliper Carrier 22,5”
K012619 BPW - 01.303.88.56.0 

STK 5000

Caliper Carrier 22,5”
K001278 MAN TGA

STK 5001

Caliper Carrier 22,5”STK 5002

Caliper Carrier 22,5”
DAF / SCANIA 

STK 5003

M16 x 1.5 mm

266 mm

298 mm
366 mm

379, 10 mm

M18 x 1.5 mm

285,75 mm

219,25 mm

406, 75 mm

M16 x 2 mm

M20  x 2,5 mm

286,50 mm

286 mm

291 mm

290 mm

379 mm

378 mm

401,50 mm

400 mm

SK7...

SB7... SN7...

SB7... SN7...

SB7... SN7...



63www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

STK 5004

Caliper Carrier 22,5”
K001528 K011479 DAF - 1689314 

STK 5005

Caliper Carrier 22,5” -Left
K001529 MB CONNECTO - 000 421 3706 

STK 5006

Caliper Carrier 22,5” Right
K001530 MB CONNECTO - 000 421 3806

STK 5007

286 mm

290 mm

290 mm

286 mm

380 mm

380 mm

407,85 mm

407,85 mm

286 mm

290 mm

378 mm

400 mm

436 mmM20  x 2,5 mm

M12  x 1,75 mm

286,50 mm

291 mm

379 mm
400,50 mm

M18  x 2,5 mm

M16  x 1,5 mm

M16  x 1,5 mm

Caliper Carrier 22,5”
K010765 SCANIA 4 - 1756388 

SB7... SN7...

SB7... SN7...

SB7... SN7...

SB7... SN7...



64 www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

Caliper Carrier 22,5”
K000026 MB AXOR 000 421 1106

STK 5008

Caliper Carrier 22,5”
K000027 MB ACTROS 000 423 0606

STK 5009

Caliper Carrier 19,5”
K001926 MB ATEGO 000 421 3106

STK 5010

Caliper Carrier 19,5”
BMC

STK 5011

286,20 mm

286 mm

212 mm

266 mm

338 mm

360 mm

209,20 mm

210 mm

377,20 mm

398,50 mm

322,20 mm

350,20 mm

M12  x 1,5 mm

M16  x 1.5 mm

266 mm

176 mm

341 mm

360,20 mm
M16  x 1.5 mm

M16  x 1.5 mm

SB7... SN7...

SB7... SN7...

SN6...

SN6...



65www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

Caliper Carrier 19,5”
Z019053

STK 5012

Caliper Carrier 22,5”
K004099 SCANIA 2121600 

STK 5014

Caliper Carrier 22,5”STK 5015

266 mm

212 mm

216 mm

266 mm

266 mm

212 mm

210 mm

378 mm

400 mm

316 mm SN6... SAF Trailer Axle

SK7... SAF Trailer Axle

SK7... SAF Trailer Axle

SN7... MB Trailer Axle

M18  x 1,5 mm

Caliper Carrier 22,5” 
K015308 Z019050

STK 5013

211 mm

216 mm

316 mm M18  x 1,5 mm

M16  x 1,5 mm

286 mm
248 mm

176 mm

340 mm

360 mm M16  x 1,5 mm



66 www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

Caliper Carrier 22,5”
Z046338

STK 5016

Caliper Carrier 22,5”
K046498K50 MB - 000 421 5706 

STK 5017

Caliper Carrier 22,5”
K0532379K50 Z025197 MB - 000 423 1006

STK 5018

Caliper Carrier 17,5”
K001927 MB - 000 421 30 06 SCANIA 2121599 

STK 5019

286 mm

286 mm

218,5 mm

245 mm

245 mm

174 mm

210 mm

210 mm

228 mm

378 mm

378 mm

322 mm

400 mm

400 mm

309 mm

SN7... MERCEDES 4140 Front

SM7... MERCEDES 4140 Front

SL7... MERCEDES 4140 Front

M16  x 1,5 mm

M16  x 1,5 mm

278 mm
208 mm

210 mm

322 mm

350 mm M16  x 1,5 mm

M14  x 1,5 mm



67www.setfren .com

K
N

O
R

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for KNORR caliper systems

Caliper Carrier 19,5”
Z017557 

STK 5020
266 mm

211 mm

176 mm

340 mm

360 mm M16  x 1,5 mm
SN6... MERCEDES AXOR



M
ER

ITO
R

M
ER

IT
O

R



69www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

Caliper Boot & Pin Repair Kit
MCK1171

STM1002 

Caliper Boot & Pin Bolt Repair Kit
MCK1192

 

Caliper Boot Repair Kit

 

STM1001

STM1003

Setfren No Description Pcs

M318 Pin Bolt - M16 x 1.5 / 80 mm x 1

M317 Pin Bolt - M16 x 1.5 / 55 mm x 1

M349 Pin Cap - Ø 42 / 28 mm x 2

M338 Pin Boot x 2

M435 Tappet Boot x 2

M430 Tappet Boot Seal x 2

Setfren No Description Pcs

M338 Pin Boot x 2

M435 Tappet Boot x 2

M430 Tappet Boot Seal x 2

Setfren No Description Pcs

M217 Caliper Pin - Ø 32 / 97-37 mm x 1

M218 Caliper Pin - Ø 32 / 97-62 mm x 1

M318 Pin Bolt - M16 x 1.5 / 80 mm x 1

M317 Pin Bolt - M16 x 1.5 / 55 mm x 1

M343 Pin Bush - Ø 32 x 36 / 55 mm x 2

M349 Pin Cap - Ø 42 / 28 mm x 2

M338 Pin Boot x 2

M435 Tappet Boot x 2

M430 Tappet Boot Seal x 2

Setfren No Description Pcs

M427 Tappet Bolt - M10 x 1.5 / 20 mm x 2

M259 End Plate Bolt - M12 x 1.75 / 20 mm x 2

M260 End Plate Bolt - M12 x 1.75 / 30 mm x 4

M248 Cover Plate Bolt - M8 x 1.25 / 20 mm x 1

M249 Cover Plate Gasket x 1

M367 Plug Bolt x 1

M449 Washer x 1

M150 Brake Pad Pin x 1

M291 Brake Pad Pin Locker x 1

GRS05 Grease (White) - 5 g x 1

DX 195

DX 195

DX195



70 www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

for MERITOR caliper systems

Caliper Shaft & Cover
Repair Kit
MCK1294

STM1006

Caliper Boot & Bolt
Repair Kit

STM1005

Setfren No Description Pcs

M181 Eccentric Shaft x 1

M138 Bevel Washer x 1

M180 Seal x 1

M178 Dust Cover x 1

M179 Eccentric Shaft Needle Bearing x 1

M245 Cover Plate (With Needle Bearing & Seal) x 1

M248 Cover Plate Bolt - M8 x 1.25 / 20 mm x 2

M249 Cover Plate Gasket x 1

M367 Plug Bolt x 1

M449 Washer x 1

Setfren No Description Pcs

STM1003 Caliper Boot Repair Kit x 1

M349 Pin Cap - Ø 42 / 28 mm x 2

M427 Tappet Bolt - M10 x 1.5 / 20 mm x 2

M259 End Plate Bolt - M12 x 1.75 / 20 mm x 2

M260 End Plate Bolt - M12 x 1.75 / 30 mm x 4

M248 Cover Plate Bolt - M8 x 1.25 / 20 mm x 2

M367 Plug Bolt x 1

M449 Washer x 1

Caliper Pin Rubber Bush 
Ø 31-32 x 42 / 45 mm

STM1004

Elsa 2

DX 195

Caliper Shaft HousingSTM1007

DX 195

DX 195



71www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

Caliper Plate Repair Kit - R

Caliper Piston & Pignon
 Repair Set - R

STM1008

STM1010

Caliper Plate Repair Kit - L

Caliper Piston & Pignon Re-
pair Set - L

STM1009

STM1210

Setfren No Description Pcs

M364 Plate x 1

M157 Calibration Bolt - R x 2

M427 Tappet Bolt - M10 x 1.5 / 20 mm x 2

Setfren No Description Pcs

M361 Piston - R x 2

M313 Pignon x 2

Setfren No Description Pcs

M360 Piston - L x 2

M313 Pignon x 2

Setfren No Description Pcs

M364 Plate x 1

M155 Calibration Bolt - L x 2

M427 Tappet Bolt - M10 x 1.5 / 20 mm x 2

DX 195

DX 195 DX 195

DX 195



72 www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

for MERITOR caliper systems

Caliper Mechanism Ring & 
Boot Repair Kit

STM1011

Gasket Caliper Mechanism Central 
Fork & Pignon

STM1012 STM1014

Setfren No Description Pcs

M434 Tappet Boot x 2

M337 Pin Boot x 2

STM1173 Gasket x 1

M362 Center Plastic Ring x 1

M363 Plastic Ring x 2

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

M195 Caliper Mechanism Central Fork x 1

M197 Caliper Mechanism Pignon x 1

Elsa 2

Elsa 2 DX195 DX225

Caliper Adjusting
Mechanism Cap (With Bush)

STM1013

Setfren No Description Pcs

M297 Mechanism Cap x 1

STM1048 Caliper Gear Bush & Seal Set x 1

M145 Bolt - M8 x 1.25 / 45 mm x 8

STM1173 Gasket x 1

Elsa 2



73www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

Caliper Mechanism Repair 
Kit - R
DSB5R

Caliper Mechanism Repair 
Kit - R
MCK1291

STM1015

STM1017

Caliper Mechanism Repair 
Kit - L
DSB5L

Caliper Mechanism Repair 
Kit - L
MCK1290

STM1016

STM1018

Setfren No Description Pcs

M113 Adjusting Mechanism - R x 1

M312 Pignon x 1

M423 Spring x 1

M454 Wavy Washer x 2

M381 Ring x 2

M398 Seal x 2

Setfren No Description Pcs

M110 Adjusting Mechanism - L x 1

M312 Pignon x 1

M423 Spring x 1

M454 Wavy Washer x 2

M381 Ring x 2

M398 Seal x 2

Setfren No Description Pcs

M113 Adjusting Mechanism - R x 1

M312 Pignon x 1

M423 Spring x 1

M454 Wavy Washer x 2

M381 Ring x 2

M398 Seal x 2

M195 Caliper Mechanism Central Fork x 1

M197 Caliper Mechanism Pignon x 1

M260 End Plate Bolt - M12 x 1.75 / 30 mm x 6

M259 End Plate Bolt - M12 x 1.75 / 20 mm x 2

M367 Plug Bolt x 1

M449 Washer x 1

Setfren No Description Pcs

M110 Adjusting Mechanism - L x 1

M312 Pignon x 1

M423 Spring x 1

M454 Wavy Washer x 2

M381 Ring x 2

M398 Seal x 2

M195 Caliper Mechanism Central Fork x 1

M197 Caliper Mechanism Pignon x 1

M260 End Plate Bolt - M12 x 1.75 / 30 mm x 6

M259 End Plate Bolt - M12 x 1.75 / 20 mm x 2

M367 Plug Bolt x 1

M449 Washer x 1

DX 195

DX 195 DX 195

DX 195



74 www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

for MERITOR caliper systems

Caliper Repair Kit- R
MCK1293

STM1019

DX 195

Setfren No Description Pcs

M194 Caliper Long Pin - Ø 35 / 98 mm x 1

M235 Caliper Short Pin - Ø 35 / 98 mm x 1

M332 Pin Bolt Long - M18 x 2.5 / 90 mm x 1

M333 Pin Bolt Short - M18 x 2.5 / 55 mm x 1

M344 Pin Bush - Ø 35 x 39 / 50 mm x 2

M350 Pin Cap - Ø 42 / 31 mm x 2

M341 Pin Boot x 2

M437 Tappet Boot x 2

M431 Tappet Boot Seal x 2

M427 Tappet Bolt - M10 x 1.5 / 20 mm x 2

M259 End Plate Bolt - M12 x 1.75 / 20 mm x 2

M260 End Plate Bolt - M12 x 1.75 / 30 mm x 4

M248 Cover Plate Bolt - M8 x 1.25 / 20 mm x 2

M249 Cover Plate Gasket x 1

M367 Plug Bolt x 1

M449 Washer x 1

M150 Brake Pad Pin x 1

M291 Brake Pad Pin Locker x 1

Setfren No Description Pcs

STM1007 Caliper Shaft Housing x 1

M361 Piston - R x 2

M313 Pignon x 2

M364 Plate x 1

M157 Calibration Bolt - R x 2

M427 Tappet Bolt - M10 x 1.5 / 20 mm x 2

M435 Tappet Boot x 2

M430 Tappet Boot Seal x 2

M261 End Plate Cap - Ø 37 / 15 mm x 1

M454 Wavy Washer x 2

M381 Ring x 2

Setfren No Description Pcs

STM1007 Caliper Shaft Housing x 1

M360 Piston - L x 2

M313 Pignon x 2

M364 Plate x 1

M155 Calibration Bolt - L x 2

M427 Tappet Bolt - M10 x 1.5 / 20 mm x 2

M435 Tappet Boot x 2

M430 Tappet Boot Seal x 2

M261 End Plate Cap - Ø 37 / 15 mm x 1

M454 Wavy Washer x 2

M381 Ring x 2

Caliper Repair Kit- L
MCK1292

STM1020

Caliper Boot & Pin Repair Kit
MCK1172

STM1021

DX225

DX 195



75www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

Caliper Adjusting
 Mechanism Cap

Caliper Plate Repair Kit - L

STM1022

STM1024

Caliper Plate Repair Kit - R

Caliper Cover Plate Set

STM1023

STM1025

Setfren No Description Pcs

M299 Mechanism Cap x 1

M396 Seal x 2

M145 Bolt - M8 x 1.25 / 45 mm x 8

STM1012 Gasket x 1

Setfren No Description Pcs

M366 Plate x 1

M157 Calibration Bolt - R x 2

M427 Tappet Bolt - M10 x 1.5 / 20 mm x 2

Setfren No Description Pcs

M366 Plate x 1

M155 Calibration Bolt - L x 2

M427 Tappet Bolt - M10 x 1.5 / 20 mm x 2

Setfren No Description Pcs

M245 Cover Plate (With Needle Bearing & Seal) x 1

M249 Cover Plate Gasket x 1

M248 Cover Plate Bolt - M8 x 1.25 / 20 mm x 2

Elsa 2 DX 225

DX 225 DX195 DX225



76 www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

for MERITOR caliper systems

Setfren No Description Pcs

M203 Needle Bearing x 2

Setfren No Description Pcs

M203 Needle Bearing x 2

M179 Eccentric Shaft Needle Bearing x 1

M399 Shaft Housing Bearing x 1

Setfren No Description Pcs

STM1022 Caliper Adjusting Mechanism Cap x 1

STM1044 Caliper Adjusting Mechanism x 1

STM1043 Caliper Adjusting Gear Set x 1

STM1026 Caliper Lever 80 mm
MCK1160

Caliper Lever 90 mm
MCK1161

STM1027

Needle Bearing Set

Caliper Adjusting 
Mechanism Set

STM1029

Caliper Lever BearingSTM1031

Caliper Bearing Set
MCK1344

STM1030

DX195 DX225

DX195 DX225

DX195 DX225

ELSA 2  ELSA 195  ELSA 225 B DUCO 
C DUCO LE DUCO D DUCO AXIAL

Elsa 2DX195 DX225

STM1028



77www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

Caliper Complete Repair Kit - LSTM1032

Elsa 2

Caliper Complete Repair Kit - RSTM1033

Elsa 2

Setfren No Description Pcs

M394 Caliper Pin Repair Kit x 1

STM1127 Caliper Actuator Seal x 1

STM1039 Caliper Tappet Boot Set x 1

STM1045 Caliper Adjusting Mechanism Set x 1

STM1334 Manuel Adjusting Gear - L x 1

M302 Rubber Cap Repair Kit x 1

STM1113 Needle Bearing Set x 1

STM1109 Caliper Lever x 1

STM1187 Caliper Bearing Saddle Set x 1

STM1189 Caliper Visual Indicator x 1

GRS05 Caliper Pad Retainer Kit x 1

Setfren No Description Pcs

STM1144 Caliper Pin Repair Kit x 1

M394 Caliper Actuator Seal x 1

STM1127 Caliper Tappet Boot Set x 1

STM1039 Caliper Adjusting Mechanism Set x 1

STM1046 Manuel Adjusting Gear - R x 1

STM1334 Rubber Cap Repair Kit x 1

STM1110 Needle Bearing Set x 1

STM1113 Caliper Lever x 1

STM1109 Caliper Bearing Saddle Set x 1

STM1187 Caliper Visual Indicator x 1

STM1189 Caliper Pad Retainer Kit x 1

GRS05 Grease (White) - 5 g x 1



78 www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

for MERITOR caliper systems

STM1034 Caliper Lever Bearing
       

Caliper Pad RetainerSTM1035

ELSA 1 RADIAL ELSA 2 RADIAL  
D DUCO RADIAL

Manuel Adjusting GearSTM1038

Elsa 195

Caliper Adjusting
Mechanism

STM1044

Setfren No Description Pcs

M170 Caliper Adjusting Mechanism Gear x 2

Caliper Adjusting Gear SetSTM1043

ELSA 2 ELSA 195 ELSA 225ELSA 2 ELSA 195 ELSA 225

Manuel Adjusting GearSTM1047

Elsa 195

DX 195



79www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

Caliper Complete Repair Kit - LSTM1036

Caliper Complete Repair Kit - RSTM1037

Setfren No Description Pcs

STM1145 Caliper Pin Repair Kit x 1

M394 Caliper Actuator Seal x 1

STM1127 Caliper Tappet Boot Set x 1

STM1029 Caliper Adjusting Mechanism Set x 1

STM1045 Manuel Adjusting Gear - L x 1

STM1334 Rubber Cap Repair Kit x 1

STM1110 Needle Bearing Set x 1

STM1125 Caliper Lever x 1

STM1109 Caliper Bearing Saddle Set x 1

STM1187 Caliper Visual Indicator x 1

STM1189 Caliper Pad Retainer Kit x 1

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

STM1145 Caliper Pin Repair Kit x 1

M394 Caliper Actuator Seal x 1

STM1127 Caliper Tappet Boot Set x 1

STM1029 Caliper Adjusting Mechanism Set x 1

STM1046 Manuel Adjusting Gear - R x 1

STM1334 Rubber Cap Repair Kit x 1

STM1110 Needle Bearing Set x 1

STM1125 Caliper Lever x 1

STM1109 Caliper Bearing Saddle Set x 1

STM1187 Caliper Visual Indicator x 1

STM1189 Caliper Pad Retainer Kit x 1

GRS05 Grease (White) - 5 g x 1

ELSA 2 RADIAL

ELSA 2 RADIAL



80 www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

for MERITOR caliper systems

Caliper Adjusting
Mechanism Set

Caliper Adjusting
Mechanism Set

STM1039

STM1041

Caliper Adjusting 
Mechanism Cap

Caliper Adjusting Mecha-
nism Cap

STM1040

STM1042

Setfren No Description Pcs

STM1040 Caliper Adjusting Mechanism Cap x 1

STM1044 Caliper Adjusting Mechanism x 1

STM1043 Caliper Adjusting Gear Set x 1

Setfren No Description Pcs

STM1042 Caliper Adjusting Mechanism Cap x 1

STM1044 Caliper Adjusting Mechanism x 1

STM1043 Caliper Adjusting Gear Set x 1

Setfren No Description Pcs

M295 Mechanism Cap x 1

STM1048 Caliper Gear Bush & Seal Set x 1

M145 Bolt - M8 x 1.25 / 45 mm x 8

STM1173 Gasket x 1

Setfren No Description Pcs

M296 Caliper Adjusting Mechanism Cap x 1

STM1048 Caliper Gear Bush & Seal Set x 1

STM1174 Gasket x 1

M146 Bolt - M8 x 1.25 / 45 mm x 8

Elsa 2

ELSA 195 ELSA 225 ELSA 195 ELSA 225

Elsa 2



81www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

Setfren No Description Pcs

M429 Tappet Boot Ring x 2

M273 Gear Bush x 2

M396 Seal x 2

Setfren No Description Pcs

STM1110 Needle Bearing Set x 2

M383 Roller Bearing x 2

STM1062 Lever Bearing x 2

STM1045 Manuel Adjusting Gear - L Manuel Adjusting Gear - RSTM1046

Caliper Gear Bush & 
Seal Set

Caliper Adjusting
Mechanism Repair Kit

STM1048

STM1049

Caliper Bearing SetSTM1057

Caliper Actuator Seal STM1053

Elsa 2

ELSA 2 ELSA 195 ELSA 225

ELSA 2 ELSA 195 ELSA 225ELSA 2 ELSA 195 ELSA 225

ELSA 225 RADIAL

Elsa 2



82 www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

for MERITOR caliper systems

Adjusting Mechanism Shaft - R / L
MCK1113 - SJ4110 

STM1050

SN6… SN7… SK7…

Adjusting Mechanism Shaft - L
MCK1111  - SJ4102

 

STM1051

STM1052

Setfren No Description Pcs

M126 Adjusting Mechanism x 1

M100 Actuator Seal x 1

M401 Shaft Seal x 1

Setfren No Description Pcs

M128 Adjusting Mechanism x 1

M401 Shaft Seal x 1

Setfren No Description Pcs

M127 Adjusting Mechanism x 1

M401 Shaft Seal x 1

C DUCO LE DUCO D DUCO 
AXIAL D DUCO RADIAL

C DUCO LE DUCO D DUCO 
AXIAL D DUCO RADIAL

C DUCO LE DUCO D DUCO 
AXIAL D DUCO RADIAL

Adjusting Mechanism Shaft - R- 
MCK1112 SJ4103



83www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

Caliper Adjusting Mechanism Set - R
MCK1237 - MCK1239 

STM1054

SN6… SN7… SK7…

Caliper Adjusting Mechanism Cap (With Bush)STM1055

STM1056

Setfren No Description Pcs

STM1129 Tappet & Boot Set x 1

M166 Caliper Adjusting Mechanism - R x 2

M265 Flanged Bush - Ø 45 x 49 / 30 mm x 2

M397 Seal x 2

GRS08 Grease (Green) - 8 g x 1

Setfren No Description Pcs

M298 Caliper Adjusting Mechanism Cap x 1

STM1048 Caliper Gear Bush & Seal Set x 1

STM1174 Gasket x 1

M146 Bolt - M8 x 1.25 / 45 mm x 8

Setfren No Description Pcs

STM1129 Tappet & Boot Set x 1

M165 Caliper Adjusting Mechanism - L x 2

M265 Flanged Bush - Ø 45 x 49 / 30 mm x 2

M397 Seal x 2

GRS08 Grease (Green) - 8 g x 1

B DUCO C DUCO LE DUCO D DUCO 
AXIAL D DUCO RADIAL     

ELSA 195 ELSA 225

B DUCO C DUCO LE DUCO D DUCO 
AXIAL D DUCO RADIAL     

Caliper Adjusting Mechanism Set - L
MCK1236



84 www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

for MERITOR caliper systems

Caliper Adjusting Gear - R 
35 mm

Caliper Adjusting Gear Set - R 
35 mm

STM1058

STM1060

Caliper Adjusting Gear - L
35 mm

Caliper Adjusting Gear Set - L 
35 mm

STM1059

STM1061

Setfren No Description Pcs

M277 Intermediate Gear / 35 mm x 1

M457 Adjusting Gear Spring x 1

STM1058 Adjusting Gear / 35 mm - R x 2

M274 Gear Slot x 1

Setfren No Description Pcs

M277 Intermediate Gear / 35 mm x 1

M457 Adjusting Gear Spring x 1

STM1059 Adjusting Gear / 35 mm - L x 2

M274 Gear Slot x 1

Elsa 1

Elsa 1 Elsa 1

Elsa 1



85www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

SN6… SN7… SK7…

STM1068

Lever BearingSTM1062

Caliper Complete Repair Kit

 

STM1063

Setfren No Description Pcs

STM1137 Caliper Pin Repair Kit x 1

STM1053 Caliper Actuator Seal x 1

STM1127 Caliper Tappet Boot Set x 1

STM1041 Caliper Adjusting Mechanism Set x 1

STM1038 Manuel Adjusting Gear x 1

STM1334 Rubber Cap Repair Kit x 1

STM1110 Needle Bearing Set x 1

STM1115 Caliper Lever x 1

STM1109 Caliper Bearing Saddle Set x 1

STM1186 Caliper Visual Indicator x 1

STM1189 Caliper Pad Retainer Kit x 1

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

STM1137 Caliper Pin Repair Kit x 1

STM1053 Caliper Actuator Seal x 1

STM1127 Caliper Tappet Boot Set x 1

STM1041 Caliper Adjusting Mechanism Set x 1

STM1047 Manuel Adjusting Gear x 1

STM1334 Rubber Cap Repair Kit x 1

STM1110 Needle Bearing Set x 1

STM1114 Caliper Lever x 1

STM1109 Caliper Bearing Saddle Set x 1

STM1186 Caliper Visual Indicator x 1

STM1189 Caliper Pad Retainer Kit x 1

GRS05 Grease (White) - 5 g x 1

ELSA 195 ELSA 225

ELSA 225 RADIALELSA 195 ELSA 225

Caliper Complete Repair Kit



86 www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

for MERITOR caliper systems

Caliper Adjusting  Gear Set - R 
37,5 mm

STM1066

Caliper Adjusting Gear - R 
37,5 mm

STM1064 Caliper Adjusting Gear - L
37,5 mm

Caliper Adjusting Gear Set - L
37,5 mm

STM1065

STM1067

Setfren No Description Pcs

M278 Intermediate Gear / 37.5 mm x 1

M457 Adjusting Gear Spring x 1

STM1064 Adjusting Gear / 37.5 mm - R x 2

M274 Gear Slot x 2

Setfren No Description Pcs

M278 Intermediate Gear / 37.5 mm "x 1

M457 Adjusting Gear Spring x 1

STM1065 Adjusting Gear / 37.5 mm - L x 2

M274 Gear Slot x 2

Elsa 1

Elsa 1

Elsa 1

Elsa 1



87www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

Caliper Complete Repair Kit STM1069

SN6… SN7… SK7…

Caliper Boot & Pin Repair KitSTM1070

STM1071

Setfren No Description Pcs

STM1139 Caliper Pin Repair Kit x 1

STM1053 Caliper Actuator Seal x 1

STM1127 Caliper Tappet Boot Set x 1

STM1041 Caliper Adjusting Mechanism Set x 1

STM1047 Manuel Adjusting Gear x 1

STM1334 Rubber Cap Repair Kit x 1

STM1110 Needle Bearing Set x 1

STM1264 Caliper Lever x 1

STM1109 Caliper Bearing Saddle Set x 1

STM1186 Caliper Visual Indicator x 1

STM1189 Caliper Pad Retainer Kit x 1

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

M224 Caliper Pin - Ø 35 / 135 mm x 1

M227 Caliper Pin - Ø 35 / 73 mm x 1

M328 Pin Bolt - M20 x 1.5 / 150 mm x 1

M329 Pin Bolt - M20 x 1.5 / 90 mm x 1

M311 Oval Bush - Ø 35-37 x 40 / 33 mm x 1

M384 Round Bush - Ø 35 x 39 / 30 mm x 2

M372 Ring - Ø 36-37 x 39 / 15 mm - ( With Step ) x 1

M375 Ring - Ø 37 x 40 / 15 mm - ( Without Step ) x 1

M378 Ring - Ø 37 x 48 / 14 mm x 2

M355 Pin Cap  Ø 45 / 28 mm x 2

M336 Pin Boot x 2

M433 Tappet Boot x 2

Setfren No Description Pcs

M336 Pin Boot x 2

ELSA 225 RADIAL

Elsa 1

Elsa 1

Caliper Pin Boot Set



88 www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

for MERITOR caliper systems

Setfren No Description Pcs

M274 Gear Slot x 2

STM1072 Adjusting Mechanism Clutch 
System - R

Adjusting Mechanism Clutch 
System - L

STM1073

Caliper Adjusting
Mechanism

Caliper Lever Bearing
SB6… SB7…

STM1074 STM1076

Caliper Gear Slot SetSTM1079Caliper Pad Retainer Kit
MCK1262

STM1077

Elsa 1

Elsa 1

Elsa 1

Elsa 1

Elsa 1

Elsa 1



89www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

SN6… SN7… SK7…

Caliper Complete Repair Kit - R
 

STM1088

STM1083

Setfren No Description Pcs

STM1075 Caliper Boot & Pin Repair Kit x 1

STM1060 Caliper Adjusting Gear Set / 35 mm - R x 1

STM1072 Adjusting Mechanism Clutch System - R x 1

STM1074 Caliper Adjusting Mechanism x 1

STM1080 Spring Retainer Thrust Set - R x 1

STM1110 Needle Bearing Set x 1

STM1121 Caliper Lever - R x 1

STM1233 Caliper Small Gear Mechanism - R x 1

STM1178 Caliper Gasket x 1

STM1159 Locking Shim x 1

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

STM1075 Caliper Boot & Pin Repair Kit x 1

STM1061 Caliper Adjusting Gear Set / 35 mm - L x 1

STM1073 Adjusting Mechanism Clutch System - L x 1

STM1074 Caliper Adjusting Mechanism x 1

STM1082 Spring Retainer Thrust Set - L x 1

STM1110 Needle Bearing Set x 1

STM1120 Caliper Lever - L x 1

STM1232 Caliper Small Gear Mechanism - L x 1

STM1178 Caliper Gasket x 1

STM1159 Locking Shim x 1

GRS05 Grease (White) - 5 g x 1

Elsa 1

Elsa 1

Caliper Complete Repair Kit - L



90 www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

for MERITOR caliper systems

Caliper Boot & Pin Repair KitSTM1075

LISA

Elsa 1

Setfren No Description Pcs

M208 Caliper Pin - Ø 28.5 / 110 mm - ( With Bolt ) x 1

M224 Caliper Pin - Ø 35 / 135 mm x 1

M328 Pin Bolt - M20 x 1.5 / 150 mm x 1

M387 Rubber Bush - Ø 28.5 x 40 / 27 mm x 1

M384 Round Bush - Ø 35 x 39 / 30 mm x 2

M369 Ring - Ø 30 x 40 / 19 mm x 1

M372 Ring - Ø 36-37 x 39 / 15 mm - ( With Step ) x 1

M355 Pin Cap  Ø 45 / 28 mm x 2

M336 Pin Boot x 2

M433 Tappet Boot x 2

GRS08 Grease (Green) - 8 g x 1Elsa 1

Setfren No Description Pcs

M415 Spring - R x 1

M422 Spring Retainer x 1

M288 Lever Pin x 1

M149 Bracket x 1

Setfren No Description Pcs

M414 Spring - L x 1

M422 Spring Retainer x 1

M288 Lever Pin x 1

M149 Bracket x 1

Spring Retainer Thrust Set - RSTM1080 Spring Retainer Thrust Set - LSTM1082

Caliper Adjusting 
Mechanism - R
SJ4114

STM1085STM1084

Elsa 1

C LISA D LISA

Caliper Adjusting 
Mechanism - L
SJ4113

C LISA D LISA



91www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

Caliper Complete Repair Kit  - LSTM1089

Setfren No Description Pcs

STM1075 Caliper Boot & Pin Repair Kit x 1

STM1067 Caliper Adjusting Gear Set / 37.5 mm - L x 1

STM1073 Adjusting Mechanism Clutch System - L x 1

STM1074 Caliper Adjusting Mechanism x 1

STM1082 Spring Retainer Thrust Set - L x 1

STM1110 Needle Bearing Set x 1

STM1120 Caliper Lever - L x 1

STM1180 Caliper Gasket x 1

STM1159 Locking Shim x 1

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

M116 Adjusting Mechanism Clutch System - L x 1

M148 Bracket x 1

Elsa 1

STM1078 Adjusting Mechanism Clutch 
System - L

Elsa 1



92 www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

for MERITOR caliper systems

Setfren No Description Pcs

STM1075 Caliper Boot & Pin Repair Kit x 1

STM1066 Caliper Adjusting Gear Set / 37.5 mm - R x 1

STM1072 Adjusting Mechanism Clutch System - R x 1

STM1074 Caliper Adjusting Mechanism x 1

STM1080 Spring Retainer Thrust Set - R x 1

STM1110 Needle Bearing Set x 1

STM1121 Caliper Lever - R x 1

STM1180 Caliper Gasket x 1

STM1159 Locking Shim x 1

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

M118 Adjusting Mechanism Clutch System - R x 1

M148 Bracket x 1

Elsa 1

Caliper Complete Repair Kit  - RSTM1090

Adjusting Mechanism Clutch 
System - R

STM1081

Elsa 1



93www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

SN6… SN7… SK7…
SB6… SB7…

Caliper Boot & Pin Repair Kit 
MCK1170

STM1091

Caliper Spline Shaft Mechanism Set - L
MCK1021 - MCK1151

 

STM1086

STM1087

Setfren No Description Pcs

M206 Caliper Pin - Ø 28 / 96 mm x 1

M207 Caliper Pin - Ø 28 / 96 mm x 1

M316 Pin Bolt - M14 x 1.5 / 70 mm x 1

M315 Pin Bolt - M14 x 1.5 / 50 mm x 1

M342 Pin Bush - Ø 28 x 32 / 24.80 mm x 4

M347 Pin Cap - Ø 37 / 25 mm x 2

M340 Pin Boot x 2

M436 Tappet Boot x 2

M428 Tappet Bolt - M8 x 1.25 / 20 mm x 2

M257 End Plate Bolt - M10 x 1.5 / 20 mm x 2

M258 End Plate Bolt - M10 x 1.5 / 25 mm x 4

M247 Cover Plate Bolt - M8 x 1.25 / 16 mm x 2

M250 Cover Plate Gasket x 1

M368 Plug Bolt x 1

M449 Washer x 1

M150 Brake Pad Pin x 1

M291 Brake Pad Pin Locker x 1

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

M403 Spline Shaft - L x 1

M134 Bearing House - L x 1

M133 Ball Bearing x 3

M131 Anti Rotation Pin x 1

Setfren No Description Pcs

M404 Spline Shaft - R x 1

M136 Bearing House - R x 1

M133 Ball Bearing x 3

M131 Anti Rotation Pin x 1

DX 175

C LISA D LISA

C LISA D LISA

Caliper Spline Shaft Mechanism Set - R
MCK1022 - MCK1152



94 www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

for MERITOR caliper systems

Setfren No Description Pcs

M206 Caliper Pin - Ø 28 / 96 mm x 1

M207 Caliper Pin - Ø 28 / 96 mm x 1

M316 Pin Bolt - M14 x 1.5 / 70 mm x 1

M315 Pin Bolt - M14 x 1.5 / 50 mm x 1

M342 Pin Bush - Ø 28 x 32 / 24.80 mm x 4

M347 Pin Cap - Ø 37 / 25 mm x 2

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

M316 Pin Bolt - M14 x 1.5 / 70 mm x 1

M315 Pin Bolt - M14 x 1.5 / 50 mm x 1

M347 Pin Cap - Ø 37 / 25 mm x 2

M340 Pin Boot x 2

M436 Tappet Boot x 2

Caliper Pin Repair KitSTM1094

Caliper Bearings Set  
SJ4031 

STM1092 Caliper Boot Repair Kit

Caliper Boot & Pin Bolt
Repair Kit
MCK1191

STM1093

STM1095

Setfren No Description Pcs

M303 Needle Bearing x 1

M440 Thrust Bearing x 1

M442 Thrust Washer x 1

M153 Bush - Ø 40 x 44 / 15 mm x 1

M379 Ring x 1

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

M303 Pin Boot x 2

M440 Tappet Boot x 2

DX 175

DX 175 DX 175

C LISA D LISA



95www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

Caliper Boot & Bolt Repair Kit STM1096

LISA

Elsa 1

Setfren No Description Pcs

STM1093 Caliper Boot Repair Kit x 1

M347 Pin Cap - Ø 37 / 25 mm x 2

M428 Tappet Bolt - M8 x 1.25 / 20 mm x 2

M257 End Plate Bolt - M10 x 1.5 / 20 mm x 2

M258 End Plate Bolt - M10 x 1.5 / 25 mm x 4

M247 Cover Plate Bolt - M8 x 1.25 / 16 mm x 2

M368 Plug Bolt x 1

M449 Washer x 1

DX 175

Caliper Adjusting Gear - R
SJ4074

STM1097 Caliper Adjusting Gear - L
SJ4073

STM1098

Caliper Adjusting Gear - LSTM1100STM1099

C LISA D LISA C LISA D LISA

D3 D3

Caliper Adjusting Gear - R



96 www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

for MERITOR caliper systems

STM1101 Spline Shaft / Front - R
26 Teeth

Spline Shaft / Front - L
26 Teeth

STM1102

Spline Shaft / Front - R
48 Teeth

Spline Shaft / Front - L 
48 Teeth

STM1103 STM1104

Spline Shaft / Rear - LSTM1106Spline Shaft / Rear - RSTM1105

D3

D3

D3

D3

D3

D3



97www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

Setfren No Description Pcs

M304 Needle Bearing x 2

STM1107 Bearing House - L Bearing House - RSTM1108

Caliper Bearing Saddle Set     Caliper Lever BearingSTM1109 STM1110

Caliper Bearing Set
SJ4098 

STM1111 Caliper Bearing Set
SJ4112

STM1112

D3 D3

ELSA 2 ELSA 195 ELSA 225

ELSA 1 ELSA 2 ELSA 195 ELSA 225 B DUCO 
C DUCO LE DUCO D DUCO AXIAL D DUCO 
RADIAL

ELSA 1 RADIAL ELSA 2 RADIAL  
D DUCO RADIAL

ELSA 1 ELSA 2 ELSA 195 ELSA 225 B 
DUCO C DUCO LE DUCO D DUCO AXIAL

Setfren No Description Pcs

STM1110 Needle Bearing Set x 1

M383 Roller Bearing x 1

STM1034 Lever Bearing x 2

Setfren No Description Pcs

STM1110 Needle Bearing Set x 1

M383 Roller Bearing x 2

STM1031 Lever Bearing x 2



98 www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

for MERITOR caliper systems

Caliper Lever - RSTM1121Caliper Lever - LSTM1120

Setfren No Description Pcs

M460 Lever - L x 1

M383 Roller Bearing x 2

Setfren No Description Pcs

M467 Lever - R x 1

M383 Roller Bearing x 2

Caliper Pad RetainerSTM118

DX 175

Elsa 1Elsa 1

Caliper Lever STM1113

Elsa 2

Setfren No Description Pcs

M256 Eccentric Shaft x 1

M253 Dust Cover x 1

M255 Eccentric Shaft Needle Bearing x 1

M246 Cover Plate (With Needle Bearing & Seal) x 1

M247 Cover Plate Bolt - M8 x 1.25 / 16 mm x 2

M250 Cover Plate Gasket x 1

M368 Plug Bolt x 1

M449 Washer x 1



99www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

Caliper Lever Set - L
MCK1398 - SJ4096

STM1116

Caliper LeverSTM1114 Caliper Lever

Caliper Lever Set - R
MCK1399 - SJ4097 

STM1115

STM1117

Setfren No Description Pcs

STM1292 Lever - L x 1

M383 Roller Bearing x 2

M304 Needle Bearing x 2

M100 Actuator Seal x 1

Setfren No Description Pcs

STM1293 Lever - R x 1

M383 Roller Bearing x 2

M304 Needle Bearing x 2

M100 Actuator Seal x 1

Setfren No Description Pcs

M466 Lever x 1

M383 Roller Bearing x 2

Setfren No Description Pcs

M465 Caliper Lever x 1

M383 Roller Bearing x 2

ELSA 195ELSA 195 ELSA 225

D DUCO AXIAL D DUCO AXIAL



100 www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

for MERITOR caliper systems

Caliper Lever Set
SJ4108

STM1122

Caliper Shaft & Cover 
Repair Kit
MCK1167 

STM1119

Setfren No Description Pcs

M256 Eccentric Shaft x 1

M253 Dust Cover x 1

M255 Eccentric Shaft Needle Bearing x 1

M246 Cover Plate (With Needle Bearing & Seal) x 1

M247 Cover Plate Bolt - M8 x 1.25 / 16 mm x 2

M250 Cover Plate Gasket x 1

M368 Plug Bolt x 1

M449 Washer x 1

DX175

D DUCO RADIAL

Caliper Cover Plate SetSTM1123

DX 175

Setfren No Description Pcs

M246 Cover Plate (With Needle Bearing & Seal) x 1

M250 Cover Plate Gasket x 1

M247 Cover Plate Bolt - M8 x 1.25 / 16 mm x 2

Setfren No Description Pcs

M289 Lever x 1

M383 Roller Bearing x 2

M304 Needle Bearing x 2

M100 Actuator Seal x 1



101www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

Caliper Pin Boot Repair Kit
SJ4077 
 

STM1126

Setfren No Description Pcs

M433 Tappet Boot x 2

Caliper Tappet Boot Set
ST1156

STM1128

C LISA D LISA

Elsa 1

Setfren No Description Pcs

M339 Pin Boot x 2

M337 Pin Boot x 2

Caliper Tappet Boot Set
MCK1139

STM1127

ELSA 2 ELSA 195 ELSA 225 B DUCO C DUCO 
LE DUCO D DUCO AXIAL D DUCO RADIAL 

Setfren No Description Pcs

M434 Tappet Boot x 2

STM1125 Caliper Lever

ELSA 2 RADIAL

Setfren No Description Pcs

M468 Lever x 1

M383 Roller Bearing x 2

Caliper Eccentric Shaft SetSTM1124

DX 175

Setfren No Description Pcs

M256 Eccentric Shaft x 1

M305 Needle Bearing x 2

Caliper Bearing SetSTM1138

Setfren No Description Pcs

M305 Needle Bearing x 2

M255 Eccentric Shaft Needle Bearing x 1

M400 Shaft Housing Bearing x 1

DX 175



102 www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

for MERITOR caliper systems

SN6… SN7… SK7…
SB6… SB7…

Caliper Tappet & Boot Set
MCK1238

STM1129

Caliper Tappet & Boot Set
MCK1309

 

STM1130

STM1131

Setfren No Description Pcs

M434 Tappet Boot x 2

M438 Tappet x 2

M240 Clips x 2

Setfren No Description Pcs

M434 Tappet Boot x 2

M439 Tappet x 2

M380 Ring x 2

Setfren No Description Pcs

M439 Tappet x 2

M380 Ring x 2

B DUCO C DUCO LE DUCO D DUCO AXIAL D
DUCO RADIAL   

ELSA 2 ELSA 195 ELSA 225

ELSA 2 ELSA 195 ELSA 225

Caliper Tappet Set



103www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

SN6… SN7… SK7…
SB6… SB7…

Caliper Pin Repair Kit
MCK1118

STM1132

Caliper Pin Repair Kit
MCK1116
 

STM1133

STM1134

Setfren No Description Pcs

M219 Caliper Pin - Ø 35 / 102 mm x 2

M330 Pin Bolt - M20 x 2 / 125 mm x 2

M263 Fiber Bush - Ø 35 x 39 / 77 mm x 1

M309 Oval Bush - Ø 35-36 x 39 / 30 mm x 2

M374 Ring - Ø 37 x 40 / 11 mm x 2

M348 Pin Cap - Ø 40 / 18.5 mm x 2

M337 Pin Boot x 2

GRS05 Grease (White) - 5 g x 2

Setfren No Description Pcs

MCK1116 Caliper Pin - Ø 35 / 102 mm x 2

M330 Pin Bolt - M20 x 2 / 125 mm x 2

M263 Fiber Bush - Ø 35 x 39 / 77 mm x 1

M309 Oval Bush - Ø 35-36 x 39 / 30 mm x 2

M374 Ring - Ø 37 x 40 / 11 mm x 2

M348 Pin Cap - Ø 40 / 18.5 mm x 2

M337 Pin Boot x 2

GRS05 Grease (White) - 5 g x 2

Setfren No Description Pcs

M219 Caliper Pin - Ø 35 / 102 mm x 2

M330 Pin Bolt - M20 x 2 / 125 mm x 2

M262 Fiber Bush - Ø 35 x 39 / 38 mm x 2

M309 Oval Bush - Ø 35-36 x 39 / 30 mm x 2

M374 Ring - Ø 37 x 40 / 11 mm x 2

M348 Pin Cap - Ø 40 / 18.5 mm x 2

M337 Pin Boot x 2

GRS05 Grease (White) - 5 g x 2

D DUCO RADIAL

B DUCO C DUCO LE DUCO D DUCO AXIAL

D DUCO RADIAL

Caliper Pin Repair Kit



104 www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

for MERITOR caliper systems

SN6… SN7… SK7…
SB6… SB7…

Caliper Pin Repair Kit
MCK1134

 

STM1135

Caliper Pin Repair Kit
MCK1298
 

STM1136

STM1137

Setfren No Description Pcs

M219 Caliper Pin - Ø 35 / 102 mm x 1

M226 Caliper Pin - Ø 35 / 60 mm x 1

M330 Pin Bolt - M20 x 2 / 125 mm x 1

M331 Pin Bolt - M20 x 2 / 80 mm x 1

M262 Fiber Bush - Ø 35 x 39 / 38 mm x 2

M309 Oval Bush - Ø 35-36 x 39 / 30 mm x 1

M374 Ring - Ø 37 x 40 / 11 mm x 2

M348 Pin Cap - Ø 40 / 18.5 mm x 2

M337 Pin Boot x 2

GRS05 Grease (White) - 5 g x 2

Setfren No Description Pcs

M305 Needle Bearing x 2

M255 Eccentric Shaft Needle Bearing x 1

M400 Shaft Housing Bearing x 1

B DUCO C DUCO LE DUCO D DUCO AXIAL

ELSA 195 ELSA 225

ELSA 225

Caliper Pin Repair Kit

Setfren No Description Pcs

M221 Caliper Pin - Ø 35 / 117 mm x 1

M213 Caliper Pin - Ø 31 / 78 mm x 1

M320 Pin Bolt - M18 x 1.5 / 120 mm x 1

M323 Pin Bolt - M18 x 1.5 / 80 mm x 1

M308 Oval Bush - Ø 31-33 x 42 / 30 mm x 1

M384 Round Bush - Ø 35 x 39 / 30 mm x 2

M373 Ring - Ø 37 x 39 / 10 mm x 2

M352 Pin Cap - Ø 44 / 17 mm x 2

M140 Bolt - M14 x 1.5 / 40 mm x 4

M142 Bolt - M16 x 1.5 / 40 mm x 2

M337 Pin Boot x 1

GRS05 Grease (White) - 5 g "



105www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

SN6… SN7… SK7…
SB6… SB7…

Caliper Pin Repair Kit
MCK1317

STM1139

Caliper Pin Repair Kit
SJ4052

STM1140

STM1141

Setfren No Description Pcs

M221 Caliper Pin - Ø 35 / 117 mm x 1

M211 Caliper Pin - Ø 31 / 117 mm x 1

M320 Pin Bolt - M18 x 1.5 / 120 mm x 2

M308 Oval Bush - Ø 31-33 x 42 / 30 mm x 2

M373 Ring - Ø 37 x 39 / 10 mm x 2

M384 Round Bush - Ø 35 x 39 / 30 mm x 2

M352 Pin Cap - Ø 44 / 17 mm x 2

M142 Bolt - M16 x 1.5 / 40 mm x 4

M337 Pin Boot x 2

GRS05 Grease (White) - 5 g x 1

ELSA 225 RADIAL

 C LISA

D LISA

Caliper Pin Repair Kit
MCK1104 - SJ4076

Setfren No Description Pcs

M209 Caliper Pin - Ø 30 / 115 mm x 1

M210 Caliper Pin - Ø 30 / 75 mm x 1

M321 Pin Bolt - M18 x 1.5 / 135 mm x 1

M326 Pin Bolt - M18 x 1.5 / 95 mm x 1

M264 Flanged Bush - Ø 30 x 34 / 26 mm x 2

M307 Oval Bush - Ø 30-31 x 34 / 26 mm x 1

M370 Ring - Ø 32 x 42 / 12 mm x 2

M351 Pin Cap - Ø 42 / 43 mm x 1

M346 Pin Cap - Ø 37 / 11 mm x 1

M339 Pin Boot x 2

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

M223 Caliper Pin - Ø 35 / 132 mm x 1

M228 Caliper Pin - Ø 35 / 79 mm x 1

M328 Pin Bolt - M20 x 1.5 / 150 mm x 1

M327 Pin Bolt - M20 x 1.5 / 100 mm x 1

M310 Oval Bush - Ø 35-36 x 39 / 47 mm x 1

M384 Round Bush - Ø 35 x 39 / 30 mm x 2

M386 Round Bush - Ø 35 x 41 / 30 mm x 2

M377 Ring - Ø 37 x 47 / 12 mm x 2

M353 Pin Cap - Ø 45 / 14.5 mm x 2

M337 Pin Boot x 2

GRS05 Grease (White) - 5 g x 1



106 www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

for MERITOR caliper systems

SB6… SB7…

Caliper Pin Repair Kit
MCK1102 

STM1142

Caliper Pin Repair Kit
MCK1103
 

STM1143

STM1144

Setfren No Description Pcs

M224 Caliper Pin - Ø 35 / 135 mm x 1

M227 Caliper Pin - Ø 35 / 73 mm x 1

M328 Pin Bolt - M20 x 1.5 / 150 mm x 1

M329 Pin Bolt - M20 x 1.5 / 90 mm x 1

M311 Oval Bush - Ø 35-37 x 40 / 33 mm x 1

M384 Round Bush - Ø 35 x 39 / 30 mm x 2

M372 Ring - Ø 36-37 x 39 / 15 mm - ( With Step ) x 1

M375 Ring - Ø 37 x 40 / 15 mm - ( Without Step ) x 1

M378 Ring - Ø 37 x 48 / 14 mm x 2

M355 Pin Cap  Ø 45 / 28 mm x 2

M336 Pin Boot x 2

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

M208 Caliper Pin - Ø 28.5 / 110 mm - ( With Bolt ) x 1

M224 Caliper Pin - Ø 35 / 135 mm x 1

M328 Pin Bolt - M20 x 1.5 / 150 mm x 1

M387 Rubber Bush - Ø 28.5 x 40 / 27 mm x 1

M384 Round Bush - Ø 35 x 39 / 30 mm x 2

M369 Ring - Ø 30 x 40 / 19 mm x 1

M372 Ring - Ø 36-37 x 39 / 15 mm - ( With Step ) x 1

M355 Pin Cap  Ø 45 / 28 mm x 2

M336 Pin Boot x 2

GRS08 Grease (Green) - 8 g x 1

Elsa 1

Elsa 1

Elsa 2

Caliper Pin Repair Kit
MCK1140 - MCK1243

Setfren No Description Pcs

M225 Caliper Pin - Ø 35 / 144 mm x 1

M214 Caliper Pin - Ø 31 / 84 mm x 1

M322 Pin Bolt - M18 x 1.5 / 150 mm x 1

M324 Pin Bolt - M18 x 1.5 / 90 mm x 1

M308 Oval Bush - Ø 31-33 x 42 / 30 mm x 1

M384 Round Bush - Ø 35 x 39 / 30 mm x 2

M376 Ring - Ø 37 x 42 / 14 mm x 2

M354 Pin Cap - Ø 45 / 28 mm x 2

M139 Bolt - M10 x 1.25 / 20 mm x 1

M141 Bolt - M16 x 1.5 / 40 mm x 4

M337 Pin Boot x 2

GRS05 Grease (White) - 5 g x 1



107www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

Caliper Pin Repair Kit
MCK1086

STM1145

Caliper Pin Repair Kit
SJ4011 - MCK1213

 

STM1146

STM1147

Setfren No Description Pcs

M222 Caliper Pin - Ø 35 / 126 mm x 1

M204 Caliper Oval Pin - Ø 33-35 / 66 mm x 1

M328 Pin Bolt - M20 x 1.5 / 150 mm x 1

M329 Pin Bolt - M20 x 1.5 / 90 mm x 1

M384 Round Bush - Ø 35 x 39 / 30 mm x 3

M371 Ring - Ø 35 x 43 / 2.5 mm x 2

M354 Pin Cap - Ø 45 / 28 mm x 2

M139 Bolt - M10 x 1.25 / 20 mm x 1

M141 Bolt - M16 x 1.5 / 40 mm x 4

M337 Pin Boot x 2

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

M404 Spline Shaft - R x 1

M136 Bearing House - R x 1

M133 Ball Bearing x 3

M131 Anti Rotation Pin x 1

Elsa 2

D3

D3

Caliper Spline Shaft Mechanism Set - R
MCK1022 - MCK1152

Setfren No Description Pcs

M215 Caliper Pin - Ø 32 / 117 mm x 1

M216 Caliper Pin - Ø 32 / 74 mm x 1

M319 Pin Bolt - M18 x 1.5 / 120 mm x 1

M325 Pin Bolt - M18 x 1.5 / 95 mm x 1

M152 Bush - Ø 32-33 x 36 / 30 mm x 1

M151 Bush - Ø 32 x 36 / 40 mm x 2

M345 Pin Cap - Ø 37 / 12 mm x 2

M254 Dust Cover x 2

M335 Pin Boot x 2

GRS05 Grease (White) - 5 g x 1



108 www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

for MERITOR caliper systems

Setfren No Description Pcs

M269 Gasket x 1

M102 Adjusting Boot x 1

M130 Adjusting O-ring x 1

M393 Bevel Seal - Ø 40 x 57 / 6 mm x 1

M392 Seal - Ø 39 x 52 / 5.5 mm x 1

M402 Shield - Ø 42 x 56 / 6 mm x 1

M432 Tappet Boot x 1

M337 Pin Boot x 2

M339 Pin Boot x 2

Caliper Boot & Seal Set
SJ4078 - SJ4032 

STM1148

Caliper Boot & Seal Set
SJ4061

 

STM1149

STM1150

Setfren No Description Pcs

M269 Gasket x 1

M102 Adjusting Boot x 1

M130 Adjusting O-ring x 1

M393 Bevel Seal - Ø 40 x 57 / 6 mm x 1

M392 Seal - Ø 39 x 52 / 5.5 mm x 1

M402 Shield - Ø 42 x 56 / 6 mm x 1

M432 Tappet Boot x 1

M339 Pin Boot x 2

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

M141 Bolt - M16 x 1.5 / 40 mm x 4

M354 Pin Cap - Ø 45 / 28 mm x 2

M390 Rubber Cap x 1

M394 Caliper Actuator Seal x 1

M434 Tappet Boot x 2

M337 Pin Boot x 2

M306 O-ring x 2

C LISA D LISA

C LISA

Elsa 2

CCaliper Boot & Bolt Set
MCK1244



109www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

Setfren No Description Pcs

M320 Pin Bolt - M18 x 1.5 / 120 mm x 1

M352 Pin Cap - Ø 44 / 17 mm x 2

M140 Bolt - M14 x 1.5 / 40 mm x 4

M142 Bolt - M16 x 1.5 / 40 mm x 4

M337 Pin Boot x 2

SN6… SN7… SK7…
SB6… SB7…

Caliper Pin Repair Kit
MCK1299

STM1151

Caliper Pin Repair Kit
MCK1065 - MCK1066
 

STM1152

STM1153

Setfren No Description Pcs

M219 Caliper Pin - Ø 35 / 102 mm x 1

M330 Pin Bolt - M20 x 2 / 125 mm x 2

M331 Pin Bolt - M20 x 2 / 80 mm x 1

M348 Pin Cap - Ø 40 / 18.5 mm x 2

M337 Pin Boot x 2

B DUCO C DUCO LE DUCO D DUCO AXIAL

B DUCO C DUCO LE DUCO D DUCO 
AXIAL D DUCO RADIAL   

B DUCO C DUCO LE DUCO D 
DUCO AXIAL D DUCO RADIAL   

Caliper Bolt Repair Kit
MCK1310

Setfren No Description Pcs

M219 Caliper Pin - Ø 35 / 102 mm x 1

M348 Pin Cap - Ø 40 / 18.5 mm x 2

M337 Pin Boot x 2



110 www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

for MERITOR caliper systems

Setfren No Description Pcs

M140 Bolt - M14 x 1.5 / 40 mm x 4

M352 Pin Cap - Ø 44 / 17 mm x 2

M337 Pin Boot x 2

SN6… SN7… SK7…
SB6… SB7…

Caliper Boot & Cap Set
SJ4078 - SJ4032

STM1154

Caliper Dust Cover Set
MCK1088
 

STM1155

STM1156

Setfren No Description Pcs

M434 Tappet Boot x 2

M337 Pin Boot x 2

M394 Caliper Actuator Seal x 1

M390 Rubber Cap x 1

M306 O-ring x 2

Setfren No Description Pcs

M279 Intermediate Gear "x 1

M416 Spring (Big) x 1

M418 Spring (Small) x 1

ELSA 195 ELSA 225

ELSA 2 ELSA 195 ELSA 225

D DUCO AXIAL / RADIAL

Intermediate Gear & Spring Set
MCK1067



111www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

Locking Shim
68321678

STM1159

Intermediate Gear & Spring Set
MCK1129 

STM1157 Tappet Anti Rotation Plate
68322900

Tappet Anti Rotation Plate
68322485

STM1158

STM1253

Setfren No Description Pcs

M280 Intermediate Gear x 1

M417 Spring (Big) x 1

M419 Spring (Small) x 1

C DUCO LE DUCOC DUCO LE DUCO

C DUCO LE DUCOElsa 1



112 www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

for MERITOR caliper systems

Thrust Bearing

 

STM1163

Wavy Washer
68320133

STM1165

D3

D3

D3

DUCO

STM1161 Caliper Cover Plate Seal Set

DX 175

Setfren No Description Pcs

M252 Cover Plate Seal x 5

Setfren No Description Pcs

M305 Needle Bearing x 2

Caliper Dust Cover SetSTM1164

DX 175

Setfren No Description Pcs

M253 Dust Cover x 5

Ball BearingSTM1162

D3

Needle Bearing SetSTM1166

DX 175



113www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

Caliper Plate Repair Kit - L     STM1172

Spline Shaft Cover Set
SJ1212

STM1160 Caliper Mechanism Central 
Fork & Pignon

Caliper Plate Repair Kit - R

STM1168

STM1184

Setfren No Description Pcs

M365 Plate x 1

M156 Calibration Bolt - L x 2

M428 Tappet Bolt - M8 x 1.25 / 20 mm x 2

Setfren No Description Pcs

M413 Spline Shaft Dust Cover x 1

M411 Spline Shaft Boot x 1

M144 Bolt - M8 x 1.25 / 40 mm x 4

M143 Bolt - M8 x 1.25 / 16 mm x 2

Setfren No Description Pcs

M196 Caliper Mechanism Central Fork x 1

M198 Caliper Mechanism Pignon x 1

Setfren No Description Pcs

M365 Plate x 1

M158 Calibration Bolt - R x 2

M428 Tappet Bolt - M8 x 1.25 / 20 mm x 2

DX 175D3

DX 175 DX 175



114 www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

for MERITOR caliper systems

SN6… SN7… SK7…
SB6… SB7…

Caliper Gasket Set
SJ4109 

STM1167

Caliper Gasket Set
MCK1041

 

STM1169

STM1171

Setfren No Description Pcs

M266 Gasket x 1

STM1176 Rubber Cap x 1

M100 Actuator Seal x 1

M401 Shaft Seal x 1

Setfren No Description Pcs

M268 Gasket x 1

M390 Rubber Cap x 1

M100 Actuator Seal x 1

M401 Shaft Seal x 1

D DUCO RADIAL

C DUCO LE DUCO

D DUCO AXIAL

Caliper Gasket Set
SJ4105 

Setfren No Description Pcs

M267 Gasket x 1

M390 Rubber Cap x 1

M100 Actuator Seal x 1

M401 Shaft Seal x 1



115www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

Caliper GasketSTM1179

Rubber Cap

 

STM1176

D DUCO RADIAL

Elsa 1

Caliper GasketSTM1180

STM1173 Gasket

Elsa 2

Caliper GasketSTM1178

GasketSTM1174

Elsa 1

Elsa 1

ELSA 195 ELSA 225



116 www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

for MERITOR caliper systems

Caliper Brake Lining Plate
68320912 

STM1181

Caliper Brake Lining Plate
ST1156

STM1183

D3

 C LISA

Caliper Pad Retainer Kit
MCK1174

STM1189

ELSA 2 ELSA 195 ELSA 225

STM1175 Rubber Cap 
68322655PK10

ELSA 2 B DUCO C DUCO LE 
DUCO D DUCO AXIAL

Setfren No Description Pcs

M390 Rubber Cap x 10

Setfren No Description Pcs

M394 Caliper Actuator Seal x 10

Caliper Lever
68915080 

STM1182

C LISA D LISA

Caliper Actuator Seal Set
68323746PK10

STM1177

ELSA 2 ELSA 195 ELSA 225



117www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

Caliper Shaft Housing STM1170 Caliper Visual Indicator
SJ4111

STM1185

B DUCO C DUCO LE DUCO D 
DUCO AXIAL D DUCO RADIAL     DX 175

Caliper Cover Plate Seal SetSTM1196 Caliper Dust Cover Set
MCK1399 - SJ4097 

STM1197

Setfren No Description Pcs

M251 Cover Plate Seal x 5

Setfren No Description Pcs

M178 Dust Cover x 5

DX195 DX225 DX195 DX225



118 www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

for MERITOR caliper systems

DX 175

Caliper Visual Indicator
MCK1311

STM1186 Caliper Visual Indicator
MCK1399 - SJ4097 

STM1187

ELSA 195 ELSA 225 Elsa 2

Caliper Piston & Pignon
 Repair Set - L

STM1188 Caliper Piston & Pignon
Repair Set - R

STM1190

Setfren No Description Pcs

M358 Piston - R x 2

M314 Pignon x 2

Setfren No Description Pcs

M356 Piston - L x 2

M314 Pignon x 2

DX 175 DX 175



119www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

SN6… SN7… SK7…
SB6… SB7…

Caliper Shaft Housing & Piston Set - L
 

STM1191

Caliper Shaft Housing & Piston Set - R 

 

STM1192

STM1193

Setfren No Description Pcs

STM1170 Caliper Shaft Housing x 1

M356 Piston - L x 2

M314 Pignon x 2

M196 Caliper Mechanism Central Fork x 1

M198 Caliper Mechanism Pignon x 1

Setfren No Description Pcs

M181 Eccentric Shaft x 1

M203 Needle Bearing x 2

M180 Seal x 1

DX 175

DX 175

ELSA 195 ELSA 225

Caliper Eccentric Shaft Set

Setfren No Description Pcs

STM1170 Caliper Shaft Housing x 1

M358 Piston - R x 2

M314 Pignon x 2

M196 Caliper Mechanism Central Fork x 1

STM1145 Caliper Pin Repair Kit x 1

M198 Caliper Mechanism Pignon x 1



120 www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

for MERITOR caliper systems

Caliper Pad Spring Set
MBA100

STM1209

Caliper Pin Repair KitverSTM1194 Caliper Pin Repair Kit

Caliper Shaft Housing

STM1195

STM1215

DX 225DX 195

DX 225DX195 DX225

Setfren No Description Pcs

M217 Caliper Pin - Ø 32 / 97-37 mm x 1

M218 Caliper Pin - Ø 32 / 97-62 mm x 1

M318 Pin Bolt - M16 x 1.5 / 80 mm x 1

M317 Pin Bolt - M16 x 1.5 / 55 mm x 1

M343 Pin Bush - Ø 32 x 36 / 55 mm x 2

M349 Pin Cap - Ø 42 / 28 mm x 2

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

M194 Caliper Long Pin - Ø 35 / 98 mm x 1

M235 Caliper Short Pin - Ø 35 / 98 mm x 1

M332 Pin Bolt Long - M18 x 2.5 / 90 mm x 1

M333 Pin Bolt Short - M18 x 2.5 / 55 mm x 1

M344 Pin Bush - Ø 35 x 39 / 50 mm x 2

M350 Pin Cap - Ø 42 / 31 mm x 2

GRS05 Grease (White) - 5 g x 1



121www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

Caliper Boot & Pin Repair Kit
MCK1171 

STM1199

Caliper Repair Kit- L

Caliper Repair Kit- R

 

STM1198

STM1204

Setfren 
No 

Description Pcs

STM1002 Caliper Boot & Pin Repair Kit x 1

STM1211 Caliper Shaft Housing & Piston Set - L x 1

STM1016 Caliper Mechanism Repair Kit- L (Half Set) x 1

M364 Plate x 1

M155 Calibration Bolt - L x 2

M181 Eccentric Shaft x 1

M203 Needle Bearing x 1

M180 Seal x 1

M179 Eccentric Shaft Needle Bearing x 1

M138 Bevel Washer x 1

M245 Cover Plate (With Needle Bearing & Seal) x 1

M178 Dust Cover x 1

M261 End Plate Cap - Ø 37 / 15 mm x 1

STM1027 Caliper Lever x 1

STM1035 Caliper Pad Retainer x 1

GRS05 Grease (White) - 5 g x 1

Setfren 
No 

Description Pcs

STM1170 Caliper Shaft Housing x 1

M356 Piston - L x 2

M314 Pignon x 2

M196 Caliper Mechanism Central Fork x 1

M198 Caliper Mechanism Pignon x 1

M365 Plate x 1

M156 Calibration Bolt - L x 2

M428 Tappet Bolt - M8 x 1.25 / 20 mm x 2

Setfren 
No 

Description Pcs

STM1170 Caliper Shaft Housing "x 1

M358 Piston - R x 2

M314 Pignon x 2

M196 Caliper Mechanism Central Fork x 1

M198 Caliper Mechanism Pignon x 1

M365 Plate x 1

M158 Calibration Bolt - R x 2

M428 Tappet Bolt - M8 x 1.25 / 20 mm x 2

DX 195

DX 175

DX 175



122 www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

for MERITOR caliper systems

Setfren No Description Pcs

STM1002 Caliper Boot & Pin Repair Kit x 1

STM1212 Caliper Shaft Housing & Piston Set - R x 1

STM1015 Caliper Mechanism Repair Kit- R (Half Set) x 1

M364 Plate x 1

M157 Calibration Bolt - R x 2

M181 Eccentric Shaft x 1

M203 Needle Bearing x 1

M180 Seal x 1

M179 Eccentric Shaft Needle Bearing x 1

M138 Bevel Washer x 1

M245 Cover Plate (With Needle Bearing & Seal) x 1

M178 Dust Cover x 1

M261 End Plate Cap - Ø 37 / 15 mm x 1

STM1027 Caliper Lever x 1

STM1035 Caliper Pad Retainer x 1

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

STM1170 Caliper Shaft Housing x 1

M356 Piston - L x 2

M314 Pignon x 2

M455 Wavy Washer x 2

M382 Ring x 2

M365 Plate x 1

M156 Calibration Bolt - L x 2

M428 Tappet Bolt - M8 x 1.25 / 20 mm x 2

M436 Tappet Boot x 2

M261 End Plate Cap - Ø 37 / 15 mm x 1

Caliper Complete Repair Kit - R
 MCK1171

STM1200 

Caliper Repair Kit- L

 

STM1205

DX 195

DX 175

Setfren No Description Pcs

STM1170 Caliper Shaft Housing x 1

M358 Piston - R x 2

M314 Pignon x 2

M455 Wavy Washer x 2

M382 Ring x 2

M365 Plate x 1

M158 Calibration Bolt - R x 2

M428 Tappet Bolt - M8 x 1.25 / 20 mm x 2

M436 Tappet Boot x 2

M261 End Plate Cap - Ø 37 / 15 mm x 1

Caliper Repair Kit- LSTM1206

DX 175



123www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

SN6… SN7… SK7…
SB6… SB7…

Caliper Boot & Pin Repair KitSTM1201

Caliper Boot & Pin Repair Kit

 

STM1202

STM1203

Setfren No Description Pcs

M225 Caliper Pin - Ø 35 / 144 mm x 1

M214 Caliper Pin - Ø 31 / 84 mm x 1

M388 Rubber Bush - Ø 31-32 x 42 / 45 mm x 1

M384 Round Bush - Ø 35 x 39 / 30 mm x 2

M376 Ring - Ø 37 x 42 / 14 mm x 1

M354 Pin Cap - Ø 45 / 28 mm x 2

M434 Tappet Boot x 2

M337 Pin Boot x 2

GRS08 Grease (Green) - 8 g x 1

Elsa 2

Elsa 2

Elsa 2

Caliper Pin Repair Kit
MCK1289

Setfren No Description Pcs

M225 Caliper Pin - Ø 35 / 144 mm x 1

M214 Caliper Pin - Ø 31 / 84 mm x 1

M322 Pin Bolt - M18 x 1.5 / 150 mm x 1

M324 Pin Bolt - M18 x 1.5 / 90 mm x 1

M388 Rubber Bush - Ø 31-32 x 42 / 45 mm x 1

M384 Round Bush - Ø 35 x 39 / 30 mm x 2

M376 Ring - Ø 37 x 42 / 14 mm x 1

M354 Pin Cap - Ø 45 / 28 mm x 2

M337 Pin Boot x 2

M434 Tappet Boot x 2

Setfren No Description Pcs

M225 Caliper Pin - Ø 35 / 144 mm x 1

M214 Caliper Pin - Ø 31 / 84 mm x 1

M322 Pin Bolt - M18 x 1.5 / 150 mm x 1

M324 Pin Bolt - M18 x 1.5 / 90 mm x 1

M388 Rubber Bush - Ø 31-32 x 42 / 45 mm x 1

M384 Round Bush - Ø 35 x 39 / 30 mm x 2

M376 Ring - Ø 37 x 42 / 14 mm x 1

M354 Pin Cap - Ø 45 / 28 mm x 2

M337 Pin Boot x 2

GRS08 Grease (Green) - 8 g x 1



124 www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

for MERITOR caliper systems

SN6… SN7… SK7…
SB6… SB7…

Caliper Complete Repair Kit - L
MCK1086

STM1207

Caliper Shaft Housing & Piston Set - L
DSB6L 
 

STM1211

STM1212

DX175

DX195

DX195

Caliper Shaft Housing & Piston Set - R
DSB6R

Setfren No Description Pcs

STM1007 Caliper Shaft Housing x 1

M360 Piston - L x 2

M313 Pignon x 2

M195 Caliper Mechanism Central Fork x 1

M197 Caliper Mechanism Pignon x 1

Setfren No Description Pcs

STM1007 Caliper Shaft Housing x 1

M361 Piston - R x 2

M313 Pignon x 2

M195 Caliper Mechanism Central Fork x 1

M197 Caliper Mechanism Pignon x 1

Setfren No Description Pcs

STM1091 Caliper Boot & Pin Repair Kit x 1

STM1191 Caliper Shaft Housing & Piston Set - L x 1

STM1270 Caliper Mechanism Repair Kit- L (Half Set) x 1

M365 Plate x 1

M156 Calibration Bolt - L x 2

M256 Eccentric Shaft x 1

M305 Needle Bearing x 1

M255 Eccentric Shaft Needle Bearing x 1

M246 Cover Plate (With Needle Bearing & Seal) x 1

M253 Dust Cover x 1

M261 End Plate Cap - Ø 37 / 15 mm x 1

STM1118 Caliper Pad Retainer x 1

GRS05 Grease (White) - 5 g x 1



125www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

SN6… SN7… SK7…
SB6… SB7…

Caliper Complete Repair Kit - R
MCK1086 

STM1208

Caliper Repair Kit- L STM1213

STM1214

DX 175

DX 195

DX 195

Caliper Repair Kit- R

Setfren No Description Pcs

STM1007 Caliper Shaft Housing x 1

M360 Piston - L x 2

M313 Pignon x 2

M195 Caliper Mechanism Central Fork x 1

M197 Caliper Mechanism Pignon x 1

M364 Plate x 1

M155 Calibration Bolt - L x 2

M427 Tappet Bolt - M10 x 1.5 / 20 mm x 2

Setfren No Description Pcs

STM1091 Caliper Boot & Pin Repair Kit x 1

STM1192 Caliper Shaft Housing & Piston Set - R x 1

STM1271 Caliper Mechanism Repair Kit- R (Half Set) x 1

M365 Plate x 1

M158 Calibration Bolt - R x 2

M256 Eccentric Shaft x 1

M305 Needle Bearing x 1

M255 Eccentric Shaft Needle Bearing x 1

M246 Cover Plate (With Needle Bearing & Seal) x 1

M253 Dust Cover x 1

M261 End Plate Cap - Ø 37 / 15 mm x 1

STM1118 Caliper Pad Retainer x 1

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

STM1007 Caliper Shaft Housing x 1

M361 Piston - R x 2

M313 Pignon x 2

M195 Caliper Mechanism Central Fork x 1

M197 Caliper Mechanism Pignon x 1

M364 Plate x 1

M157 Calibration Bolt - R x 2

M427 Tappet Bolt - M10 x 1.5 / 20 mm x 2



126 www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

for MERITOR caliper systems

SN6… SN7… SK7…
SB6… SB7…

Caliper Piston & Pignon Repair Set - LSTM1216

Caliper Repair Kit- L

 

STM1223

STM1217

Setfren No Description Pcs

M357 Piston - L x 2

M313 Pignon x 2

DX 225

DX 225

Elsa 2

Caliper Boot & Pin Repair Kit

Setfren No Description Pcs

M359 Piston - R x 2

M313 Pignon x 2

Setfren No Description Pcs

M222 Caliper Pin - Ø 35 / 126 mm x 1

M204 Caliper Oval Pin - Ø 33-35 / 66 mm x 1

M328 Pin Bolt - M20 x 1.5 / 150 mm x 1

M329 Pin Bolt - M20 x 1.5 / 90 mm x 1

M384 Round Bush - Ø 35 x 39 / 30 mm x 3

M371 Ring - Ø 35 x 43 / 2.5 mm x 2

M354 Pin Cap - Ø 45 / 28 mm x 2

M139 Bolt - M10 x 1.25 / 20 mm x 1

M141 Bolt - M16 x 1.5 / 40 mm x 4

M337 Pin Boot x 2

M434 Tappet Boot x 2

GRS05 Grease (White) - 5 g x 1



127www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

D3

Clutch System (Small) - L

 

STM1220

D3

Clutch System (Small) - RSTM1219

STM1218 Caliper Pin Bolt & Cap Repair Kit
SJ4021

D LISA

Setfren No Description Pcs

M328 Pin Bolt - M20 x 1.5 / 150 mm x 1

M327 Pin Bolt - M20 x 1.5 / 100 mm x 1

M353 Pin Cap - Ø 45 / 14.5 mm x 2

Setfren No Description Pcs

M105 Adjusting Gear (Small) x 1

M445 Torsion Spring (Small) - L x 1

M101 Adjuster Bolt - M10 x 1.5 / 50 mm x 1

M452 Wavy Washer x 1

M389 Rubber Cap x 1

Clutch System (Big) - LSTM1222

Setfren No Description Pcs

M447 Torsion Spring Bearing x 1

M443 Torsion Spring (Big) - L x 1

M451 Washer x 4

M450 Washer x 3

Caliper Pin Boot Set
MCK1139

STM1227

ELSA 2 ELSA 195 ELSA 225 B DUCO C 
DUCO LE DUCO D DUCO AXIAL

Setfren No Description Pcs

M337 Pin Boot x 2

Setfren No Description Pcs

M105 Adjusting Gear (Small) x 1

M446 Torsion Spring (Small) - R x 1

M101 Adjuster Bolt - M10 x 1.5 / 50 mm x 1

M452 Wavy Washer x 1

M389 Rubber Cap x 1

Clutch System (Big) - RSTM1221

Setfren No Description Pcs

M447 Torsion Spring Bearing x 1

M444 Torsion Spring (Big) - R x 1

M451 Washer x 4

M450 Washer x 3

D3

D3D3



128 www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

for MERITOR caliper systems

SN6… SN7… SK7…
SB6… SB7…

Caliper Shaft Housing & Piston Set - LSTM1224

Caliper Visual Indicator & Screw Set
MCK1240
 

STM1225

STM1226

Setfren No Description Pcs

STM1215 Caliper Shaft Housing x 1

M357 Piston - L x 2

M313 Pignon x 2

M195 Caliper Mechanism Central Fork x 1

M197 Caliper Mechanism Pignon x 1

Setfren No Description Pcs

STM1215 Caliper Shaft Housing x 1

M359 Piston - R x 2

M313 Pignon x 2

M195 Caliper Mechanism Central Fork x 1

M197 Caliper Mechanism Pignon x 1

DX 225

Elsa 2

DX 225

Caliper Shaft Housing & Piston Set - R

Setfren No Description Pcs

STM1187 Caliper Visual Indicator x 1

M141 Bolt - M16 x 1.5 / 40 mm x 4



129www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

Caliper Repair Kit- L
SJ4011 - MCK1213

 

STM1229

STM1230

DX 225

DX 225

Caliper Repair Kit- R

Setfren No Description Pcs

STM1215 Caliper Shaft Housing x 1

M357 Piston - L x 2

M313 Pignon x 2

M195 Caliper Mechanism Central Fork x 1

M197 Caliper Mechanism Pignon x 1

M366 Plate x 1

M155 Calibration Bolt - L x 2

M427 Tappet Bolt - M10 x 1.5 / 20 mm x 2

Setfren No Description Pcs

STM1215 Caliper Shaft Housing x 1

M359 Piston - R x 2

M313 Pignon x 2

M195 Caliper Mechanism Central Fork x 1

M197 Caliper Mechanism Pignon x 1

M366 Plate x 1

M157 Calibration Bolt - R x 2

M427 Tappet Bolt - M10 x 1.5 / 20 mm x 2

Caliper Small Gear  Mechanism - L
68322562

STM1232

ELSA 1 B DUCO C DUCO LE DUCO D DUCO AXIAL D 
DUCO RADIAL



130 www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

for MERITOR caliper systems

Setfren No Description Pcs

M114 Adjusting Mechanism - R x 1

M312 Pignon x 1

M423 Spring x 1

M454 Wavy Washer x 2

M381 Ring x 2

M398 Seal x 2

Setfren No Description Pcs

M111 Adjusting Mechanism - L x 1

M312 Pignon x 1

M423 Spring x 1

M454 Wavy Washer x 2

M381 Ring x 2

M398 Seal x 2

Caliper Small Gear Mechanism - R
68322563

STM1233

ELSA 1 B DUCO C DUCO LE DUCO D DUCO AXIAL 
D DUCO RADIAL

Caliper Mechanism Repair 
Kit - L

STM1231

Caliper Mechanism Repair 
Kit - R

STM1237

DX 225

DX 225



131www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

SN6… SN7… SK7…
SB6… SB7…

Caliper Boot & Pin Bolt Repair Kit
MCK1193

STM1234

Caliper Boot Repair Kit

 

STM1235

STM1236

Setfren No Description Pcs

M332 Pin Bolt Long - M18 x 2.5 / 90 mm x 1

M333 Pin Bolt Short - M18 x 2.5 / 55 mm x 1

M350 Pin Cap - Ø 42 / 31 mm x 2

M341 Pin Boot x 2

M437 Tappet Boot x 2

M431 Tappet Boot Seal x 2

DX 225

DX 225

DX 225

Caliper Boot & Bolt Repair Kit

Setfren No Description Pcs

M341 Pin Boot x 2

M437 Tappet Boot x 2

M431 Tappet Boot Seal x 2

Setfren No Description Pcs

STM1235 Caliper Boot Repair Kit x 1

M350 Pin Cap - Ø 42 / 31 mm x 2

M427 Tappet Bolt - M10 x 1.5 / 20 mm x 2

M259 End Plate Bolt - M12 x 1.75 / 20 mm x 2

M260 End Plate Bolt - M12 x 1.75 / 30 mm x 4

M248 Cover Plate Bolt - M8 x 1.25 / 20 mm x 2



132 www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

for MERITOR caliper systems

Caliper Mechanism Repair Kit - LtSTM1238

Setfren No Description Pcs

M111 Adjusting Mechanism - L x 1

M312 Pignon x 1

M423 Spring x 1

M454 Wavy Washer x 2

M381 Ring x 2

M398 Seal x 2

M195 Caliper Mechanism Central Fork x 1

M197 Caliper Mechanism Pignon x 1

M260 End Plate Bolt - M12 x 1.75 / 30 mm x 6

M259 End Plate Bolt - M12 x 1.75 / 20 mm x 2

M367 Plug Bolt x 1

M449 Washer x 1

DX 225

Caliper Complete Repair Kit - LSTM1240

Setfren No Description Pcs

STM1021 Caliper Boot & Pin Repair Kit x 1

STM1224 Caliper Shaft Housing & Piston Set - L x 1

STM1231 Caliper Mechanism Repair Kit- L (Half Set) x 1

M366 Plate x 1

M155 Calibration Bolt - L x 2

M181 Eccentric Shaft x 1

M203 Needle Bearing x 1

M180 Seal x 1

M179 Eccentric Shaft Needle Bearing x 1

M138 Bevel Washer x 1

M245 Cover Plate (With Needle Bearing & Seal) x 1

M178 Dust Cover x 1

M261 End Plate Cap - Ø 37 / 15 mm x 1

STM1027 Caliper Lever x 1

STM1311 Caliper Pad Retainer x 1

GRS05 Grease (White) - 5 g x 1

DX 225



133www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

Caliper Complete Repair Kit - RSTM1241
Setfren No Description Pcs

STM1021 Caliper Boot & Pin Repair Kit x 1

STM1226 Caliper Shaft Housing & Piston Set - R x 1

STM1237 Caliper Mechanism Repair Kit- R (Half Set) x 1

M366 Plate x 1

M157 Calibration Bolt - R x 2

M181 Eccentric Shaft x 1

M203 Needle Bearing x 1

M180 Seal x 1

M179 Eccentric Shaft Needle Bearing x 1

M138 Bevel Washer x 1

M245 Cover Plate (With Needle Bearing & Seal) x 1

M178 Dust Cover x 1

M261 End Plate Cap - Ø 37 / 15 mm x 1

STM1027 Caliper Lever x 1

STM1311 Caliper Pad Retainer x 1

GRS05 Grease (White) - 5 g x 1

DX 225

Caliper Mechanism Repair Kit - R

 

STM1239

Setfren No Description Pcs

M114 Adjusting Mechanism - R x 1

M312 Pignon x 1

M423 Spring x 1

M454 Wavy Washer x 2

M381 Ring x 2

M398 Seal x 2

M195 Caliper Mechanism Central Fork x 1

M197 Caliper Mechanism Pignon x 1

M260 End Plate Bolt - M12 x 1.75 / 30 mm x 6

M259 End Plate Bolt - M12 x 1.75 / 20 mm x 2

M367 Plug Bolt x 1

M449 Washer x 1

DX 225



134 www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

for MERITOR caliper systems

SN6… SN7… SK7…
SB6… SB7…

Caliper Pin Repair Kit 
BRASS BUSH TYPEFOR MCK1116 

STM1242

Caliper Pin Boot Ring Set

 

STM1243

STM1244

Setfren No Description Pcs

M219 Caliper Pin - Ø 35 / 102 mm x 1

M226 Caliper Pin - Ø 35 / 60 mm x 1

M330 Pin Bolt - M20 x 2 / 125 mm x 1

M331 Pin Bolt - M20 x 2 / 80 mm x 1

M385 Round Bush - Ø 35 x 40 / 77 mm x 1

M309 Oval Bush - Ø 35-36 x 39 / 30 mm x 1

M374 Ring - Ø 37 x 40 / 11 mm x 2

M348 Pin Cap - Ø 40 / 18.5 mm x 2

M337 Pin Boot x 2

GRS05 Grease (White) - 5 g x 2

B DUCO C DUCO LE DUCO D DUCO AXIAL

B DUCO C DUCO LE DUCO D DUCO 
AXIAL D DUCO RADIAL   

Caliper Pin Repair Kit
BRASS BUSH TYPE FOR MCK118

Setfren No Description Pcs

M334 Pin Boot Ring - Ø 35.5 x 37.5 / 6 mm x 10

Setfren No Description Pcs

M219 Caliper Pin - Ø 35 / 102 mm x 2

M330 Pin Bolt - M20 x 2 / 125 mm x 2

M385 Round Bush - Ø 35 x 40 / 77 mm x 1

M309 Oval Bush - Ø 35-36 x 39 / 30 mm x 2

M374 Ring - Ø 37 x 40 / 11 mm x 2

M348 Pin Cap - Ø 40 / 18.5 mm x 2

M337 Pin Boot x 2

GRS05 Grease (White) - 5 g x 2



135www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

Caliper Boot & Pin Repair KitSTM1245

Caliper Boot & Pin Repair KitSTM1246

STM1247

Setfren No Description Pcs

M219 Caliper Pin - Ø 35 / 102 mm x 2

M330 Pin Bolt - M20 x 2 / 125 mm x 2

M385 Round Bush - Ø 35 x 40 / 77 mm x 1

M309 Oval Bush - Ø 35-36 x 39 / 30 mm x 2

M374 Ring - Ø 37 x 40 / 11 mm x 2

M348 Pin Cap - Ø 40 / 18.5 mm x 2

M337 Pin Boot x 2

M434 Tappet Boot x 2

GRS05 Grease (White) - 5 g x 2

Caliper Boot & Bush

Setfren No Description Pcs

M219 Caliper Pin - Ø 35 / 102 mm x 2

M385 Round Bush - Ø 35 x 40 / 77 mm x 1

M309 Oval Bush - Ø 35-36 x 39 / 30 mm x 2

M434 Tappet Boot x 2

M337 Pin Boot x 2

GRS05 Grease (White) - 5 g x 2

Setfren No Description Pcs

M385 Round Bush - Ø 35 x 40 / 77 mm x 1

M309 Oval Bush - Ø 35-36 x 39 / 30 mm x 2

M434 Tappet Boot x 2

M337 Pin Boot x 2

D DUCO RADIAL

D DUCO RADIAL

D DUCO RADIAL



136 www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

for MERITOR caliper systems

Setfren No Description Pcs

M141 Bolt - M16 x 1.5 / 40 mm x 4

M139 Bolt - M10 x 1.25 / 20 mm x 1

M354 Pin Cap - Ø 45 / 28 mm x 2

M337 Pin Boot x 2

STM1252 Caliper Pin Boot & Bolt Set
MCK1087

Elsa 2

Actuator Seal Set
68322297PK10 

STM1248

Setfren No Description Pcs

M100 Actuator Seal x 10

Setfren No Description Pcs

M125 Adjusting Mechanism Shaft x 1

M293 Mechanism Bearing - External Tooth x 1

M294 Mechanism Bearing - Flat x 1

M300 Mechanism Thrust Bearing x 1

M301 Mechanism Thrust Washer x 2

Adjusting Mechanism  Shaft 
MCK1050

STM1254

B DUCO

Caliper Tappet Boot Set
68324854PK10

STM1251

Setfren No Description Pcs

M434 Tappet Boot x 10

Caliper Pad Retainer Kit
MCK1263

STM1250

B DUCO

B DUCO C DUCO LE DUCO D DUCO 
AXIAL D DUCO RADIAL     

ELSA 2 ELSA 195 ELSA 225 B 
DUCO C DUCO LE DUCO D DUCO 

AXIAL D DUCO RADIAL 

Caliper Pad Retainer Kit
MCK1264

STM1249

C DUCO LE DUCO



137www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

Caliper Lever Set - L
MCK1127

STM1268 Caliper Lever Set - R
MCK1128 

STM1275

C DUCO LE DUCO

Caliper Lever Set
MCK1048

STM1255 Caliper LeverSTM1264

Setfren No Description Pcs

M469 Caliper Lever x 1

M383 Roller Bearing x 2

B DUCO ELSA 225 RADIAL

Setfren No Description Pcs

M290 Lever x 1

M383 Roller Bearing x 2

M304 Needle Bearing x 2

M100 Actuator Seal x 1

Setfren No Description Pcs

M282 Lever - L x 1

M383 Roller Bearing x 2

M304 Needle Bearing x 2

M100 Actuator Seal x 1

Setfren No Description Pcs

M284 Lever - R x 1

M383 Roller Bearing x 2

M304 Needle Bearing x 2

M100 Actuator Seal x 1

C DUCO LE DUCO



138 www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

for MERITOR caliper systems

Caliper Complete Repair KitSTM1256

Caliper Complete Repair Kit 
SJ4011 - MCK1213

 

STM1265

Setfren No Description Pcs

STM1242 Caliper Pin Repair Kit x 1

STM1254 Adjusting Mechanism x 1

STM1054 Adjusting Mechanism Set - R x 1

STM1255 Caliper Lever Set x 1

STM1176 Rubber Cap x 1

STM1185 Caliper Visual Indicator x 1

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

STM1244 Caliper Pin Repair Kit x 1

STM1054 Adjusting Mechanism Set - R x 1

STM1050 Adjusting Mechanism Shaft x 1

STM1158 Tappet Anti Rotation Plate x 1

STM1156 Intermediate Gear & Spring Set x 1

STM1232 Small Gear Mechanism - L x 1

STM1122 Caliper Lever Set x 1

STM1185 Caliper Visual Indicator x 1

STM1176 Rubber Cap x 1

M266 Gasket x 1

GRS05 Grease (White) - 5 g x 1

B DUCO

D DUCO RADIAL



139www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

Caliper Complete Repair Kit - L STM1257

Caliper Complete Repair Kit - R

 

STM1261

Setfren No Description Pcs

STM1242 Caliper Pin Repair Kit x 1

STM1056 Adjusting Mechanism Set - L x 1

STM1051 Adjusting Mechanism Shaft - L x 1

STM1253 Tappet Anti Rotation Plate x 1

STM1157 Intermediate Gear & Spring Set x 1

STM1232 Caliper Small Gear Mechanism - L x 1

STM1268 Caliper Lever Set - L x 1

STM1185 Caliper Visual Indicator x 1

M390 Rubber Cap x 1

M267 Gasket x 1

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

STM1242 Caliper Pin Repair Kit x 1

STM1054 Adjusting Mechanism Set - R x 1

STM1052 Adjusting Mechanism Shaft - R x 1

STM1253 Tappet Anti Rotation Plate x 1

STM1157 Intermediate Gear & Spring Set x 1

STM1233 Caliper Small Gear Mechanism - R x 1

STM1275 Caliper Lever Set - R x 1

STM1185 Caliper Visual Indicator x 1

M390 Rubber Cap x 1

M267 Gasket x 1

GRS05 Grease (White) - 5 g x 1

C DUCO LE DUCO

C DUCO LE DUCO



140 www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

for MERITOR caliper systems

Caliper Repair Kit- LSTM1258

Caliper Repair Kit- R STM1259

Setfren No Description Pcs

STM1215 Caliper Shaft Housing x 1

M357 Piston - L x 2

M313 Pignon x 2

M366 Plate x 1

M155 Calibration Bolt - L x 2

M427 Tappet Bolt - M10 x 1.5 / 20 mm x 2

M437 Tappet Boot x 2

M431 Tappet Boot Seal x 2

M261 End Plate Cap - Ø 37 / 15 mm x 1

Setfren No Description Pcs

STM1215 Caliper Shaft Housing x 1

M359 Piston - R x 2

M313 Pignon x 2

M366 Plate x 1

M157 Calibration Bolt - R x 2

M427 Tappet Bolt - M10 x 1.5 / 20 mm x 2

M437 Tappet Boot x 2

M431 Tappet Boot Seal x 2

M261 End Plate Cap - Ø 37 / 15 mm x 1

DX 225

DX 225



141www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

Caliper Complete Repair Kit - LSTM1262

Caliper Complete Repair Kit - RSTM1263

Setfren No Description Pcs

STM1242 Caliper Pin Repair Kit x 1

STM1056 Adjusting Mechanism Set - L x 1

STM1051 Adjusting Mechanism Shaft - L x 1

STM1158 Tappet Anti Rotation Plate x 1

STM1156 Intermediate Gear & Spring Set x 1

STM1232 Small Gear Mechanism - L x 1

STM1116 Caliper Lever Set - L x 1

STM1185 Caliper Visual Indicator x 1

M390 Rubber Cap x 1

M268 Gasket x 1

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

STM1242 Caliper Pin Repair Kit x 1

STM1054 Adjusting Mechanism Set - R x 1

STM1052 Adjusting Mechanism Shaft - R x 1

STM1158 Tappet Anti Rotation Plate x 1

STM1156 Intermediate Gear & Spring Set x 1

STM1233 Small Gear Mechanism - R x 1

STM1117 Caliper Lever Set - R x 1

STM1185 Caliper Visual Indicator x 1

M390 Rubber Cap x 1

M268 Gasket x 1

GRS05 Grease (White) - 5 g x 1

D DUCO AXIAL

D DUCO AXIAL



142 www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

for MERITOR caliper systems

Elsa 2

Caliper Cover Bolt KitSTM1267 Ball Bearing Set
 

STM1269

ELSA 1 C LISA D LISA C LISA D LISA

Caliper Pin Boot Repair Kit
SJ4053 

STM1260 Caliper Brake Lining Plate
SJ4117

STM1266

Setfren No Description Pcs

M339 Pin Boot x 2

Setfren No Description Pcs

M173 Cover Bolt - M14 x 1.5 / 90 mm x 7

Setfren No Description Pcs

M133 Ball Bearing x 3

 C LISA D LISA



143www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

Caliper Mechanism Repair Kit - L
 

STM1270

CCaliper Mechanism Repair Kit - RSTM1271

Setfren No Description Pcs

M112 Adjusting Mechanism - L x 1

M312 Pignon x 1

M423 Spring x 1

M455 Wavy Washer x 2

M382 Ring x 2

M398 Seal x 2

DX 175

Setfren No Description Pcs

M115 Adjusting Mechanism - R x 1

M312 Pignon x 1

M423 Spring x 1

M455 Wavy Washer x 2

M382 Ring x 2

M398 Seal x 2

DX 175



144 www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

for MERITOR caliper systems

Caliper Mechanism Repair Kit - LSTM1272

Caliper Mechanism Repair Kit - R

 

STM1273

Setfren No Description Pcs

M112 Adjusting Mechanism - L x 1

M312 Pignon x 1

M423 Spring x 1

M455 Wavy Washer x 2

M382 Ring x 2

M398 Seal x 2

M196 Caliper Mechanism Central Fork x 1

M198 Caliper Mechanism Pignon x 1

M258 End Plate Bolt - M10 x 1.5 / 25 mm x 6

M257 End Plate Bolt - M10 x 1.5 / 20 mm x 2

M368 Plug Bolt x 1

M449 Washer x 1

Setfren No Description Pcs

M115 Adjusting Mechanism - R x 1

M312 Pignon x 1

M423 Spring x 1

M455 Wavy Washer x 2

M382 Ring x 2

M398 Seal x 2

M196 Caliper Mechanism Central Fork x 1

M198 Caliper Mechanism Pignon x 1

M258 End Plate Bolt - M10 x 1.5 / 25 mm x 6

M257 End Plate Bolt - M10 x 1.5 / 20 mm x 2

M368 Plug Bolt x 1

M449 Washer x 1

DX 175

DX 175



145www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

Caliper Complete Repair Kit - LSTM1274

Caliper Complete Repair Kit - R

 

STM1276

D LISA

D LISA

Setfren No Description Pcs

STM1141 Caliper Pin Repair Kit x 1

STM1086 Spline Shaft Mechanism Set - L x 1

STM1084 Adjusting Mechanism - L x 1

STM1098 Adjusting Gear - L x 1

STM1092 Bearings Set x 1

M393 Bevel Seal - Ø 40 x 57 / 6 mm x 1

M392 Seal - Ø 39 x 52 / 5.5 mm x 1

M402 Shield - Ø 42 x 56 / 6 mm x 1

M130 Adjusting O-ring x 1

M102 Adjusting Boot x 1

M432 Tappet Boot x 1

M269 Gasket x 1

STM1266 Brake Lining Plate x 1

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

STM1141 Caliper Pin Repair Kit x 1

STM1087 Spline Shaft Mechanism Set - R x 1

STM1085 Adjusting Mechanism - R x 1

STM1097 Adjusting Gear - R x 1

STM1092 Bearings Set x 1

M393 Bevel Seal - Ø 40 x 57 / 6 mm x 1

M392 Seal - Ø 39 x 52 / 5.5 mm x 1

M402 Shield - Ø 42 x 56 / 6 mm x 1

M130 Adjusting O-ring x 1

M102 Adjusting Boot x 1

M432 Tappet Boot x 1

M269 Gasket x 1

STM1266 Brake Lining Plate x 1

GRS05 Grease (White) - 5 g x 1



146 www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

for MERITOR caliper systems

Setfren No Description Pcs

STM1160 Spline Shaft Cover Set x 1

STM1102 Spline Shaft / Front - L - ( 26 Teeth ) x 1

STM1107 Bearing House - L x 1

STM1100 Adjusting Gear - L x 1

STM1222 Clutch System (Big) - L x 1

STM1220 Clutch System (Small) - L x 1

M154 Bush - Ø 50 x 55 / 20 mm x 1

M147 Boot Plastic x 1

STM1162 Ball Bearing x 1

STM1163 Thrust Bearing x 1

STM1165 Wavy Washer x 1

D3

Setfren No Description Pcs

STM1160 Spline Shaft Cover Set x 1

STM1101 Spline Shaft / Front - R - ( 26 Teeth ) x 1

STM1108 Bearing House - R x 1

STM1099 Adjusting Gear - R x 1

STM1221 Clutch System (Big) - R x 1

STM1219 Clutch System (Small) - R x 1

M154 Bush - Ø 50 x 55 / 20 mm x 1

M147 Boot Plastic x 1

STM1162 Ball Bearing x 1

STM1163 Thrust Bearing x 1

STM1165 Wavy Washer x 1

Caliper Repair Kit - Front - RSTM1278

Caliper Repair Kit - Front - L STM1277

D3



147www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

Caliper Seal SetSTM1279

D3 D3

Caliper Circlip SetSTM1280

STM1283 Caliper Adjusting Gear Spring

Setfren No Description Pcs

M395 Seal x 10

Caliper Calibration Ring SetSTM1281

Setfren No Description Pcs

M159 Calibration Ring x 10

Caliper Cover Bolt Kit
MCK1139

STM1284

ELSA 1 D3

Setfren No Description Pcs

M317 Cover Bolt - M16 x 1.5 / 55 mm x 4

Setfren No Description Pcs

M239 Circlip x 10

Setfren No Description Pcs

M147 Boot Plastic x 1

M154 Bush - Ø 50 x 55 / 20 mm x 1

M395 Seal x 1

M239 Circlip x 1

Caliper Seal & Bush SetSTM1282

D3

D3

Elsa 1



148 www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

for MERITOR caliper systems

Caliper Repair Kit - Front - LSTM1285

Caliper Repair Kit - Front - RSTM1228

D3

D3

Setfren No Description Pcs

STM1160 Spline Shaft Cover Set x 1

STM1104 Spline Shaft / Front - L - ( 48 Teeth ) x 1

STM1107 Bearing House - L x 1

STM1100 Adjusting Gear - L x 1

STM1222 Clutch System (Big) - L x 1

STM1220 Clutch System (Small) - L x 1

M154 Bush - Ø 50 x 55 / 20 mm x 1

M147 Boot Plastic x 1

STM1162 Ball Bearing x 1

STM1163 Thrust Bearing x 1

STM1165 Wavy Washer x 1

Setfren No Description Pcs

STM1160 Spline Shaft Cover Set x 1

STM1103 Spline Shaft / Front - R - ( 48 Teeth ) x 1

STM1108 Bearing House - R x 1

STM1099 Adjusting Gear - R x 1

STM1221 Clutch System (Big) - R x 1

STM1219 Clutch System (Small) - R x 1

M154 Bush - Ø 50 x 55 / 20 mm x 1

M147 Boot Plastic x 1

STM1162 Ball Bearing x 1

STM1163 Thrust Bearing x 1

STM1165 Wavy Washer x 1



149www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

Caliper Repair Kit - Rear - LSTM1286
Setfren No Description Pcs

STM1160 Spline Shaft Cover Set x 1

STM1106 Spline Shaft / Rear - L x 1

STM1107 Bearing House - L x 1

STM1100 Adjusting Gear - L x 1

STM1222 Clutch System (Big) - L x 1

STM1220 Clutch System (Small) - L x 1

M154 Bush - Ø 50 x 55 / 20 mm x 1

M147 Boot Plastic x 1

STM1162 Ball Bearing x 1

STM1163 Thrust Bearing x 1

STM1165 Wavy Washer x 1

Setfren No Description Pcs

STM1160 Spline Shaft Cover Set x 1

STM1105 Spline Shaft / Rear - R x 1

STM1108 Bearing House - R x 1

STM1099 Adjusting Gear - R x 1

STM1221 Clutch System (Big) - R x 1

STM1219 Clutch System (Small) - R x 1

M154 Bush - Ø 50 x 55 / 20 mm x 1

M147 Boot Plastic x 1

STM1162 Ball Bearing x 1

STM1163 Thrust Bearing x 1

STM1165 Wavy Washer x 1

D3

D3

Caliper Repair Kit - Rear - RSTM1287

D3



150 www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

for MERITOR caliper systems

Caliper Lever - ( 48 Teeth )
68321502  

STM1288

D3 D3

Caliper Lever - ( 26 Teeth )
31932070

STM1289

STM1301 Brake Pad Retainer Repair Kit
SJ4022

D LISA

Caliper Pad Spring SetSTM1295

Caliper Pad Spring Set
MBA101

STM1302

Caliper Pad Spring SetSTM1298

D DUCOC DUCO

D LISA

D3



151www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

Caliper Complete Repair Kit - L STM1290

Caliper Complete Repair Kit- RSTM1291

C LISA

C LISA

Setfren No Description Pcs

STM1140 Caliper Pin Repair Kit x 1

STM1086 Spline Shaft Mechanism Set - L x 1

STM1084 Adjusting Mechanism - L x 1

STM1098 Adjusting Gear - L x 1

STM1092 Bearings Set x 1

M393 Bevel Seal - Ø 40 x 57 / 6 mm x 1

M392 Seal - Ø 39 x 52 / 5.5 mm x 1

M402 Shield - Ø 42 x 56 / 6 mm x 1

M130 Adjusting O-ring x 1

M102 Adjusting Boot x 1

M432 Tappet Boot x 1

M269 Gasket x 1

STM1183 Brake Lining Plate x 1

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

STM1140 Caliper Pin Repair Kit x 1

STM1087 Spline Shaft Mechanism Set - R x 1

STM1085 Adjusting Mechanism - R x 1

STM1097 Adjusting Gear - R x 1

STM1092 Bearings Set x 1

M393 Bevel Seal - Ø 40 x 57 / 6 mm x 1

M392 Seal - Ø 39 x 52 / 5.5 mm x 1

M402 Shield - Ø 42 x 56 / 6 mm x 1

M130 Adjusting O-ring x 1

M102 Adjusting Boot x 1

M432 Tappet Boot x 1

M269 Gasket x 1

STM1183 Brake Lining Plate x 1

GRS05 Grease (White) - 5 g x 1



152 www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

for MERITOR caliper systems

Caliper Complete Repair Kit - L 
(Without Lever)

STM1296

Caliper Complete Repair Kit - R
 (Without Lever) 

STM1297

C DUCO LE DUCO

C DUCO LE DUCO

Setfren No Description Pcs

STM1133 Caliper Pin Repair Kit x 1

STM1054 Adjusting Mechanism Set - R x 1

M127 Adjusting Mechanism x 1

STM1253 Tappet Anti Rotation Plate x 1

STM1157 Intermediate Gear & Spring Set x 1

STM1112 Caliper Bearing Set x 1

STM1185 Caliper Visual Indicator x 1

STM1169 Caliper Gasket Set x 1

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

STM1133 Caliper Pin Repair Kit x 1

STM1056 Adjusting Mechanism Set - L x 1

M128 Adjusting Mechanism x 1

STM1253 Tappet Anti Rotation Plate x 1

STM1157 Intermediate Gear & Spring Set x 1

STM1112 Caliper Bearing Set x 1

STM1185 Caliper Visual Indicator x 1

STM1169 Caliper Gasket Set x 1

GRS05 Grease (White) - 5 g x 1



153www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

Caliper Complete Repair Kit - L 
(Without Lever)

STM1299

Caliper Complete Repair Kit - R
(Without Lever)

STM1300

D DUCO AXIAL

D DUCO AXIAL

Setfren No Description Pcs

STM1133 Caliper Pin Repair Kit x 1

STM1056 Adjusting Mechanism Set - L x 1

M128 Adjusting Mechanism x 1

STM1158 Tappet Anti Rotation Plate x 1

STM1156 Intermediate Gear & Spring Set x 1

STM1112 Caliper Bearing Set x 1

STM1185 Caliper Visual Indicator x 1

STM1171 Caliper Gasket Set x 1

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

STM1133 Caliper Pin Repair Kit x 1

STM1054 Adjusting Mechanism Set - R x 1

M127 Adjusting Mechanism x 1

STM1158 Tappet Anti Rotation Plate x 1

STM1156 Intermediate Gear & Spring Set x 1

STM1112 Caliper Bearing Set x 1

STM1185 Caliper Visual Indicator x 1

STM1171 Caliper Gasket Set x 1

GRS05 Grease (White) - 5 g x 1



154 www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

for MERITOR caliper systems

Caliper Complete Repair Kit - Front - L
 

STM1304

Caliper Complete Repair Kit - Front - RSTM1305

D3

Setfren No Description Pcs

STM1146 Caliper Pin Repair Kit x 1

STM1160 Spline Shaft Cover Set x 1

STM1104 Spline Shaft / Front - L - ( 48 Teeth ) x 1

STM1107 Bearing House - L x 1

STM1100 Adjusting Gear - L x 1

STM1283 Adjusting Gear Spring x 1

STM1222 Clutch System (Big) - L x 1

STM1220 Clutch System (Small) - L x 1

M464 Spring Plate x 1

STM1162 Ball Bearing x 1

STM1163 Thrust Bearing x 1

STM1165 Wavy Washer x 1

STM1282 Seal & Bush Set x 1

M159 Calibration Ring x 1

STM1181 Brake Lining Plate x 1

STM1288 Caliper Lever - ( 48 Teeth ) x 1

GRS05 Grease (White) - 5 g x 2

Setfren No Description Pcs

STM1146 Caliper Pin Repair Kit x 1

STM1160 Spline Shaft Cover Set x 1

STM1103 Spline Shaft / Front - R - ( 48 Teeth ) x 1

STM1108 Bearing House - R x 1

STM1099 Adjusting Gear - R x 1

STM1283 Adjusting Gear Spring x 1

STM1221 Clutch System (Big) - R x 1

STM1219 Clutch System (Small) - R x 1

M464 Spring Plate x 1

STM1162 Ball Bearing x 1

STM1163 Thrust Bearing x 1

STM1165 Wavy Washer x 1

STM1282 Seal & Bush Set x 1

M159 Calibration Ring x 1

STM1181 Brake Lining Plate x 1

STM1288 Caliper Lever - ( 48 Teeth ) x 1

GRS05 Grease (White) - 5 g x 2

D3



155www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

Caliper Complete Repair Kit - Front - LSTM1306

Caliper Complete Repair Kit - Front - RSTM1307

D3

D3

Setfren No Description Pcs

STM1146 Caliper Pin Repair Kit x 1

STM1160 Spline Shaft Cover Set x 1

STM1102 Spline Shaft / Front - L - ( 26 Teeth ) x 1

STM1107 Bearing House - L x 1

STM1100 Adjusting Gear - L x 1

STM1283 Adjusting Gear Spring x 1

STM1222 Clutch System (Big) - L x 1

STM1220 Clutch System (Small) - L x 1

M464 Spring Plate x 1

STM1162 Ball Bearing x 1

STM1163 Thrust Bearing x 1

STM1165 Wavy Washer x 1

STM1282 Seal & Bush Set x 1

M159 Calibration Ring x 1

STM1181 Brake Lining Plate x 1

STM1289 Caliper Lever - ( 26 Teeth ) x 1

GRS05 Grease (White) - 5 g x 2

Setfren No Description Pcs

STM1146 Caliper Pin Repair Kit x 1

STM1160 Spline Shaft Cover Set x 1

STM1101 Spline Shaft / Front - R - ( 26 Teeth ) x 1

STM1108 Bearing House - R x 1

STM1099 Adjusting Gear - R x 1

STM1283 Adjusting Gear Spring x 1

STM1221 Clutch System (Big) - R x 1

STM1219 Clutch System (Small) - R x 1

M464 Spring Plate x 1

STM1162 Ball Bearing x 1

STM1163 Thrust Bearing x 1

STM1165 Wavy Washer x 1

STM1282 Seal & Bush Set x 1

M159 Calibration Ring x 1

STM1181 Brake Lining Plate x 1

STM1289 Caliper Lever - ( 26 Teeth ) x 1

GRS05 Grease (White) - 5 g x 2



156 www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

for MERITOR caliper systems

Caliper Complete Repair Kit - Rear - L
 

STM1308

Caliper Complete Repair Kit - Rear - R
 

STM1309

D3

D3

Setfren No Description Pcs

STM1146 Caliper Pin Repair Kit x 1

STM1160 Spline Shaft Cover Set x 1

STM1106 Spline Shaft / Rear - L x 1

STM1107 Bearing House - L x 1

STM1100 Adjusting Gear - L x 1

STM1283 Adjusting Gear Spring x 1

STM1222 Clutch System (Big) - L x 1

STM1220 Clutch System (Small) - L x 1

M464 Spring Plate x 1

STM1162 Ball Bearing x 1

STM1163 Thrust Bearing x 1

STM1165 Wavy Washer x 1

STM1282 Seal & Bush Set x 1

M159 Calibration Ring x 1

STM1181 Brake Lining Plate x 1

STM1289 Caliper Lever - ( 26 Teeth ) x 1

GRS05 Grease (White) - 5 g x 2

Setfren No Description Pcs

STM1146 Caliper Pin Repair Kit x 1

STM1160 Spline Shaft Cover Set x 1

STM1105 Spline Shaft / Rear - R x 1

STM1108 Bearing House - R x 1

STM1099 Adjusting Gear - R x 1

STM1283 Adjusting Gear Spring x 1

STM1221 Clutch System (Big) - R x 1

STM1219 Clutch System (Small) - R x 1

M464 Spring Plate x 1

STM1162 Ball Bearing x 1

STM1163 Thrust Bearing x 1

STM1165 Wavy Washer x 1

STM1282 Seal & Bush Set x 1

M159 Calibration Ring x 1

STM1181 Brake Lining Plate x 1

STM1289 Caliper Lever - ( 26 Teeth ) x 1

GRS05 Grease (White) - 5 g x 2



157www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

Caliper Spring Plate Set STM1303

D3

Caliper Pad Retainer Kit
68320550

STM1310

STM1313 Adjusting Mechanism Kit - R
MCK1210

ELSA 1 RADIAL

Setfren No Description Pcs

STM1074 Caliper Adjusting Mechanism x 1

M470 Adjusting Mechanism Clutch System - R x 1

M288 Lever Pin x 1

Setfren No Description Pcs

STM1074 Caliper Adjusting Mechanism x 1

M459 Adjusting Mechanism Clutch System - L x 1

M288 Lever Pin x 1

Setfren No Description Pcs

M464 Spring Plate x 10

Caliper Pad Retainer
MBA108

STM1311

Adjusting Mechanism Kit - L
MCK1209

STM1314

Caliper Pad Spring Set
MBA108

STM1312

ELSA 1 D3DX 225

D3

ELSA 1 RADIAL



158 www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

for MERITOR caliper systems

Caliper Gear Bush Set 35 mm
 

STM1315

Elsa 1

Caliper Gear Bush Set 37,5 mmSTM1316

STM1324 Caliper Lever

Elsa 195

Setfren No Description Pcs

M473 Lever x 1

M383 Roller Bearing x 1

Setfren No Description Pcs

M471 Caliper Gear Bush / 35 mm x 2

Adjusting Mechanism Kit - L
MCK1211

STM1317

Setfren No Description Pcs

STM1074 Caliper Adjusting Mechanism x 1

STM1078 Adjusting Mechanism Clutch System - L x 1

M288 Lever Pin x 1

Caliper Lever BearingSTM1325

Elsa 195 

Setfren No Description Pcs

M472 Caliper Gear Bush / 37.5 mm x 2

Adjusting Mechanism Kit
MCK1212

STM1318

Setfren No Description Pcs

STM1074 Caliper Adjusting Mechanism x 1

STM1081 Adjusting Mechanism Clutch System - R x 1

M288 Lever Pin x 1

Elsa 1 Elsa 1

Elsa 1



159www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

Bush for Mechanism CapSTM1327 Caliper Pad Spring Set
MBA112

STM1332

ELSA 2 ELSA 195 ELSA 225 Elsa 225

Caliper Lever - RSTM1320 Caliper Lever - LSTM1321

Setfren No Description Pcs

M775 Lever - L x 1

M583 Roller Bearing x 2

Setfren No Description Pcs

M474 Lever - R x 1

M383 Roller Bearing x 2

ELSA 1 RADIAL ELSA 1 RADIAL



160 www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

for MERITOR caliper systems

Caliper Complete Repair Kit - LSTM1322

Caliper Complete Repair Kit - R

 

STM1326

ELSA 1 RADIAL

ELSA 1 RADIAL

Setfren No Description Pcs

STM1070 Caliper Boot & Pin Repair Kit x 1

STM1061 Caliper Adjusting Gear Set / 35 mm - L x 1

STM1314 Adjusting Mechanism Kit - L x 1

M414 Spring - L x 1

M422 Spring Retainer x 1

STM1110 Needle Bearing Set x 1

STM1321 Caliper Lever - L x 1

STM1159 Locking Shim x 1

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

STM1070 Caliper Boot & Pin Repair Kit x 1

STM1060 Caliper Adjusting Gear Set / 35 mm - R x 1

STM1313 Adjusting Mechanism Kit - R x 1

M415 Spring - R x 1

M422 Spring Retainer x 1

STM1110 Needle Bearing Set x 1

STM1320 Caliper Lever - R x 1

STM1159 Locking Shim x 1

GRS05 Grease (White) - 5 g x 1



161www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

Caliper Complete Repair Kit - L
(Without Lever)

 

STM1328

Caliper Complete Repair Kit - R 
(Without Lever)

STM1329

Elsa 2

Elsa 2

Setfren No Description Pcs

STM1144 Caliper Pin Repair Kit x 1

M394 Caliper Actuator Seal x 1

STM1127 Caliper Tappet Boot Set x 1

STM1039 Caliper Adjusting Mechanism Set x 1

STM1045 Manuel Adjusting Gear - L x 1

STM1334 Rubber Cap Repair Kit x 1

STM1112 Caliper Bearing Set x 1

STM1109 Caliper Bearing Saddle Set x 1

STM1187 Caliper Visual Indicator x 1

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

STM1144 Caliper Pin Repair Kit x 1

M394 Caliper Actuator Seal x 1

STM1127 Caliper Tappet Boot Set x 1

STM1039 Caliper Adjusting Mechanism Set x 1

STM1046 Manuel Adjusting Gear - R x 1

STM1334 Rubber Cap Repair Kit x 1

STM1112 Caliper Bearing Set x 1

STM1109 Caliper Bearing Saddle Set x 1

STM1187 Caliper Visual Indicator x 1

GRS05 Grease (White) - 5 g x 1



162 www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

for MERITOR caliper systems

Caliper Complete Repair  Kit - L
 (Without Lever) 

STM1330

Caliper Complete Repair Kit - R
(Without Lever) 

STM1331

ELSA 2 RADIAL

ELSA 2 RADIAL

Setfren No Description Pcs

STM1145 Caliper Pin Repair Kit x 1

M394 Caliper Actuator Seal x 1

STM1127 Caliper Tappet Boot Set x 1

STM1029 Caliper Adjusting Mechanism Set x 1

STM1045 Manuel Adjusting Gear - L x 1

STM1334 Rubber Cap Repair Kit x 1

STM1111 Caliper Bearing Set x 1

STM1109 Caliper Bearing Saddle Set x 1

STM1187 Caliper Visual Indicator x 1

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

STM1145 Caliper Pin Repair Kit x 1

M394 Caliper Actuator Seal x 1

STM1127 Caliper Tappet Boot Set x 1

STM1029 Caliper Adjusting Mechanism Set x 1

STM1046 Manuel Adjusting Gear - R x 1

STM1334 Rubber Cap Repair Kit x 1

STM1111 Caliper Bearing Set x 1

STM1109 Caliper Bearing Saddle Set x 1

STM1187 Caliper Visual Indicator x 1

GRS05 Grease (White) - 5 g x 1



163www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

Caliper Complete Repair KitSTM1333

Setfren No Description Pcs

STM1137 Caliper Pin Repair Kit x 1

STM1053 Caliper Actuator Seal x 1

STM1127 Caliper Tappet Boot Set x 1

STM1041 Caliper Adjusting Mechanism Set x 1

STM1047 Manuel Adjusting Gear x 1

STM1334 Rubber Cap Repair Kit x 1

STM1110 Needle Bearing Set x 1

STM1324 Caliper Lever x 1

STM1109 Caliper Bearing Saddle Set x 1

STM1186 Caliper Visual Indicator x 1

GRS05 Grease (White) - 5 g x 1

ELSA 225



164 www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

for MERITOR caliper systems

SN6… SN7… SK7…
SB6… SB7…

Caliper Pin Repair Kit
MCK1323 

STM1323

Adjusting Mechanism Caps & Seals Kit
68322300PK10  

STM1319

STM1334

Setfren No Description Pcs

M220 Caliper Pin - Ø 35 / 117 mm x 1

M212 Caliper Pin - Ø 31 / 78 mm x 1

M320 Pin Bolt - M18 x 1.5 / 120 mm x 1

M323 Pin Bolt - M18 x 1.5 / 80 mm x 1

M308 Oval Bush - Ø 31-33 x 42 / 30 mm x 1

M384 Round Bush - Ø 35 x 39 / 30 mm x 2

M373 Ring - Ø 37 x 39 / 10 mm x 2

M352 Pin Cap - Ø 44 / 17 mm x 2

M142 Bolt - M16 x 1.5 / 40 mm x 4

M337 Pin Boot x 2

GRS05 Grease (White) - 5 g x 1

ELSA 195 ELSA 225

Elsa 1

ELSA 195 ELSA 225

Rubber Cap Repair Kit

Setfren No Description Pcs

M390 Rubber Cap x 1

M463 Rubber Cap Ring x 1

M401 Shaft Seal x 1

Setfren No Description Pcs

M461 Adjusting Mechanism Cap x 10

M462 Locking Ring x 10

M401 Shaft Seal x 10



165www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

Caliper Carrier 22,5”
MCK1297 - MCK1322 - 85109886 - 5001866384 

STM 5000

Caliper Carrier 22,5”
68323673 - 68323675 - 68323676 MAN 35.50307.5526

STK 5002

Caliper Carrier 19,5”
MCK1252 - DAF 883186

STK 5003

305 mm
250 mm

245 mm
350 mm

410 mm

305 mm

306 mm

250 mm

245 mm

350 mm

369 mm

370 mm

ELSA 225

D DUCO

ELSA 2 

ELSA 195

M20  x 2 mm

M18  x 1,5 mm

Caliper Carrier 22,5” 
68322778 - 1489072 - 3092253 

STK 5001

250 mm

245 mm
350 mm

370 mm

408.5 mm M20  x 2 mm

M20  x 2 mm

M18  x 1,5 mm

M18  x 1,5 mm

264 mm

211 mm

280 mm

310 mm

310 mm M18  x 1,5 mm

M18  x 1,5 mm



166 www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

for MERITOR caliper systems

Caliper Carrier 22,5”
BDA443 

STK 5004

Caliper Carrier 19,5”STK 5005

Caliper Carrier 19,5”
68323539 

STK 5006

D3 REAR

DX195 ROR Trailer Axle

C DUCO

280 mm

251 mm

272 mm

339 mm

351 mm

406 mm

M14  x 1,5 mm

M18  x 1,5 mm

M8 x 1,25 mm

247 mm

207 mm

244 mm

305 mm

338 mm
M16  x 2 mm

M16  x 1,5 mm

263,5 mm

217 mm

245 mm

349 mm

369 mm

410 mm

M20  x 2 mm



167www.setfren .com

M
ER

ITO
R

M
ER

IT
O

R

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

WABCO



168 www.setfren .com

W
A

B
C

O

W
A

B
C

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for WABCO caliper systems

Complete Mechanism Set - Long 
 (With Pin)

STW1001

Complete Mechanism Set Short
(With Pin)

 

STW1002

STW1003

Setfren No Description Pcs

STW1073 Caliper Adjusting Mechanism Set - Long (With Pin) x 1

STW1071 Shaft Housing x 1

PAN 19-1 - PAN 22-1

PAN 17

PAN 17

Complete Mechanism Set Short 
(With Groove)

Setfren No Description Pcs

STW1074 Caliper Adjusting Mechanism Set - Short 
(With Pin)

x 1

STW1072 Shaft Housing x 1

Setfren No Description Pcs

STW1075 Caliper Adjusting Mechanism Set - Short 
( With Groove )

x 1

STW1072 Shaft Housing x 1



169www.setfren .com

W
A

B
C

O

W
A

B
C

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for WABCO caliper systems

Setfren No Description Pcs

STW1075 Caliper Adjusting Mechanism Set - Short 
( With Groove )

x 1

STW1072 Shaft Housing x 1

Caliper Pin Repair KitSTW1006 Caliper Boot & Pin Cap SetSTW1007

Caliper Boot & Pin Repair Kit
SJ4053 

STW1004 Caliper Boot & Pin Cap Set STW1005

Setfren No Description Pcs

W215 Pin Cap - Ø 34 / 17 mm x 2

W227 Tappet Boot x 1

W208 Pin Boot x 2

Setfren No Description Pcs

W227 Tappet Boot x 1

W208 Pin Boot x 2

Setfren No Description Pcs

W215 Pin Cap - Ø 34 / 17 mm x 1

STW1008 Pin Cap - Ø 34 / 38 mm x 1

W227 Tappet Boot x 1

W208 Pin Boot x 2

Setfren No Description Pcs

W164 Caliper Pin - Ø 30 / 91 mm x 1

W163 Caliper Pin - Ø 30 / 77 mm x 1

W206 Pin Bolt - M16 x 1.5 / 90 mm x 1

W203 Pin Bolt - M16 x 1.5 / 70 mm x 1

W140 Caliper Head Bolt -  M10 x 1 / 40 mm x 8

PAN 17

PAN 17

PAN 17

PAN 17



170 www.setfren .com

W
A

B
C

O

W
A

B
C

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for WABCO caliper systems

Pin Cap - Ø 34 / 38 mmSTW1008 Calibration Bolt 91 mmSTW1009

STW1012 Caliper Lever

PAN 17 - PAN 19-1 - PAN 22-1
Setfren No Description Pcs

W199 Needle Bearing x 2

Calibration Bolt
( With Pin ) - 87 mm

STW1010

Needle Bearing SetSTW1013

Calibration Bolt
( With Groove ) - 87 mm

STW1011

PAN 19-1 - PAN 22-1PAN 17

PAN 17 PAN 17

PAN 17 - PAN 19-1 - PAN 22-1



171www.setfren .com

W
A

B
C

O

W
A

B
C

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for WABCO caliper systems

Adjusting Mechanism Washer & Spring SetSTW1014

Caliper Pin Repair Kit
12 999 729VT 

STW1015

STW1016

Setfren No Description Pcs

W106 Adjusting Spring x 1

W109 Bevel Washer x 1

W238 Washer x 1

W114 Bottom Washer x 1

W187 Locker Ring x 1

W177 Clips x 1

1000 V-G

PAN 17

Caliper Complete Repair Kit - R 
(With Pin)

Setfren No Description Pcs

W243 Caliper Pin - Ø 24,6 / 81 mm x 2

W244 Caliper Pin - Ø 25 / 81 mm x 2

W245 Pin Bolt - M12 x 1.5 / 90 mm x 4

W246 Pin Bush - Ø 25 x 28 / 15 mm x 8

W247 Pin Cap - Ø 28 / 16 mm x 4

W248 Piston Boot x 2

W249 Pin Boot x 4

W250 Seal x 2

W251 O-ring x 2

W252 Rubber Cap x 2

W253 Bolt x 2

W254 Spring x 2

GRS05 Grease (White) - 5 g x 2

Setfren No Description Pcs

STW1043 Caliper Boot & Pin Repair Kit x 1

STW1058 Brake Lining Plate (With Groove) - R x 1

STW1002 Complete Mechanism Set - Short 
(With Pin)

x 1

STW1013 Needle Bearing Set x 1

STW1012 Caliper Lever x 1

STW1051 Caliper Head Gasket Set x 1

W140 Caliper Head Bolt -  M10 x 1 / 40 mm x 8

GRS05 Grease (White) - 5 g x 1

PAN 17 - PAN 19-1 - PAN 22-1



172 www.setfren .com

W
A

B
C

O

W
A

B
C

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for WABCO caliper systems

SN6… SN7… SK7…
SB6… SB7…

Caliper Complete Repair Kit - L
(With Pin)

STW1017

Caliper Complete Repair  Kit - R
(With Groove)

STW1018

STW1019

Setfren No Description Pcs

STW1043 Caliper Boot & Pin Repair Kit x 1

STW1059 Brake Lining Plate (With Groove) - L x 1

STW1002 Complete Mechanism Set - Short (With 
Pin)

x 1

STW1013 Needle Bearing Set x 1

STW1012 Caliper Lever x 1

STW1051 Caliper Head Gasket Set x 1

W140 Caliper Head Bolt -  M10 x 1 / 40 mm x 8

GRS05 Grease (White) - 5 g x 1

PAN 17

PAN 17

PAN 17

Caliper Complete Repair Kit - L
(With Groove)

Setfren No Description Pcs

STW1043 Caliper Boot & Pin Repair Kit x 1

STW1060 Brake Lining Plate (With Pin) - R x 1

STW1003 Complete Mechanism Set - Short (With 
Groove)

x 1

STW1013 Needle Bearing Set x 1

STW1012 Caliper Lever x 1

STW1051 Caliper Head Gasket Set x 1

W140 Caliper Head Bolt -  M10 x 1 / 40 mm x 8

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

STW1043 Caliper Boot & Pin Repair Kit x 1

STW1061 Brake Lining Plate (With Pin) - L x 1

STW1003 Complete Mechanism Set - Short (With 
Groove)

x 1

STW1013 Needle Bearing Set x 1

STW1012 Caliper Lever x 1

STW1051 Caliper Head Gasket Set x 1

W140 Caliper Head Bolt -  M10 x 1 / 40 mm x 8

GRS05 Grease (White) - 5 g x 1



173www.setfren .com

W
A

B
C

O

W
A

B
C

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for WABCO caliper systems

Caliper Complete Repair Kit - RSTW1021

Caliper Complete Repair Kit - LSTW1028

PAN 19-1 - PAN 22-1

PAN 19-1 - PAN 22-1

Setfren No Description Pcs

STW1022 Caliper Boot & Pin Repair Kit x 1

STW1056 Brake Lining Plate (With Groove) - R x 1

STW1001 Complete Mechanism Set - Long  (With 
Pin)

x 1

STW1013 Needle Bearing Set x 1

STW1012 Caliper Lever x 1

STW1051 Caliper Head Gasket Set x 1

W140 Caliper Head Bolt -  M10 x 1 / 40 mm x 8

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

STW1022 Caliper Boot & Pin Repair Kit x 1

STW1057 Brake Lining Plate (With Groove) - L x 1

STW1001 Complete Mechanism Set - Long  (With 
Pin)

x 1

STW1013 Needle Bearing Set x 1

STW1012 Caliper Lever x 1

STW1051 Caliper Head Gasket Set x 1

W140 Caliper Head Bolt -  M10 x 1 / 40 mm x 8

GRS05 Grease (White) - 5 g x 1



174 www.setfren .com

W
A

B
C

O

W
A

B
C

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for WABCO caliper systems

Caliper Boot & Pin
12 999 738VT 

STW1020

Caliper Boot & Pin Repair Kit
12 999 776VT 
 

STW1022

STW1023

PAN 19-1 - PAN 22-1

PAN 19-1 PLUS - PAN 22-1

PAN 19-1 PLUS - PAN 22-1

Caliper Boot & Pin Repair Kit

Setfren No Description Pcs

W167 Caliper Pin - Ø 38 / 118 mm x 1

W170 Caliper Pin - Ø 37.7 / 76 mm x 1

W201 Pin Bolt - M16 x 1.5 / 120 mm x 1

W204 Pin Bolt - M16 x 1.5 / 80 mm x 1

W213 Pin Bush - Ø 38 x 42 / 30 mm x 3

W218 Pin Cap - Ø 42 / 28 mm x 2

W217 Pin Cap - Ø 42 / 17 mm x 2

W228 Tappet Boot x 1

W207 Pin Boot (White) x 2

W209 Pin Boot (Green) x 2

W240 Washer x 4

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

W167 Caliper Pin - Ø 38 / 118 mm x 1

W170 Caliper Pin - Ø 37.7 / 76 mm x 1

W201 Pin Bolt - M16 x 1.5 / 120 mm x 1

W204 Pin Bolt - M16 x 1.5 / 80 mm x 1

W213 Pin Bush - Ø 38 x 42 / 30 mm x 3

W218 Pin Cap - Ø 42 / 28 mm x 1

W217 Pin Cap - Ø 42 / 17 mm x 1

W228 Tappet Boot x 1

W209 Pin Boot (Green) x 2

W240 Washer x 2

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

W167 Caliper Pin - Ø 38 / 118 mm x 1

W170 Caliper Pin - Ø 37.7 / 76 mm x 1

W213 Pin Bush - Ø 38 x 42 / 30 mm x 3

W218 Pin Cap - Ø 42 / 28 mm x 1

W217 Pin Cap - Ø 42 / 17 mm x 1

W228 Tappet Boot x 1

W209 Pin Boot (Green) x 2

W240 Washer x 2

GRS05 Grease (White) - 5 g x 1



175www.setfren .com

W
A

B
C

O

W
A

B
C

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for WABCO caliper systems

Caliper Boot & Pin
 

STW1024

Caliper Complete Repair  Kit - R
(Without Lever)
12 999 746VT 

STW1025

Setfren No Description Pcs

W167 Caliper Pin - Ø 38 / 118 mm x 1

W170 Caliper Pin - Ø 37.7 / 76 mm x 1

W201 Pin Bolt - M16 x 1.5 / 120 mm x 1

W204 Pin Bolt - M16 x 1.5 / 80 mm x 1

W213 Pin Bush - Ø 38 x 42 / 30 mm x 3

W218 Pin Cap - Ø 42 / 28 mm x 1

W217 Pin Cap - Ø 42 / 17 mm x 1

W228 Tappet Boot x 1

W207 Pin Boot (White) x 2

W240 Washer x 2

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

STW1027 Caliper Tappet & Boot Set x 1

W167 Caliper Pin - Ø 38 / 118 mm x 1

W170 Caliper Pin - Ø 37.7 / 76 mm x 1

W201 Pin Bolt - M16 x 1.5 / 120 mm x 1

W204 Pin Bolt - M16 x 1.5 / 80 mm x 1

W218 Pin Cap - Ø 42 / 28 mm x 1

W217 Pin Cap - Ø 42 / 17 mm x 1

W213 Pin Bush - Ø 38 x 42 / 30 mm x 3

W207 Pin Boot (White) x 2

W240 Washer x 2

W141 Caliper Head Cap x 2

GRS05 Grease (White) - 5 g x 1

PAN 19-1 PAN 22-1

19.5 - 22.5 Double



176 www.setfren .com

W
A

B
C

O

W
A

B
C

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for WABCO caliper systems

SN6… SN7… SK7…
SB6… SB7…

Caliper Tappet & Boot SetSTW1026

Caliper Tappet SetSTW1027

STW1029

Setfren No Description Pcs

STW1027 Caliper Tappet & Boot Set x 1

W207 Pin Boot (White) x 2

W240 Washer x 2

Caliper Boot & Pin Bush Repair K

Setfren No Description Pcs

W230 Tappet x 2

W220 Ring x 2

W229 Tappet Boot x 2

Setfren No Description Pcs

W213 Pin Bush - Ø 38 x 42 / 30 mm x 3

W218 Pin Cap - Ø 42 / 28 mm x 1

W217 Pin Cap - Ø 42 / 17 mm x 1

W228 Tappet Boot x 1

W209 Pin Boot (Green) x 2

W240 Washer x 2

PAN 19-2

PAN 19-2

PAN 19-1 PLUS PAN 22-1



177www.setfren .com

W
A

B
C

O

W
A

B
C

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for WABCO caliper systems

Caliper Complete Repair Kit - RSTW1030

Caliper Complete Repair Kit - LSTW1031

Setfren No Description Pcs

STW1020 Caliper Boot & Pin Repair Kit x 1

STW1054 Brake Lining Plate (With Groove) - R x 1

STW1001 Complete Mechanism Set - Long  (With 
Pin)

x 1

STW1013 Needle Bearing Set x 1

STW1012 Caliper Lever x 1

STW1051 Caliper Head Gasket Set x 1

W140 Caliper Head Bolt -  M10 x 1 / 40 mm x 8

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

STW1020 Caliper Boot & Pin Repair Kit x 1

STW1055 Brake Lining Plate (With Groove) - L x 1

STW1001 Complete Mechanism Set - Long 
(With Pin)

x 1

STW1013 Needle Bearing Set x 1

STW1012 Caliper Lever x 1

STW1051 Caliper Head Gasket Set x 1

W140 Caliper Head Bolt -  M10 x 1 / 40 mm x 8

GRS05 Grease (White) - 5 g x 1

PAN 19-1 - PAN 22-1

PAN 19-1 - PAN 22-1



178 www.setfren .com

W
A

B
C

O

W
A

B
C

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for WABCO caliper systems

SN6… SN7… SK7…
SB6… SB7…

Caliper Boot SetSTW1032

Caliper Pin & Boot SetSTW1033

STW1034 Caliper Pin Repair Kit
12 999 678VT

PAN 19-1 PLUS - PAN 22-1 - MAXX 22

19.5 - 22.5 Double

PAN 22-2

Setfren No Description Pcs

W167 Caliper Pin - Ø 38 / 118 mm x 1

W170 Caliper Pin - Ø 37.7 / 76 mm x 1

W201 Pin Bolt - M16 x 1.5 / 120 mm x 1

W204 Pin Bolt - M16 x 1.5 / 80 mm x 1

STW1027 Caliper Tappet & Boot Set x 1

W207 Pin Boot (White) x 2

W240 Washer x 2

W141 Caliper Head Cap x 2

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

W168 Caliper Pin - Ø 38 / 128 mm x 1

W169 Caliper Pin - Ø 37.7 / 70 mm x 1

W202 Pin Bolt - M16 x 1.5 / 130 mm x 1

W204 Pin Bolt - M16 x 1.5 / 80 mm x 1

W213 Pin Bush - Ø 38 x 42 / 30 mm x 3

W207 Pin Boot (White) x 2

W240 Washer x 2

W217 Pin Cap - Ø 42 / 17 mm x 1

W219 Ring - Ø 42 x 57 x 11 mm x 1

W200 Pin Bellow Cap x 1

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

W228 Tappet Boot x 1

W209 Pin Boot (Green) x 2

W240 Washer x 2



179www.setfren .com

W
A

B
C

O

W
A

B
C

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for WABCO caliper systems

Needle Bearing SetSTW1036

STW1115 Caliper Mechanism Gear Set - L 

Setfren No Description Pcs

W154 Caliper Mechanism Gear - L x 2

Setfren No Description Pcs

W167 Caliper Pin - Ø 38 / 118 mm x 1

W170 Caliper Pin - Ø 37.7 / 76 mm x 1

W201 Pin Bolt - M16 x 1.5 / 120 mm x 1

W204 Pin Bolt - M16 x 1.5 / 80 mm x 1

W140 Caliper Head Bolt -  M10 x 1 / 40 mm x 8

Caliper Pin & Bolt SetSTW1035

PAN 19-1 PAN 22-1

PAN 19-2

PAN 22-2

Setfren No Description Pcs

W161 Needle Bearing x 2

Caliper Mechanism Gear 
Set - R  

STW1038

PAN 19-2

Setfren No Description Pcs

W155 Caliper Mechanism Gear - R x 2

Needle Bearing SetSTW1037

PAN 22-2

Setfren No Description Pcs

W160 Needle Bearing x 2

Caliper LeverSTW1041

PAN 19-2



180 www.setfren .com

W
A

B
C

O

W
A

B
C

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for WABCO caliper systems

Caliper Lever Mechanism 
Repair Kit

STW1042 Caliper Lever PinSTW1048

Caliper Mechanism Pin SetSTW1039 Caliper Mechanism
Repair Set

STW1040

PAN 19-2

PAN 19-2 PAN 19-2 - PAN 22-2

PAN 19-2



181www.setfren .com

W
A

B
C

O

W
A

B
C

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for WABCO caliper systems

SN6… SN7… SK7…
SB6… SB7…

Caliper Boot & Pin Repair Kit
12 999 699VT - 12 999 702VT

STW1043

Caliper Boot & Pin Bolt Repair Kit
12 999 704VT 

STW1044

STW1045 Caliper Boot & Bolt Set
12 999 580VT 

PAN 17

PAN 17

PAN 17

Setfren No Description Pcs

W164 Caliper Pin - Ø 30 / 91 mm x 1

W163 Caliper Pin - Ø 30 / 77 mm x 1

W206 Pin Bolt - M16 x 1.5 / 90 mm x 1

W203 Pin Bolt - M16 x 1.5 / 70 mm x 1

W211 Pin Bush - Ø 30 x 34 / 20 mm x 2

W212 Pin Bush - Ø 30 x 34 / 25 mm x 1

W215 Pin Cap - Ø 34 / 17 mm x 2

W227 Tappet Boot x 1

W208 Pin Boot x 2

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

STW1044 Caliper Boot & Pin Bolt Repair Kit x 1

STW1051 Caliper Head Gasket Set x 1

W140 Caliper Head Bolt -  M10 x 1 / 40 mm x 8

Setfren No Description Pcs

W206 Pin Bolt - M16 x 1.5 / 90 mm x 1

W203 Pin Bolt - M16 x 1.5 / 70 mm x 1

W211 Pin Bush - Ø 30 x 34 / 20 mm x 2

W212 Pin Bush - Ø 30 x 34 / 25 mm x 1

W215 Pin Cap - Ø 34 / 17 mm x 2

W227 Tappet Boot x 1

W208 Pin Boot x 2



182 www.setfren .com

W
A

B
C

O

W
A

B
C

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for WABCO caliper systems

Caliper Pad Retainer KitSTW1049 Adjusting Mechanism
Shield Set

STW1053

Caliper Boot & Pin Bush SetSTW1046 Caliper Boot SetSTW1047

Setfren No Description Pcs

W190 Mechanism Shield x 5

Setfren No Description Pcs

W211 Pin Bush - Ø 30 x 34 / 20 mm x 2

W212 Pin Bush - Ø 30 x 34 / 25 mm x 1

W215 Pin Cap - Ø 34 / 17 mm x 2

W227 Tappet Boot x 1

W208 Pin Boot x 2

Setfren No Description Pcs

W227 Tappet Boot x 1

W208 Pin Boot x 2

MAXX 22

PAN 17 PAN 17

PAN 19-2



183www.setfren .com

W
A

B
C

O

W
A

B
C

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for WABCO caliper systems

Caliper Complete Repair KitSTW1050

Setfren No Description Pcs

STW1025 Caliper Boot & Pin Repair Kit x 1

STW1063 Caliper Shaft Housing Set x 1

STW1117 Caliper Head Gasket Set x 1

STW1037 Needle Bearing Set x 1

STW1036 Needle Bearing Set x 1

STW1040 Caliper Mechanism Repair Set x 1

STW1114 Caliper Lever with Mechanism x 1

STW1116 Caliper Bearing Saddle x 1

GRS05 Grease (White) - 5 g x 1

Caliper Head Gasket SetSTW1051

Setfren No Description Pcs

W144 Caliper Head Gasket x 1

W146 Caliper Head Seal x 1

W141 Caliper Head Cap x 1

W147 Caliper Head Seal x 1

PAN 17 - PAN 19-1 - PAN 22-1

PAN 19-2

19.5 “ / 22.5”

STW1052 Caliper Complete Repair Kit

Setfren No Description Pcs

STW1034 Caliper Pin Repair Kit x 1

STW1027 Caliper Tappet & Boot Set x 1

STW1063 Caliper Shaft Housing Set x 1

STW1117 Caliper Head Gasket Set x 1

STW1037 Needle Bearing Set x 1

STW1036 Needle Bearing Set x 1

STW1040 Caliper Mechanism Repair Set x 1

STW1114 Caliper Lever with Mechanism x 1

STW1116 Caliper Bearing Saddle x 1

GRS05 Grease (White) - 5 g x 1

PAN 22-2



184 www.setfren .com

W
A

B
C

O

W
A

B
C

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for WABCO caliper systems

Brake Lining Plate 
(With Groove) - R

STW1056 Brake Lining Plate
(With Groove) - L

STW1057

Brake Lining Plate
(With Groove) - R

STW1054 Brake Lining Plate
(With Groove) - L

STW1055

PAN 19-1 - PAN 22-1 - MAXX 22T PAN 19-1 - PAN 22-1 - MAXX 22T

PAN 19-1 PAN 22-1 PAN 19-1 PAN 22-1



185www.setfren .com

W
A

B
C

O

W
A

B
C

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for WABCO caliper systems

Brake Lining Plate
(With Pin) - R

STW1060 Brake Lining Plate
(With Pin) - L

STW1061

Brake Lining Plate
(With Groove) - R

STW1058 Brake Lining Plate
(With Groove) - L

STW1059

PAN 17 PAN 17

PAN 17 PAN 17



186 www.setfren .com

W
A

B
C

O

W
A

B
C

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for WABCO caliper systems

SN6… SN7… SK7…
SB6… SB7…

Calibration Bolt Seal SetSTW1062

Caliper Shaft Housing SetSTW1063

STW1064

Setfren No Description Pcs

W128 Calibration Bolt Seal x 5

MAXX 22

PAN 19-2

1300 V-G

Caliper Pin Repair Kit
12 999 551VT

Setfren No Description Pcs

W173 Caliper Shaft Housing x 1

W138 Caliper Calibration Bolt - R x 1

W137 Caliper Calibration Bolt - L x 1

W226 Spring x 2

Setfren No Description Pcs

W260 Caliper Pin - Ø 35 / 110 mm x 1

W261 Caliper Pin - Ø 34,8 / 85 mm x 1

W262 Pin Bolt - M16 x 1.5 / 110 mm x 2

W263 Pin Bush - Ø 35 x 39 / 20 mm x 3

W217 Pin Cap - Ø 42 / 17 mm x 2

W264 Pin Boot x 2

GRS05 Grease (White) - 5 g x 2



187www.setfren .com

W
A

B
C

O

W
A

B
C

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for WABCO caliper systems

“1000 V-G 1600 V-G”

Caliper Boot Repair KitSTW1065 Caliper Calibration 
Bolt Set - R

STW1066

STW1072 Shaft Housing

Caliper Calibration
Bolt Set - L

STW1067

Caliper Lever Gear SetSTW1119 

Shaft HousingSTW1071

Setfren No Description Pcs

W269 Piston Boot x 1

W264 Pin Boot x 2

Setfren No Description Pcs

W148 Caliper Lever Gear x 2

Setfren No Description Pcs

W138 Caliper Calibration Bolt - R x 1

W126 Calibration Bolt Locking Plate x 1

W127 Calibration Bolt Ring x 1

Setfren No Description Pcs

W137 Caliper Calibration Bolt - L x 1

W126 Calibration Bolt Locking Plate x 1

W127 Calibration Bolt Ring x 1

PAN 19-2 - PAN 22-2

PAN 19 PAN 22

PAN 19-2

PAN 19-2

PAN 17

1300 V-G



188 www.setfren .com

W
A

B
C

O

W
A

B
C

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for WABCO caliper systems

SN6… SN7… SK7…
SB6… SB7…

Caliper Boot & Seal Repair Kit
12 999 552VT

STW1068

Caliper Seal & Bearing Set

 

STW1069

STW1070

Setfren No Description Pcs

W269 Piston Boot x 1

W264 Pin Boot x 2

W270 Spline Shaft Cover x 1

W271 Spline Shaft Seal x 1

W272 Bevel Seal x 1

W273 Plate Bolt x 1

W274 Plate Spring x 1

W268 Plug x 1

Caliper Brake Lining Plate Set

Setfren No Description Pcs

W270 Spline Shaft Cover x 1

W271 Spline Shaft Seal x 1

W272 Bevel Seal x 1

W276 Washer x 1

W277 Thrust Washer x 2

W278 Thrust Bearing x 1

W279 Clips x 1

Setfren No Description Pcs

W275 Brake Lining Plate x 1

W273 Plate Bolt x 1

W274 Plate Spring x 1

1300 V-G

1300 V-G

1300 V-G



189www.setfren .com

W
A

B
C

O

W
A

B
C

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for WABCO caliper systems

SN6… SN7… SK7…
SB6… SB7…

Caliper Adjusting Mechanism  Set
 Long (With Pin)

STW1073

Caliper Adjusting Mechanism Set
Short (With Pin)
 

STW1074

STW1075

Setfren No Description Pcs

STW1014 Mechanism Washer & Spring Set x 1

W192 Mechanism Slot - 115 mm x 1

STW1009 Calibration Bolt - 91 mm x 1

W231 Torsion Spring Ring (Thick) x 1

W232 Torsion Spring Ring (Thin) x 1

W236 Torsion Spring x 1

Caliper Adjusting Mechanism Set 
Short ( With Groove )

Setfren No Description Pcs

STW1014 Mechanism Washer & Spring Set x 1

W191 Mechanism Slot - 110 mm x 1

STW1010 Bolt - ( With Pin ) - 87 mm x 1

W231 Torsion Spring Ring ( Thick ) x 1

W232 Torsion Spring Ring ( Thin ) x 1

W236 Torsion Spring x 1

Setfren No Description Pcs

STW1014 Mechanism Washer & Spring Set x 1

W191 Mechanism Slot - 110 mm x 1

STW1011 Bolt - ( With Groove ) - 87 mm x 1

W231 Torsion Spring Ring (Thick) x 1

W232 Torsion Spring Ring (Thin) x 1

W236 Torsion Spring x 1

PAN 19-1 - PAN 22-1

PAN 17

PAN 17



190 www.setfren .com

W
A

B
C

O

W
A

B
C

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for WABCO caliper systems

Caliper Boot & Pin Repair Kit
12 999 677VT

STW1080 Caliper Boot & Pin Bush 
Repair Kit 

STW1081

Caliper Piston Repair Kit - LSTW1076 Caliper Piston Repair Kit - RSTW1078

Setfren No Description Pcs

W257 Piston - L x 1

W269 Piston Boot x 1

W267 Cover Bolt - M12 x 1.5 / 50 mm x 4

W273 Plate Bolt x 1

W274 Plate Spring x 1

W259 Socket Pin x 1

W265 Socket Spring x 1

W266 Socket Plug x 1

Setfren No Description Pcs

W258 Piston - R x 1

W269 Piston Boot x 1

W267 Cover Bolt - M12 x 1.5 / 50 mm x 4

W273 Plate Bolt x 1

W274 Plate Spring x 1

W259 Socket Pin x 1

W265 Socket Spring x 1

W266 Socket Plug x 1

Setfren No Description Pcs

STW1027 Piston - R x 1

W202 Piston Boot x 1

W204 Cover Bolt - M12 x 1.5 / 50 mm x 1

W207 Plate Bolt x 1

W240 Plate Spring x 3

W217 Socket Pin x 2

W219 Socket Spring x 2

W200 Socket Plug x 1

Setfren No Description Pcs

STW1027 Pin Bush - Ø 38 x 42 / 30 mm x 1

W202 Pin Cap - Ø 42 / 28 mm x 1

W204 Pin Cap - Ø 42 / 17 mm x 1

W207 Tappet Boot x 1

W240 Pin Boot (White) x 3

W217 Pin Boot (Green) x 2

W219 Washer x 2

1300 V-G 1300 V-G

PAN 22-2 PAN 19-1 PAN 22-1



191www.setfren .com

W
A

B
C

O

W
A

B
C

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for WABCO caliper systems

Brake Caliper Repair SetSTW1077

Caliper Repair KitSTW1079

PAN 19-1 - PAN 22-1

PAN 19-1 - PAN 22-1

Setfren No Description Pcs

STW1073 Caliper Adjusting Mechanism Set - Long 
(With Pin)

x 1

W167 Caliper Pin - Ø 38 / 118 mm x 1

W170 Caliper Pin - Ø 37.7 / 76 mm x 1

W201 Pin Bolt - M16 x 1.5 / 120 mm x 1

W204 Pin Bolt - M16 x 1.5 / 80 mm x 1

W213 Pin Bush - Ø 38 x 42 / 30 mm x 3

W218 Pin Cap - Ø 42 / 28 mm x 1

W217 Pin Cap - Ø 42 / 17 mm x 1

W228 Tappet Boot x 1

W209 Pin Boot (Green) x 2

W240 Washer x 2

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

STW1073 Caliper Adjusting Mechanism Set - Long 
(With Pin) 

x 1

W167 Caliper Pin - Ø 38 / 118 mm x 1

W170 Caliper Pin - Ø 37.7 / 76 mm x 1

W201 Pin Bolt - M16 x 1.5 / 120 mm x 1

W204 Pin Bolt - M16 x 1.5 / 80 mm x 1

W213 Pin Bush - Ø 38 x 42 / 30 mm x 3

W218 Pin Cap - Ø 42 / 28 mm x 2

W217 Pin Cap - Ø 42 / 17 mm x 2

W228 Tappet Boot x 1

W207 Pin Boot (White) x 2

W209 Pin Boot (Green) x 2

W240 Washer x 4

GRS05 Grease (White) - 5 g x 1



192 www.setfren .com

W
A

B
C

O

W
A

B
C

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for WABCO caliper systems

Brake Caliper Repair KitSTW1082

Brake Caliper Repair KitSTW1083

Setfren No Description Pcs

STW1074 Caliper Adjusting Mechanism Set - Short 
(With Pin)

x 1

W164 Caliper Pin - Ø 30 / 91 mm x 1

W163 Caliper Pin - Ø 30 / 77 mm x 1

W206 Pin Bolt - M16 x 1.5 / 90 mm x 1

W203 Pin Bolt - M16 x 1.5 / 70 mm x 1

W211 Pin Bush - Ø 30 x 34 / 20 mm x 2

W212 Pin Bush - Ø 30 x 34 / 25 mm x 1

W215 Pin Cap - Ø 34 / 17 mm x 2

W227 Tappet Boot x 1

W208 Pin Boot x 2

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

STW1075 Caliper Adjusting Mechanism Set - Short ( 
With Groove )

x 1

W164 Caliper Pin - Ø 30 / 91 mm x 1

W163 Caliper Pin - Ø 30 / 77 mm x 1

W206 Pin Bolt - M16 x 1.5 / 90 mm x 1

W203 Pin Bolt - M16 x 1.5 / 70 mm x 1

W211 Pin Bush - Ø 30 x 34 / 20 mm x 2

W212 Pin Bush - Ø 30 x 34 / 25 mm x 1

W215 Pin Cap - Ø 34 / 17 mm x 2

W227 Tappet Boot x 1

W208 Pin Boot x 2

GRS05 Grease (White) - 5 g x 1

PAN 19-1 - PAN 22-1

PAN 19-1 - PAN 22-1



193www.setfren .com

W
A

B
C

O

W
A

B
C

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for WABCO caliper systems

Caliper Complete Repair Kit - LSTW1085

STW1086 Caliper Complete Repair Kit - R

Setfren No Description Pcs

STW1105 Caliper Boot & Pin Repair Kit x 1

STW1110 Brake Lining Plate - L x 1

STW1095 Complete Mechanism Set x 1

STW1099 Needle Bearing Set x 1

STW1097 Caliper Lever x 1

STW1102 Caliper Cover Set x 1

STW1100 Manuel Adjuster Repair Kit x 1

GRS05 Grease (White) - 5 g x 1

Setfren No Description Pcs

STW1105 Caliper Boot & Pin Repair Kit x 1

STW1109 Brake Lining Plate - R x 1

STW1095 Complete Mechanism Set x 1

STW1099 Needle Bearing Set x 1

STW1097 Caliper Lever x 1

STW1102 Caliper Cover Set x 1

STW1100 Manuel Adjuster Repair Kit x 1

GRS05 Grease (White) - 5 g x 1

Caliper Calibration BoltSTW1084

MAXX 22

MAXX 22

MAXX 22



194 www.setfren .com

W
A

B
C

O

W
A

B
C

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for WABCO caliper systems

Caliper Spline Shaft Mechanism Set - LSTW1087

Caliper Spline Shaft Mechanism Set -RSTW1088

Setfren No Description Pcs

W255 Spline Shaft Mechanism - L x 1

W269 Piston Boot x 1

W267 Cover Bolt - M12 x 1.5 / 50 mm x 4

W270 Spline Shaft Cover x 1

W271 Spline Shaft Seal x 1

W272 Bevel Seal x 1

W276 Washer x 1

W277 Thrust Washer x 2

W278 Thrust Bearing x 1

W279 Clips x 1

W268 Plug x 1

Setfren No Description Pcs

W256 Spline Shaft Mechanism - R x 1

W269 Piston Boot x 1

W267 Cover Bolt - M12 x 1.5 / 50 mm x 4

W270 Spline Shaft Cover x 1

W271 Spline Shaft Seal x 1

W272 Bevel Seal x 1

W276 Washer x 1

W277 Thrust Washer x 2

W278 Thrust Bearing x 1

W279 Clips x 1

W268 Plug x 1

1300 V-G

1300 V-G



195www.setfren .com

W
A

B
C

O

W
A

B
C

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for WABCO caliper systems

Caliper Complete Repair Kit - LSTW1089

Caliper Complete Repair Kit - RSTW1092

Setfren No Description Pcs

STW1064 Caliper Pin Repair Kit x 1

STW1087 Caliper Spline Shaft Mechanism Set - L x 1

W257 Piston - L x 1

STW1070 Brake Lining Plate Set x 1

W259 Socket Pin x 1

W265 Socket Spring x 1

W266 Socket Plug x 1

Setfren No Description Pcs

STW1064 Caliper Pin Repair Kit x 1

STW1088 Caliper Spline Shaft Mechanism Set - R x 1

W258 Piston - R x 1

STW1070 Brake Lining Plate Set x 1

W259 Socket Pin x 1

W265 Socket Spring x 1

W266 Socket Plug x 1

1300 V-G

1300 V-G



196 www.setfren .com

W
A

B
C

O

W
A

B
C

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for WABCO caliper systems

Caliper LeverSTW1094

MAXX 22T

MAXX 22T

1300 V-G

Caliper Tappet Boot & Cap
640 175 920 2

STW1090 Caliper Complete
Mechanism Set

STW1091

PAN 19-1 PLUS - PAN 22-1 - MAXX 22T

Caliper LeverSTW1093

Setfren No Description Pcs

W186 Lever x 1

W221 Roller Bearing x 2

Setfren No Description Pcs

STW1121 Adjusting Mechanism Set x 1

W222 Shaft Housing x 1

Setfren No Description Pcs

W228  Tappet Boot x 1

W146 Caliper Head Seal x 1

W141 Caliper Head Cap x 1

1300 V-G



197www.setfren .com

W
A

B
C

O

W
A

B
C

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for WABCO caliper systems

Caliper LeverSTW1097

Caliper Bearing SetSTW1098

Caliper Complete
Mechanism Set

STW1095 Caliper Adjusting
Mechanism Set

STW1096

Setfren No Description Pcs

STW1096 Adjusting Mechanism Set x 1

STW1118 Shaft Housing x 1

Setfren No Description Pcs

STW1104 Adjusting Mechanism Washer Set x 1

W193 Mechanism Slot x 1

STW1084 Calibration Bolt x 1

W233 Torsion Spring Ring (Thick) x 1

W234 Torsion Spring Ring (Thin) x 1

W237 Torsion Spring x 1

W189 Mechanism Gear x 1

W190 Mechanism Shield x 1

W128 Calibration Bolt Seal x 1

Setfren No Description Pcs

W162 Needle Bearing x 2

W185 Lever Bearing x 2

W221 Roller Bearing x 2

Setfren No Description Pcs

W241 Lever x 1

W221 Roller Bearing x 2

MAXX 22

MAXX 22

MAXX 22

MAXX 22



198 www.setfren .com

W
A

B
C

O

W
A

B
C

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for WABCO caliper systems

Needle Bearing SetSTW1099 STW110t0

STW1103 Caliper Pad Retainer Kit

Setfren No Description Pcs

W162 Needle Bearing x 2

Wear Sensor Repair Kit 
(MAN Type)

STW1101

Adjusting Mechanism
Washer Set

STW1104

Caliper Cover SetSTW1102

Setfren No Description Pcs

W108 Bevel Washer (Small) x 3

W107 Bevel Washer (Big) x 1

W239 Washer x 1

W176 Clips (Small) x 1

W175 Clips (Big) x 1

Caliper Manuel Adjuster 
Repair Kit
640 322 927 2

Setfren No Description Pcs

W101 Adjuster Shaft x 1

W100 Adjuster Gear x 1

W184 Head Seal x 1

W141 Caliper Head Cap x 1

Setfren No Description Pcs

W242 Cover x 1

W182 Cover Seal x 1

W113 Bolt - M8 x 1.25 / 16 mm x 6

MAXX 22

MAXX 22

MAXX 22

MAXX 22

MAXX 22

MAXX 22



199www.setfren .com

W
A

B
C

O

W
A

B
C

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for WABCO caliper systems

Caliper Boot & Pin Repair Kit
640 322 926 2

STW1105

Brake Pad Retainer Set

 

STW1106

Setfren No Description Pcs

W167 Caliper Pin - Ø 38 / 118 mm x 1

W170 Caliper Pin - Ø 37.7 / 76 mm x 1

W201 Pin Bolt - M16 x 1.5 / 120 mm x 1

W204 Pin Bolt - M16 x 1.5 / 80 mm x 1

W214 Pin Bush - Ø 42 x 38 / 35 mm x 3

W217 Pin Cap - Ø 42 / 17 mm x 2

Setfren No Description Pcs

W228 Tappet Boot x 1

W209 Pin Boot (Green) x 2

W240 Washer x 2

W141 Caliper Head Cap x 1

GRS05 Grease (White) - 5 g x 2

MAXX 22

PAN 19-1 - PAN 22-1

STW1107 Brake Pad Retainer Set

PAN 19-1 - PAN 22-1



200 www.setfren .com

W
A

B
C

O

W
A

B
C

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for WABCO caliper systems

Brake Pad Retainer SetSTW1108 Brake Lining Plate - RSTW1109

STW1112 Caliper Calibration Bolt

Setfren No Description Pcs

W182 Cover Seal x 5

Brake Lining Plate - LSTW1110

Caliper Lever
With Mechanism

STW1114

Caliper Cover Seal SetSTW1111

PAN 17

MAXX 22

MAXX 22T

MAXX 22

MAXX 22

MAXX 22

Setfren No Description Pcs

STW1041 Caliper Lever x 1

STW1042 Caliper Lever Mechanism Repair Kit x 1



201www.setfren .com

W
A

B
C

O

W
A

B
C

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for WABCO caliper systems

Caliper Lever
With Mechanism

STW1113

Caliper Bearing SaddleSTW1116

Setfren No Description Pcs

W214 Pin Bush - Ø 42 x 38 / 35 mm x 3

W217 Pin Cap - Ø 42 / 17 mm x 2

W228 Tappet Boot x 1

W209 Pin Boot  (Green) x 2

W240 Washer x 2

W241 Caliper Head Cap x 1

GRS05 Grease (White) - 5 g x 1

Caliper Shaft HousingSTW1118

MAXX 22

Caliper Head Gasket SetSTW1117

Setfren No Description Pcs

W167 Caliper Pin - Ø 38 / 118 mm x 1

W170 Caliper Pin - Ø 37.7 / 76 mm x 1

W201 Pin Bolt - M16 x 1.5 / 120 mm x 1

W204 Pin Bolt - M16 x 1.5 / 80 mm x 1

W214 Pin Bush - Ø 42 x 38 / 35 mm x 3

W217 Pin Cap - Ø 42 / 17 mm x 2

PAN 19-2

PAN 19-2

PAN 19-2



202 www.setfren .com

W
A

B
C

O

W
A

B
C

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for WABCO caliper systems

Caliper Boot & Pin
Repair Kit

STW1122  

Caliper Cover SetSTW1123 Caliper Tappet Boot & Cap
640 322 932 2

STW1120

Setfren No Description Pcs

W228 Tappet Boot x 1

W141 Caliper Head Cap x 1

Setfren No Description Pcs

W183 Cover x 1

W113 Bolt - M8 x 1.25 / 16 mm x 1

Setfren No Description Pcs

W166 Caliper Pin - Ø 38 / 118 mm x 1

W165 Caliper Pin - Ø 37.7 / 76 mm x 1

W205 Pin Bolt - M16 x 1.5 / 80 mm x 2

W213 Pin Bush - Ø 38 x 42 / 30 mm x 3

W217 Pin Cap - Ø 42 / 17 mm x 2

W228 Tappet Boot x 1

W210 Pin Boot x 2

W141 Caliper Head Cap x 1

GRS05 Grease (White) - 5 g x 2

MAXX 22T

MAXX 22TMAXX 22T



203www.setfren .com

W
A

B
C

O

W
A

B
C

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for WABCO caliper systems

Caliper Complete Repair Kit- RSTW1124

Setfren No Description Pcs

STW1122 Caliper Boot & Pin Repair Kit x 1

STW1123 Caliper Cover Set x 1

STW1091 Caliper Complete Mechanism Set x 1

STW1093 Caliper Lever x 1

STW1112 Caliper Calibration Bolt x 1

STW1099 Needle Bearing Set x 1

STW1109 Brake Lining Plate - R x 1

MAXX 22 T



204 www.setfren .com

W
A

B
C

O

W
A

B
C

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for WABCO caliper systems

Caliper Complete Repair Kit- LSTW1125

Setfren No Description Pcs

STW1122 Caliper Boot & Pin Repair Kit x 1

STW1123 Caliper Cover Set x 1

STW1091 Caliper Complete Mechanism Set x 1

STW1093 Caliper Lever x 1

STW1112 Caliper Calibration Bolt x 1

STW1099 Needle Bearing Set x 1

STW1110 Brake Lining Plate - L x 1

MAXX 22 T



205www.setfren .com

W
A

B
C

O

W
A

B
C

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for WABCO caliper systems

Caliper Carrier RightSTW 5003

263 mm

210 mm

378 mm

400 mm

22.5”

22.5”

M16 x 1,5 mm

263 mm

210 mm

378 mm

400 mm
M16 x 1,5 mm

Caliper Carrier Left STW 5000

Caliper Carrier LeftSTW 5002

213 mm

228 mm

350 mm

410 mm

213 mm

17.5”

17.5”

M14  x 1,5 mm

Caliper Carrier RightSTW 5001

228 mm

288 mm

310 mm
M14 x 1,5 mm



206 www.setfren .com

W
A

B
C

O

W
A

B
C

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for WABCO caliper systems

Caliper Carrier LeftSTW 5004

Caliper Carrier LeftSTW 5006

Caliper Carrier RightSTW 5007

263 mm

211 mm

216 mm
316,5 mm

280 mm

218 mm

220 mm

380 mm

408 mm

SAF Trailer Axle - 4 Hole 22,5”

SAF Trailer Axle - 4 Hole 22,5”

22,5” MAXX 22

22,5” MAXX 22

M20  x 2 mm

Caliper Carrier Right STW 5005

263 mm

211 mm

216 mm
316,5 mm

M18 x 1,5 mm

M18 x 1,5 mm

280 mm

218 mm

220 mm

380 mm

408 mm M18 x 1,5 mm

22,5”



207www.setfren .com

W
A

B
C

O

W
A

B
C

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for WABCO caliper systems

Caliper Carrier Left / Right STW 5008
263 mm
211 mm

176 mm
341 mm

360 mm
M16 x 1,5 mm SAF Trailer Axle 22,5” 



208 www.setfren .com

H
A

LD
EX H

A
LD

EX

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for HALDEX caliper systems



209www.setfren .com

H
A

LD
EX H

A
LD

EX

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for HALDEX caliper systems

Caliper Complete Mechanism Set STS1002

Caliper Pin Repair Kit
87406 

STS1001

Setfren No Description Pcs

S165 Caliper Pin - Ø 35 / 69 mm x 4

S209 Pin Bolt - M14 x 2 / 60 mm  x 4

S212 Pin Boot  x 8

S217 Plastic Bush  x 4

S225 Ring  x 8

S231 Steel Cap  x 4

Setfren No Description Pcs

S219 Plug - (Mk III)  x 2

S204 O-ring - (Mk II)  x 2

S218 Plug - (Mk II)  x 2

S102 Bolt - (Mk II)  x 2

GRS05 Grease (White) - 5 g  x 2

Setfren No Description Pcs

S234 Tappet Boot - 67 mm  x 2

S228 Spring - 67 mm  x 2

STS1060 Caliper Tappet & Calibration Bolt Set  x 1

STS1087 Caliper Adjusting Mechanism  x 1

STS1089 Caliper Adjusting Mechanism Gear  x 1

STS1088 Caliper Intermediate Gear  x 1

STS1090 Caliper Manuel Adjusting Gear  x 1

STS1094 Needle Bearing Set  x 1

STS1093 Needle Bearing Set  x 1

STS1007 Caliper Shaft Housing  x 1

STS1095 Caliper Mechanism Plate  x 1

STS1096 Caliper Mechanism Clamp  x 1

STS1091 Caliper Lever  x 1

STS1092 Caliper Lever Pin  x 1

STS1086 Caliper Mechanism Cap  x 1

STS1050 Caliper Adjuster Shaft Set  x 1

MARK II - III

GEN 2



210 www.setfren .com

H
A

LD
EX H

A
LD

EX

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for HALDEX caliper systems

Setfren No Description Pcs

S163 Caliper Pin - Ø 35 / 64 mm  x 4

S207 Pin Bolt - M14 x 2 / 42 mm  x 4

S214 Pin Cap - Ø 42 / 28 mm  x 2

S230 Steel Cap  x 4

S212 Pin Boot  x 6

S217 Plastic Bush  x 4

S219 Plug - (Mk III)  x 1

GRS05 Grease (White) - 5 g  x 2

Setfren No Description Pcs

S214 Pin Cap - Ø 42 / 28 mm  x 2

S230 Steel Cap  x 4

S212 Pin Boot  x 2

S217 Plastic Bush  x 1

S219 Plug - (Mk III)  x 1

Setfren No Description Pcs

S214 Pin Cap - Ø 42 / 28 mm  x 2

S230 Steel Cap  x 4

S212 Pin Boot  x 2

S217 Plastic Bush  x 1

S219 Plug - (Mk III)  x 1

SN6… SN7… SK7…
SB6… SB7…

Caliper Pin Repair Kit
91012 

STS1003

Caliper Pin Boot & Cap Set
91013 

STS1004

STS1005 Caliper Pin Boot & Cap Set
91014 

GEN 1

GEN 1 - GEN 2

GEN 1 - GEN 2



211www.setfren .com

H
A

LD
EX H

A
LD

EX

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for HALDEX caliper systems

SN6… SN7… SK7…
SB6… SB7…

Caliper Boot Set
91011 

STS1006

Caliper Shaft Housing SetSTS1007

STS1008 Caliper Pin Repair Kit
89541

GEN 1 - GEN 2

GEN 2

MARK III - IV

Setfren No Description Pcs

S234 Tappet Boot - 67 mm  x 2

S228 Spring - 67 mm  x 2

S195 Clips  x 2

S219 Plug - (Mk III)  x 1

Setfren No Description Pcs

S178 Caliper Shaft Housing  x 1

S237 Caliper Spring  x 1

S174 Caliper Ring  x 1

S194 Caliper Wavy Washer  x 1

S192 Caliper Washer  x 1

Setfren No Description Pcs

S214 Pin Cap - Ø 42 / 28 mm  x 2

S230 Steel Cap  x 4

S212 Pin Boot  x 2

S217 Plastic Bush  x 1

S219 Plug - (Mk III)  x 1

S230 Steel Cap  x 4

S212 Pin Boot  x 2

S217 Plastic Bush  x 1

S219 Plug - (Mk III)  x 1

S230 Steel Cap  x 4

S212 Pin Boot  x 2

S217 Plastic Bush  x 1

S219 Plug - (Mk III)  x 1



212 www.setfren .com

H
A

LD
EX H

A
LD

EX

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for HALDEX caliper systems

SN6… SN7… SK7…
SB6… SB7…

Caliper Pin Bolt Repair Kit
94661 

STS1010

Caliper Calibration Bolt
89927

STS1009

Setfren No Description Pcs

S216 Pin Cap - Ø 57 / 40 mm - (Mk IV)  x 2

MARK IV

MARK II - III - IV

MARK II - III - IV

Setfren No Description Pcs

S212 Pin Boot  x 8

S225 Ring  x 8

S217 Plastic Bush  x 4

S231 Steel Cap  x 4

S209 Pin Bolt - M14 x 2 / 60 mm  x 4

S208 Pin Bolt - M14 x 2 / 53 mm  x 4

S216 Pin Cap - Ø 57 / 40 mm - (Mk IV)  x 2

S219 Plug - (Mk III)  x 2

S204 O-ring - (Mk II)  x 2

S218 Plug - (Mk II)  x 2

S102 Bolt - (Mk II)  x 2

STS1011 Caliper Pin Boot & Plug Set
87680

Setfren No Description Pcs

S212 Pin Boot  x 8

S217 Plastic Bush  x 4

S225 Ring  x 8

S231 Steel Cap  x 4

S216 Pin Cap - Ø 57 / 40 mm - (Mk IV)  x 2

S219 Plug - (Mk III)  x 2

S204 O-ring - (Mk II)  x 2

S218 Plug - (Mk II)  x 2

S102 Bolt - (Mk II)  x 2

MARK II - III - IV



213www.setfren .com

H
A

LD
EX H

A
LD

EX

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for HALDEX caliper systems

SN6… SN7… SK7…
SB6… SB7…

Caliper Pin Boot & Plug Set
89723 

STS1012

Caliper Tappet & Calibration Bolt SetSTS1013

STS1014 Caliper Boot & Plug Set
87405

MARK II - III - IV

MARK III

MARK II - III

Setfren No Description Pcs

S212 Pin Boot  x 2

S217 Plastic Bush  x 1

S225 Ring  x 2

S231 Steel Cap  x 4

S216 Pin Cap - Ø 57 / 40 mm - (Mk IV)  x 2

S219 Plug - (Mk III)  x 2

S204 O-ring - (Mk II)  x 2

S218 Plug - (Mk II)  x 2

S102 Bolt - (Mk II)  x 2

Setfren No Description Pcs

S232 Tappet & Calibration Bolt - L  x 1

S233 Tappet & Calibration Bolt - R  x 1

Setfren No Description Pcs

S235 Tappet Boot - 78.5 mm  x 2

S229 Spring - 78.5 mm  x 2

S195 Clips  x 2

S219 Plug - (Mk III)  x 2

S204 O-ring - (Mk II)  x 2

S218 Plug - (Mk II)  x 2

S102 Bolt - (Mk II)  x 2



214 www.setfren .com

H
A

LD
EX H

A
LD

EX

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for HALDEX caliper systems

SN6… SN7… SK7…
SB6… SB7…

Caliper Boot & Plug Set
94663 

STS1015

Caliper Plug Set
87408

STS1016

STS1017 Caliper Plug Set
89925

MARK II - III

MARK II - III

MARK III

Setfren No Description Pcs

S235 Tappet Boot - 78.5 mm  x 2

S195 Clips  x 2

S227 Seal  x 2

S219 Plug - (Mk III)  x 2

S204 O-ring - (Mk II)  x 2

S218 Plug - (Mk II)  x 2

S102 Bolt - (Mk II)  x 2

Setfren No Description Pcs

S219 Plug - (Mk III)  x 2

S204 O-ring - (Mk II)  x 2

S218 Plug - (Mk II)  x 2

S102 Bolt - (Mk II)  x 2

Setfren No Description Pcs

S219 Plug - (Mk III)  x 2

S227 Seal  x 2

S103 Bolt - M10 x 1,5 / 25 mm  x 1



215www.setfren .com

H
A

LD
EX H

A
LD

EX

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for HALDEX caliper systems

Caliper Shaft Housing SetSTS1018 Caliper Adjuster Shaft Set
90693

STS1019

STS1022 Caliper Pad Retainer Kit
90673  

Needle Bearing SetSTS1020

Caliper Tappet Plate & Bolt 
Set

STS1023

Caliper Cap Set
91019

STS1021

MARK III

MARK III

MARK III - IV - GEN 1 - GEN 2 MARK IV - GEN 1

MARK IV - GEN 1 - GEN 2

GEN 1 - GEN 2

Setfren No Description Pcs

S180 Caliper Shaft Housing  x 1

S183 Caliper Spring  x 1

S175 Caliper Ring  x 2

S193 Caliper Washer  x 2

Setfren No Description Pcs

S158 Caliper Pad Retainer  x 1

S103 Bolt - M10 x 1,5 / 25 mm  x 1

Setfren No Description Pcs

STS1077 Caliper Tappet Plate  x 1

STS1078 Caliper Calibration Bolt  x 2

Setfren No Description Pcs

S153 Needle Bearing  x 2 

Setfren No Description Pcs

S214 Pin Cap - Ø 42 / 28 mm  x 2 

Setfren No Description Pcs

S100 Adjuster Shaft  x 2

S227 Seal  x 2

S219 Plug - (Mk III)  x 2



216 www.setfren .com

H
A

LD
EX H

A
LD

EX

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for HALDEX caliper systems

Caliper Complete Mechanism SetSTS1024

CCaliper Pin Repair Kit
95397

STS1025

MODUL T

MODUL T

Setfren No Description Pcs

STS1097 Caliper Lever  x 1

STS1063 Caliper Bearing Set  x 1

STS1100 Needle Bearing Set  x 1

STS1098 Caliper Lever Housing  x 1

STS1101 Caliper Adjusting Shaft  x 1

STS1102 Caliper Shaft Housing  x 1

STS1103 Caliper Adjusting Mechanism  x 1

S201 Mechanism Locker  x 1

S101 Adjustment Screw Bellow  x 1

GRS05 Grease (White) - 5 g  x 2

Setfren No Description Pcs

S162 Caliper Pin - Ø 35 / 120 mm  x 1

S167 Caliper Pin - Ø 35,5 / 87 mm  x 1

S210 Pin Bolt - M16 x 1.5 / 80 mm  x 2

S226 Round Bush - Ø 35 x 39 / 30 mm  x 2

S104 Bush - Ø39.5 x 36 / 14.5 mm  x 1

S196 Composite Bush 35.7 x 35.4 x 87 mm  x 1

S211 Pin Boot  x 2

S224 Ring  x 2

S215 Pin Cap - Ø 45 / 22 mm  x 1

S213 Pin Cap - Ø 42 / 26 mm  x 1

S222 Reset Shaft Plug  x 1

GRS05 Grease (White) - 5 g  x 1



217www.setfren .com

H
A

LD
EX H

A
LD

EX

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for HALDEX caliper systems

SN6… SN7… SK7…
SB6… SB7…

Needle Bearing SetSTS1026

Caliper Mechanism Locker Plate SetSTS1027

STS1028 Caliper Complete Mechanism Set

MARK III

MARK III

MARK III

Setfren No Description Pcs

S154 Needle Bearing x 2

Setfren No Description Pcs

S200 Mechanism Locker Plate  x 2

S219 Plug - (Mk III)  x 1

Setfren No Description Pcs

S235 Tappet Boot - 78.5 mm  x 2

S229 Spring - 78.5 mm  x 2

STS1013 Caliper Tappet & Calibration Bolt Set  x 1

STS1066 Caliper Mechanism Cap  x 1

STS1071 Caliper Mechanism Clamp  x 1

STS1067 Caliper Adjusting Mechanism  x 1

STS1068 Caliper Calibration Gear - L  x 1

STS1069 Caliper Calibration Gear - R  x 1

STS1018 Caliper Shaft Housing Set  x 1

STS1020 Needle Bearing Set  x 1

STS1070 Caliper Lever  x 1

STS1026 Needle Bearing Set  x 1

STS1027 Caliper Mechanism Locker Plate Set  x 1



218 www.setfren .com

H
A

LD
EX H

A
LD

EX

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for HALDEX caliper systems

Caliper Complete Repair KitSTS1029

STS1031 Caliper Complete Repair Kit

MARK III

MARK IV

Setfren No Description Pcs

STS1001 Caliper Pin Repair Kit  x 1

STS1028 Caliper Complete Mechanism Set  x 1

STS1046 Caliper Pad Retainer Kit  x 1

Caliper Mechanism Locker Plate SetSTS1030

MARK IV

Setfren No Description Pcs

S199 Mechanism Locker Plate  x 1

S100 Adjuster Shaft  x 2

S227 Seal  x 2

Setfren No Description Pcs

STS1008 Caliper Pin Repair Kit  x 1

STS1043 Caliper Complete Mechanism Set  x 1

STS1046 Caliper Pad Retainer Kit  x 1



219www.setfren .com

H
A

LD
EX H

A
LD

EX

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for HALDEX caliper systems

SN6… SN7… SK7…
SB6… SB7…

Caliper Pin Repair Kit
93299 

STS1032

Caliper Mechanism Bearing SetSTS1033

STS1034 Caliper Mechanism Bearing House Set

GEN 2

MODUL T

MODUL T

Setfren No Description Pcs

S164 Caliper Pin - Ø 35 / 64 mm   x 4

S207 Pin Bolt - M14 x 2 / 42 mm  x 4

S214 Pin Cap - Ø 42 / 28 mm  x 2

S230 Steel Cap  x 2

S212 Pin Boot  x 6

S217 Plastic Bush  x 4

S219 Plug - (Mk III)  x 1

GRS05 Grease (White) - 5 g  x 2

Setfren No Description Pcs

S190 Caliper Thrust Bearing   x 2

S189 Caliper Thrust Bearing  x 1

S191 Caliper Vertical Bearing  x 1

Setfren No Description Pcs

S198 Caliper Mechanism Bearing House  x 5



220 www.setfren .com

H
A

LD
EX H

A
LD

EX

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for HALDEX caliper systems

Caliper Adjustment Screw 
Bellow Set

STS1035 Caliper Reset Shaft Plug SetSTS1036

STS1039 Caliper Reset Shaft Set

Setfren No Description Pcs

S101 Adjustment Screw Bellow  x 5

Setfren No Description Pcs

S221 Reset Shaft Gear x 5

Setfren No Description Pcs

S223 Reset Shaft x 5

Setfren No Description Pcs

S222 Reset Shaft Plug x 5

Setfren No Description Pcs

S201 Mechanism Locker x 5

Setfren No Description Pcs

S220 Protection Plug x 5

Caliper Reset Shaft Gear SetSTS1037

Caliper Protection Plug SetSTS1040

Caliper Mechanism Locker 
Set

STS1038

MODUL T

MODUL T

MODUL T

MODUL T

MODUL T

MODUL T



221www.setfren .com

H
A

LD
EX H

A
LD

EX

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for HALDEX caliper systems

Caliper Pin Bolt Repair Kit
94660  

STS1041

Caliper Pin Repair KitSTS1042

GEN 1 - GEN 2 

MARK III - IV

Setfren No Description Pcs

S207 Pin Bolt - M14 x 2 / 42 mm x 4

S208 Pin Bolt - M14 x 2 / 53 mm  x 4

S214 Pin Cap - Ø 42 / 28 mm  x 2

S230 Steel Cap  x 2

S212 Pin Boot  x 6

S217 Plastic Bush  x 4

S219 Plug - (Mk III)  x 1

GRS05 Grease (White) - 5 g  x 2

Setfren No Description Pcs

S166 Caliper Pin - Ø 35 / 70 mm  x 4

S208 Pin Bolt - M14 x 2 / 53 mm  x 4

S212 Pin Boot  x 8

S217 Plastic Bush  x 4

S225 Ring  x 8

S219 Plug - (Mk III)  x 2

GRS05 Grease (White) - 5 g  x 2



222 www.setfren .com

H
A

LD
EX H

A
LD

EX

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for HALDEX caliper systems

SN6… SN7… SK7…
SB6… SB7…

Caliper Complete Mechanism SetSTS1043

Caliper Reset Shaft KitSTS1044

STS1045 Caliper Pad Spring Kit
89924

MARK IV

MODUL T

MARK II - III - IV - GEN 1 - GEN 2

Setfren No Description Pcs

S223 Reset Shaft   x 1

S221 Reset Shaft Gear  x 1

S222 Reset Shaft Plug  x 1

Setfren No Description Pcs

S160 Caliper Pad Spring  x 2

Setfren No Description Pcs

STS1052 Caliper Boot Set  x 1

STS1023 Caliper Tappet Plate & Bolt Set  x 1

STS1072 Caliper Mechanism Cap  x 1

STS1080 Caliper Mechanism Clamp  x 1

STS1081 Caliper Adjusting Mechanism  x 1

STS1073 Caliper Adjusting Mechanism Gear  x 1

STS1083 Caliper Adjusting Mechanism Gear  x 1

STS1056 Caliper Shaft Housing Set  x 1

STS1088 Caliper Intermediate Gear  x 1

STS1057 Needle Bearing Set  x 1

STS1074 Caliper Lever  x 1

STS1075 Caliper Lever Pin  x 1

STS1076 Needle Bearing  x 1

STS1030 Caliper Mechanism Locker Plate Set  x 1



223www.setfren .com

H
A

LD
EX H

A
LD

EX

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for HALDEX caliper systems

Caliper Mechanism Seal Kit
95399 

STS1048 Caliper Boot SetSTS1049

MARK III - IV

Caliper Pad Retainer Kit
91216

STS1046 Caliper Reset Shaft Kit
95398 

STS1047

MARK III - IV - GEN 1 - GEN 2 MODUL T

MODUL T

Setfren No Description Pcs

STS1022 Caliper Pad Retainer Kit x 1

STS1045 Caliper Pad Spring Kit x 1

Setfren No Description Pcs

S223 Reset Shaft x 1

S222 Reset Shaft Plug x 1

Setfren No Description Pcs

S101 Adjustment Screw Bellow x 1

S222 Reset Shaft Plug x 2

Setfren No Description Pcs

S212 Pin Boot  x 8

S217 Plastic Bush  x 4

S225 Ring  x 8

S216 Pin Cap - Ø 57 / 40 mm - (Mk IV)  x 2

S219 Plug - (Mk III)  x 2



224 www.setfren .com

H
A

LD
EX H

A
LD

EX

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for HALDEX caliper systems

Setfren No Description Pcs

S234 Tappet Boot - 67 mm  x 2

STS1077 Caliper Tappet Plate  x 1

STS1078 Caliper Calibration Bolt  x 2

S219 Plug - (Mk III)  x 1

Caliper Boot Set
89794  

STS1052 Caliper Tappet Plate 
94664

STS1053

Caliper Adjuster Shaft Set
94892

STS1050 Caliper Pad Retainer Kit
94659

STS1051

GEN 1 - GEN 2

MARK IV - GEN 1 - GEN 2

MARK III - IV - GEN 1 - GEN 2

MARK IV - GEN 1

Setfren No Description Pcs

S100 Adjuster Shaft x 1

S227 Seal x 1

S219 Plug - (Mk III) x 1

Setfren No Description Pcs

S234 Tappet Boot - 67 mm  x 2

S228 Spring - 67 mm  x 2

S195 Clips  x 2

Setfren No Description Pcs

STS1022 Caliper Pad Retainer Kit  x 2

STS1045 Caliper Pad Spring Kit  x 2

S219 Plug - (Mk III)  x 2



225www.setfren .com

H
A

LD
EX H

A
LD

EX

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for HALDEX caliper systems

Caliper Shaft Housing SetSTS1056 Needle Bearing SetSTS1057

Caliper Spring Set
94665 

STS1054 Caliper Spring & Plate Set
92731 

STS1055

MARK IV - GEN 1

MARK IV - GEN 1

MARK IV - GEN 1

MARK IV - GEN 1

Setfren No Description Pcs

S228 Tappet Boot x 2

S195 Pin Boot (Green) x 2

Setfren No Description Pcs

S152 Needle Bearing x 2

Setfren No Description Pcs

S228 Adjusting Mechanism Set x 2

STS1077 Shaft Housing x 1

Setfren No Description Pcs

S179 Caliper Shaft Housing  x 1

S183 Caliper Spring  x 1

S174 Caliper Ring  x 1

S194 Caliper Wavy Washer  x 1

S192 Caliper Washer  x 1



226 www.setfren .com

H
A

LD
EX H

A
LD

EX

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for HALDEX caliper systems

Caliper Complete Mechanism SetSTS1058

Caliper Complete Repair Kit STS1059

GEN 1

GEN 1

Setfren No Description Pcs

S234 Tappet Boot - 67 mm  x 2

S228 Spring - 67 mm  x 2

STS1023 Caliper Tappet Plate & Bolt Set  x 1

STS1086 Caliper Mechanism Cap  x 1

STS1085 Caliper Mechanism Clamp  x 1

STS1081 Caliper Adjusting Mechanism  x 1

STS1082 Caliper Adjusting Mechanism Gear  x 1

STS1083 Caliper Adjusting Mechanism Gear  x 1

STS1056 Caliper Shaft Housing Set  x 1

STS1088 Caliper Intermediate Gear  x 1

STS1057 Needle Bearing Set  x 1

STS1074 Caliper Lever  x 1

STS1084 Caliper Lever Pin  x 1

STS1076 Needle Bearing  x 1

STS1050 Caliper Adjuster Shaft Set  x 1

Setfren No Description Pcs

STS1003 Caliper Pin Repair Kit    x 1

STS1058 Caliper Complete Mechanism Set  x 1

STS1046 Caliper Pad Retainer Kit  x 1



227www.setfren .com

H
A

LD
EX H

A
LD

EX

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for HALDEX caliper systems

Caliper Complete Repair KitSTS1061

GEN 2

GEN 2

Caliper Tappet & Calibration Bolt SetSTS1060

Setfren No Description Pcs

S186 Caliper Tappet & Calibration Bolt  x 2

Setfren No Description Pcs

STS1032 Caliper Pin Repair Kit x 1

STS1002 Caliper Complete Mechanism Set  x 1

STS1046 Caliper Pad Retainer Kit  x 1



228 www.setfren .com

H
A

LD
EX H

A
LD

EX

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for HALDEX caliper systems

SN6… SN7… SK7…
SB6… SB7…

Caliper Pad Retainer KitSTS1062

Caliper Bearing SetSTS1063

STS1064 Caliper Complete Repair Kit

MODUL T

MODUL T

MODUL T

Setfren No Description Pcs

S206 Pad Retainer  x 1

S205 Pad Retainer Spring  x 1

S220 Protection Plug  x 1

Setfren No Description Pcs

STS1099 Needle Bearing Set  x 1

S197 Lever Roller Bearing  x 2

Setfren No Description Pcs

STS1025 Caliper Pin Repair Kit  x 1

STS1024 Caliper Complete Mechanism Set  x 1

STS1044 Caliper Reset Shaft Kit  x 1

STS1062 Caliper Pad Retainer Kit  x 1



229www.setfren .com

H
A

LD
EX H

A
LD

EX

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for HALDEX caliper systems

Caliper Mechanism Protection 
Cap Set

STS1065 Caliper Mechanism CapSTS1066

STS1069 Caliper Calibration Gear - R

Setfren No Description Pcs

S202 Mechanism Protection Cap x 5

Caliper Adjusting MechanismSTS1067

Caliper LeverSTS1070

Caliper Calibration Gear - LSTS1068

MODUL T

MARK III

MARK III

MARK III

MARK III

MARK III



230 www.setfren .com

H
A

LD
EX H

A
LD

EX

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for HALDEX caliper systems

Caliper Mechanism ClampSTS1071 Caliper Mechanism CapSTS1072

STS1075 Caliper Lever Pin

Caliper Adjusting 
Mechanism Gear

STS1073

Needle Bearing
91216

STS1076

Caliper LeverSTS1074

MARK III MARK IV

MARK IV - GEN 1

MARK IV - GEN 1

MARK IV

MARK IV



231www.setfren .com

H
A

LD
EX H

A
LD

EX

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for HALDEX caliper systems

Caliper Tappet PlateSTS1077 Caliper Calibration BoltSTS1078

STS1081 Caliper Adjusting Mechanism

Caliper Calibration Bolt
(Without Flange)

STS1079

Caliper Adjusting
Mechanism Gear

STS1082

Caliper Mechanism ClampSTS1080

MARK IV - GEN 1

MARK IV - GEN 1

MARK IV 

MARK IV - GEN 1

GEN 1

MARK IV 



232 www.setfren .com

H
A

LD
EX H

A
LD

EX

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for HALDEX caliper systems

Caliper Adjusting Mechanism 
Gear

STS1083 Caliper Lever PinSTS1084

STS1087 Caliper Adjusting Mechanism

Caliper Mechanism ClampSTS1085

Caliper Intermediate GearSTS1088

Caliper Mechanism CapSTS1086

MARK IV - GEN 1 GEN 1

GEN 1 - GEN 2GEN 1

GEN 2 MARK IV - GEN 1 - GEN 2



233www.setfren .com

H
A

LD
EX H

A
LD

EX

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for HALDEX caliper systems

Caliper Adjusting Mechanism 
Gear

STS1089 Caliper Manuel Adjusting 
Gear

STS1090

STS1093 Needle Bearing Set

Caliper LeverSTS1091

Needle Bearing SetSTS1094

Caliper Lever PinSTS1092

GEN 2

GEN 2

GEN 2

GEN 2

GEN 2

GEN 2



234 www.setfren .com

H
A

LD
EX H

A
LD

EX

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for HALDEX caliper systems

Caliper Mechanism PlateSTS1095 Caliper Mechanism PlateSTS1096

STS1099 Needle Bearing Set

Caliper LeverSTS1097

Needle Bearing SetSTS1100

Caliper Lever HousingSTS1098

GEN 2

MODUL T

MODUL T

MODUL T

MODUL T

GEN 2



235www.setfren .com

H
A

LD
EX H

A
LD

EX

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for HALDEX caliper systems

Caliper AdjustingMechanismSTS1103 Caliper Boot Set
94662

STS1104

MAXX 22T

1300 V-G

Caliper Adjusting ShaftSTS1101 Caliper Shaft HousingSTS1102

PAN 19-1 PLUS PAN 22-1

Setfren No Description Pcs

S234 Tappet Boot - 67 mm  x 2

S236 Tappet Bush  x 2

S195 Clips  x 2

S219 Plug - (Mk III)  x 1

MODUL T



236 www.setfren .com

H
A

LD
EX H

A
LD

EX

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for HALDEX caliper systems

Caliper Pad Retainer
90673

STS 5000

286 mm

248 mm

MARK III - MARK IV 

MARK II - MARK III - MARK IV 

259 mm

211 mm

216 mm

316 mm
M18  x 1,5 mm

Caliper Pad Retainer
89924

STS 5001

210 mm

378 mm

400 mm
M16 x 1,5 mm



237www.setfren .com

H
A

LD
EX H

A
LD

EX

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for HALDEX caliper systems



238 www.setfren .com

IVEC
O

IV
EC

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for IVECO caliper systems

Brake Adjuster Kit

Brake Adjuster Repair Kit
12 999 418VT

STI1003 Brake Adjuster Repair Kit
12 999 403VT

STI1004

Brake Adjuster Repair KitSTI1001 STI1002

Ø 360 SIMPLEX

Ø 360 SIMPLEX

Ø 360 SIMPLEX

Ø 360 SIMPLEX

Setfren No Description Pcs

I114 Brake Adjusting Guide Pawl  x 2

I123 Brake Adjusting Plunger - Ø 41,50 x 49,00 mm  x 2

I106 Brake Adjusting Actuator Upper - Ø 36 x 21,50 mm  x 2

I104 Brake Adjusting Actuator Lower - Ø 32 x 18,30 mm  x 2

I109 Brake Adjusting Bolt  x 2

I126 Brake Adjusting Plunger Seal  x 2

I129 Brake Adjusting Washer  x 2

I128 Brake Adjusting Ring  x 2

GRS05 Grease (White) - 5 g  x 2

Setfren No Description Pcs

I109 Brake Adjusting Bolt  x 2

I126 Brake Adjusting Plunger Seal  x 2

I129 Brake Adjusting Washer  x 2

I128 Brake Adjusting Ring  x 2

GRS05 Grease (White) - 5 g  x 2

Setfren No Description Pcs

I123 Brake Adjusting Plunger - Ø 41,50 x 49,00 mm  x 1

I106 Brake Adjusting Actuator Upper - Ø 36 x 21,50 mm  x 1

I104 Brake Adjusting Actuator Lower - Ø 32 x 18,30 mm  x 1

I109 Brake Adjusting Bolt  x 1

I129 Brake Adjusting Washer  x 1

I128 Brake Adjusting Ring  x 1

GRS05 Grease (White) - 5 g  x 1

Setfren No Description Pcs

I114 Brake Adjusting Guide Pawl  x 2

I106 Brake Adjusting Actuator Upper - Ø 36 x 21,50 mm  x 2

I104 Brake Adjusting Actuator Lower - Ø 32 x 18,30 mm  x2



239www.setfren .com

IVEC
O

IV
EC

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for IVECO caliper systems

Brake Adjuster Complete 
Repair Kit

STI1007 Brake Shoe Return Spring
13301212 

STI1008

Brake Adjuster Repair Kit
12 999 135VT

STI1005 Brake Wedge Set
12 999 402VT

STI1006

Ø 360 SIMPLEX

Ø 360 SIMPLEX

Ø 360 SIMPLEX

Ø 360 SIMPLEX

Setfren No Description Pcs

STI1001 Brake Adjuster Repair Kit  x 1

I139 Brake Wedge  x 1

STI1017 Brake Shoe Return Spring  x 1

STI1008 Brake Shoe Return Spring  x 1

GRS05 Grease (White) - 5 g  x 2

Setfren No Description Pcs

I114 Brake Adjusting Guide Pawl  x 2

I105 Brake Adjusting Actuator Upper - Ø 36 x 18,50 mm  x 2

I104 Brake Adjusting Actuator Lower - Ø 32 x 18,30 mm  x 2

Setfren No Description Pcs

I123 Brake Adjusting Plunger - Ø 41,50 x 49,00 mm  x 2

I139 Brake Wedge  x 1

GRS05 Grease (White) - 5 g  x 2



240 www.setfren .com

IVEC
O

IV
EC

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for IVECO caliper systems

Brake Adjuster KitSTI1012 Brake Adjuster Repair KitSTI1010

Setfren No Description Pcs

I114 Brake Adjusting Guide Pawl  x 2

I124 Brake Adjusting Plunger - Ø 43,90 x 61,00 mm  x 2

I107 Brake Adjusting Actuator Upper - Ø 38 x 21,50 mm  x 2

I104 Brake Adjusting Actuator Lower - Ø 32 x 18,30 mm  x 2

I109 Brake Adjusting Bolt  x 2

I126 Brake Adjusting Plunger Seal  x 2

I129 Brake Adjusting Washer  x 2

I128 Brake Adjusting Ring  x 2

Brake Shoe Return Spring KitSTI1009

Ø 360 SIMPLEX

Brake Adjuster Repair Kit
12 999 404VT

STI1011

Setfren No Description Pcs

I126 Brake Adjusting Plunger Seal  x 2

I129 Brake Adjusting Washer  x 2

I128 Brake Adjusting Ring  x 2

Ø 410 SIMPLEX

Ø 410 SIMPLEX Ø 410 SIMPLEX

Setfren No Description Pcs

I124 Brake Adjusting Plunger - Ø 43,90 x 61,00 mm  x 1

I107 Brake Adjusting Actuator Upper - Ø 38 x 21,50 mm  x 1

I104 Brake Adjusting Actuator Lower - Ø 32 x 18,30 mm  x 1

I109 Brake Adjusting Bolt  x 1

I129 Brake Adjusting Washer  x 1

I128 Brake Adjusting Ring  x 1

GRS05 Grease (White) - 5 g  x 1



241www.setfren .com

IVEC
O

IV
EC

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for IVECO caliper systems

Setfren No Description Pcs

I114 Brake Adjusting Guide Pawl  x 2

I107 Brake Adjusting Actuator Upper - Ø 38 x 21,50 mm  x 2

I104 Brake Adjusting Actuator Lower - Ø 32 x 18,30 mm  x 2

Brake WedgeSTI1015

Brake Wedge Set
12 999 410VT 

STI1013 Brake Adjuster Repair Kit
12 999 411VT

STI1014

Brake Adjuster Complete 
Repair Kit

STI1016

Setfren No Description Pcs

STI1010 Brake Adjuster Repair Kit  x 1

STI1015 Brake Wedge  x 1

STI1017 Brake Shoe Return Spring  x 1

STI1019 Brake Shoe Return Spring  x 1

GRS05 Grease (White) - 5 g  x 2

Setfren No Description Pcs

I124 Brake Adjusting Plunger - Ø 43,90 x 61,00 mm  x 2

STI1015 Brake Wedge  x 1

GRS05 Grease (White) - 5 g  x 2

Ø 410 SIMPLEX

Ø 410 SIMPLEX

Ø 410 SIMPLEX

Ø 410 SIMPLEX



242 www.setfren .com

IVEC
O

IV
EC

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for IVECO caliper systems

Brake Shoe Return Spring

Brake Hold-Down Clip
13304029

STI1019

STI1021

Brake Shoe Return 
Spring Kit

STI1020

Brake Shoe Return Spring
13301191

STI1017 Brake Shoe Return Spring Kit
12 999 573VT

STI1018

Setfren No Description Pcs

STI1017 Brake Shoe Return Spring   x 2

STI1019 Brake Shoe Return Spring  x 2

STI1021 Brake Hold-Down Clip  x4

Setfren No Description Pcs

STI1017 Brake Shoe Return Spring  x 2

STI1019 Brake Shoe Return Spring  x 2

Ø 410 SIMPLEX

Ø 410 SIMPLEX

Ø 410 SIMPLEX

Ø 410 SIMPLEX
Ø 410 SIMPLEX



243www.setfren .com

IVEC
O

IV
EC

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for IVECO caliper systems

Brake Anchor Plunger Set - L
RBSK0248B.M - DUPLEX

STI1024 Brake Anchor Plunger Set - R
RBSK0248B.M - DUPLEX

STI1027

Brake Adjuster Repair Kit
RBSK0502B.M - DUPLEX

STI1022 Brake Adjuster Repair Kit
RBSK0251B.M - DUPLEX

STI1023

Setfren No Description Pcs

I118 Brake Adjusting Guide Screw  x 2

I131 Brake Anchor Plunger - Ø 35 mm - R  x 2

I134 Brake Anchor Plunger Seal  x 2

Setfren No Description Pcs

I127 Brake Adjusting Plunger Seal  x 4

I134 Brake Anchor Plunger Seal  x 4

Setfren No Description Pcs

I115 Brake Adjusting Guide Pawl  x 2

I101 Brake Adjusting Actuator  x 2

I120 Brake Adjusting Plunger  x 2

I110 Brake Adjusting Bolt  x 2

I127 Brake Adjusting Plunger Seal  x 2

I136 Brake Shoe Return Spring  x 2

GRS05 Grease (White) - 5 g  x 2

Setfren No Description Pcs

I118 Brake Adjusting Guide Screw  x 2

I133 Brake Anchor Plunger- Ø 35 mm - L  x 2

I134 Brake Anchor Plunger Seal  x 2

Ø 394 / 381 DUPLEX Ø 394 / 381 DUPLEX

Ø 394 / 381 DUPLEXØ 394 / 381 DUPLEX



244 www.setfren .com

IVEC
O

IV
EC

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for IVECO caliper systems

Brake WedgeSTI1025 Brake Wedge
A2247D1018 - A2247U47

STI1026 

STI1030 Brake Collet Nut Short
165017 

Brake Adjuster Repair Kit
RBSK0549B.M

STI1028

Brake Collet Nut Long
165005

STI1031  

Brake Adjuster Repair KitSTI1029

Setfren No Description Pcs

I115 Brake Adjusting Guide Pawl  x 1

I101 Brake Adjusting Actuator  x 1

I120 Brake Adjusting Plunger  x 1

Setfren No Description Pcs

I110 Brake Adjusting Bolt  x 2

Ø 394 / 381 DUPLEX

Ø 394 / 381 DUPLEX

Ø 394 / 381 DUPLEX

Ø 394 / 381 DUPLEX

Ø 394 / 381 DUPLEX

Ø 394 / 381 DUPLEX



245www.setfren .com

IVEC
O

IV
EC

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for IVECO caliper systems

Brake Adjuster Repair KitSTI1034

Brake Adjuster Repair 
Kit

STI1035

Brake Hold Down Clip
2257D108 - 2257M1001

STI1032 Brake Wedge Set
RBSK0250B.M

STI1033

Setfren No Description Pcs

I116 Brake Adjusting Guide Pawl  x 4

I102 Brake Adjusting Actuator  x 4

I111 Brake Adjusting Bolt  x 4

I125 Brake Adjusting Plunger Seal  x 4

Setfren No Description Pcs

STI1026 Brake Wedge  x 2

GRS05 Grease (White) - 5 g  x 1

Setfren No Description Pcs

I116 Brake Adjusting Guide Pawl  x 2

I102 Brake Adjusting Actuator  x 2

I121 Brake Adjusting Plunger  x 2

I111 Brake Adjusting Bolt  x 2

I125 Brake Adjusting Plunger Seal  x 2

STI1041 Brake Shoe Return Spring  x 2

GRS05 Grease (White) - 5 g  x 2

Ø 394 / 381 DUPLEX

Ø 410 DUPLEX Ø 410 DUPLEX

Ø 394 / 381 DUPLEX



246 www.setfren .com

IVEC
O

IV
EC

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for IVECO caliper systems

Brake Adjuster Repair Kit
RBSK2030.M

STI1036 Brake Adjuster Repair KitSTI1037

STI1040 Brake Anchor Plunger Set - R
RBSK1599.M - RBSK1606.M

STI1042 Brake Shoe Return Spring

Brake Shoe Return Spring
2258Y1507

STI1041

Setfren No Description Pcs

I125 Brake Adjusting Plunger Seal  x 4

Setfren No Description Pcs

I125 Brake Adjusting Plunger Seal  x 4

I135 Brake Anchor Plunger Seal  x 4

Brake Adjuster Repair KitSTI1038

Setfren No Description Pcs

I116 Brake Adjusting Guide Pawl  x 1

I102 Brake Adjusting Actuator  x 1

I121 Brake Adjusting Plunger  x 1

Setfren No Description Pcs

I117 Brake Adjusting Guide Screw  x 2

I132 Brake Anchor Plunger - R  x 2

I135 Brake Anchor Plunger Seal  x 2

Ø 410 DUPLEX
Ø 410 DUPLEX

Ø 410 DUPLEX

Ø 410 DUPLEX

Brake Anchor Plunger Set - L
RBSK1600.M - RBSK1607.M

STI1039

Setfren No Description Pcs

I117 Brake Adjusting Guide Screw  x 2

I130 Brake Anchor Plunger - L  x 2

I135 Brake Anchor Plunger Seal  x 2

Ø 410 DUPLEX

Ø 410 DUPLEX

Ø 410 DUPLEX



247www.setfren .com

IVEC
O

IV
EC

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for IVECO caliper systems

Setfren No Description Pcs

STI1042 Brake Shoe Return Spring  x 4

Brake Adjuster Repair KitSTI1045 Brake Adjuster Repair KitSTI1046

Brake Shoe Return Spring Kit
RBSK1586.M 

STI1043 Brake Adjuster Repair Kit
RBSK1408.M

STI1044

Ø 410 DUPLEX

Ø 410 DUPLEX

Ø 410 DUPLEX

Ø 410 DUPLEX

Setfren No Description Pcs

I113 Brake Adjusting Guide Pawl  x 2

I100 Brake Adjusting Actuator  x 2

I119 Brake Adjusting Plunger  x 2

I108 Brake Adjusting Bolt  x 2

I125 Brake Adjusting Plunger Seal  x 2

STI1057 Brake Shoe Return Spring  x 1

STI1058 Brake Shoe Return Spring  x 1

GRS05 Grease (White) - 5 g  x 2

Setfren No Description Pcs

I116 Brake Adjusting Guide Pawl  x 2

I103 Brake Adjusting Actuator  x 2

I122 Brake Adjusting Plunger  x 2

I112 Brake Adjusting Bolt  x 2

I125 Brake Adjusting Plunger Seal  x 2

I137 Brake Shoe Return Spring  x 1

I138 Brake Shoe Return Spring  x 1

GRS05 Grease (White) - 5 g  x 2

Setfren No Description Pcs

I113 Brake Adjusting Guide Pawl  x 4

I100 Brake Adjusting Actuator  x 4

I111 Brake Adjusting Bolt  x 4

I125 Brake Adjusting Plunger Seal  x 4



248 www.setfren .com

IVEC
O

IV
EC

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for IVECO caliper systems

STI1047 Brake Adjuster Repair Kit
RBSK1407.M

STI1048

STI1051 Brake Anchor Plunger
Angle 15° - L

STI1049

Brake Anchor Plunger
Angle 15° - R

STI1052

STI1050Brake Anchor Plunger 
Angle 5° - L
1259A1015

Setfren No Description Pcs

I140 Brake Wedge  x 2

GRS05 Grease (White) - 5 g  x 1

Brake Anchor Plunger 
Angle 5° - R
1259Z1014

Brake Wedge Set
RBSK1255.M - RBSK1573.M 
RBSK2051.M

Setfren No Description Pcs

I113 Brake Adjusting Guide Pawl  x 1

I100 Brake Adjusting Actuator  x 1

I119 Brake Adjusting Plunger  x 1

Ø 410 DUPLEX

Ø 410 DUPLEX

Ø 410 DUPLEX

Ø 410 DUPLEX

Ø 410 DUPLEX

Ø 410 DUPLEX



249www.setfren .com

IVEC
O

IV
EC

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for IVECO caliper systems

Brake Collet Nut Long
1227K1337

STI1055 Brake Hold-Down Clip
225781004

STI1056

Brake Anchor Plunger Kit - L
RBSK1481.M

STI1053 Brake Anchor Plunger Kit - R
RBSK1482.M

STI1054

Ø 410 DUPLEX

Ø 410 DUPLEX

Ø 410 DUPLEX

Ø 410 DUPLEX

Setfren No Description Pcs

STI1049 Brake Anchor Plunger - Angle 5° - L  x 1

STI1051 Brake Anchor Plunger - Angle 15° - L  x 1

Setfren No Description Pcs

STI1050 Brake Anchor Plunger - Angle 5° - R  x 1

STI1052 Brake Anchor Plunger - Angle 15° - R  x 1



250 www.setfren .com

IVEC
O

IV
EC

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for IVECO caliper systems

Brake Shoe Return Spring Kit
RBSK2128.M

STI1059 Brake Shoe Return Spring KitSTI1060

Brake Shoe Return Spring
2258D1122

STI1057 Brake Shoe Return Spring
2258F1306

STI1058

Setfren No Description Pcs

STI1057 Brake Shoe Return Spring  x 2

STI1058 Brake Shoe Return Spring  x 2

Ø 410 DUPLEX

Ø 410 DUPLEX

Ø 410 DUPLEX

Ø 410 DUPLEX



251www.setfren .com

IVEC
O

IV
EC

O

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for IVECO caliper systems



252 www.setfren .com

H
YD

R
A

U
LIC

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for HYDRAULIC caliper systems

Caliper Pin Repair Kit
SP8902

STH1018 Caliper Pin Repair Kit 
SJ1034

STH1019

Caliper Pin Repair Kit
SP8565

Caliper Pin Repair Kit
SJ1035

STH1017 STH1016

Setfren No Description Pcs

H123 Caliper Pin - Ø 20 / 71 mm  x 2

H124 Pin Bolt - M12 x 1.25 / 85 mm  x 2

H139 Pin Boot  x 2

H125 Pin Cap - Ø 22 / 12 mm  x 2

H126 Pin Cap - Ø 22 / 8 mm  x 2

H100 Grease (White) - 5 g  x 2

Setfren No Description Pcs

H143 Caliper Pin - Ø 20 / 80 mm  x 2

H144 Pin Bolt - M12 x 1.25 / 95 mm  x 2

H139 Pin Boot  x 2

H140 Plug  x 2

H100 Grease (White) - 5 g  x 2

Setfren No Description Pcs

H136 Caliper Pin - Ø 20 / 71 mm  x 2

H137 Pin Bolt - M12 x 1.25 / 85 mm  x 2

H138 Pin Cap - Ø 24 / 12 mm  x 2

H139 Pin Boot  x 2

H100 Grease (White) - 5 g  x 2

Setfren No Description Pcs

H136 Caliper Pin - Ø 20 / 71 mm  x 2

H137 Pin Bolt - M12 x 1.25 / 85 mm  x 2

H138 Pin Cap - Ø 24 / 12 mm  x 2

H139 Pin Boot  x 2

H140 Plug  x 2

H100 Grease (White) - 5 g  x 1



253www.setfren .com

H
YD

R
A

U
LI

C

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for HYDRAULIC caliper systems

SN6… SN7… SK7…
SB6… SB7…

Caliper Pin Boot Kit
ST1154

STH1014

Caliper Pin Repair Kit
SJ1022

STH1015

STH1006 Caliper Boot & Seal Repair Kit
SP9669

Setfren No Description Pcs

H139 Pin Boot  x 2

H138 Pin Cap - Ø 24 / 12 mm  x 2

H140 Plug  x 2

Setfren No Description Pcs

H123 Caliper Pin - Ø 20 / 71 mm  x 2

H137 Pin Bolt - M12 x 1.25 / 85 mm  x 2

H138 Pin Cap - Ø 24 / 12 mm  x 2

H139 Pin Boot  x 2

H140 Plug  x 2

H100 Grease (White) - 5 g  x 2

Setfren No Description Pcs

H127 Piston Boot x 2

H128 Piston Seal x 2

H139 Pin Boot x 2

H125 Pin Cap - Ø 22 / 12 mm x 2

H126 Pin Cap - Ø 22 / 8 mm x 2

H129 O-ring (Big) x 1

H130 O-ring (Small) x 2

H131 Seal (Big) x 1

H132 Seal (Small) x 2

H133 Plastic Ring x 1

H134 Circlips L-Ring x 1

H135 Circlip x 1

H100 Grease (White) - 5 g x 2



254 www.setfren .com

H
YD

R
A

U
LIC

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for HYDRAULIC caliper systems

SN6… SN7… SK7…
SB6… SB7…

Caliper Boot & Seal Repair Kit
SJ1030

STH1007

Caliper Boot & Seal Repair Kit
SP9670

STH1005

STH1008 Caliper Boot & Seal Repair Kit
SJ1033

Setfren No Description Pcs

H141 Piston Boot x 2

H142 Piston Seal x 2

H139 Pin Boot x 2

H138 Pin Cap - Ø 24 / 12 mm x 2

H140 Plug x 2

H129 O-ring (Big) x 1

H130 O-ring (Small) x 2

H131 Seal (Big) x 1

H132 Seal (Small) x 2

H133 Plastic Ring x 1

H134 Circlips L-Ring x 1

H135 Circlip x 1

H100 Grease (White) - 5 g x 2

Setfren No Description Pcs

H121 Piston Boot x 2

H122 Piston Seal x 2

H139 Pin Boot x 2

H125 Pin Cap - Ø 22 / 12 mm x 2

H126 Pin Cap - Ø 22 / 8 mm x 2

H129 O-ring (Big) x 1

H130 O-ring (Small) x 2

H131 Seal (Big) x 1

H132 Seal (Small) x 2

H133 Plastic Ring x 1

H134 Circlips L-Ring x 1

H135 Circlip x 1

H100 Grease (White) - 5 g x 2

Setfren No Description Pcs

H121 Piston Boot x 2

H122 Piston Seal x 2

H139 Pin Boot x 2

H138 Pin Cap - Ø 24 / 12 mm x 2

H140 Plug x 2

H129 O-ring (Big) x 1

H130 O-ring (Small) x 2

H131 Seal (Big) x 1

H132 Seal (Small) x 2

H133 Plastic Ring x 1

H134 Circlips L-Ring x 1

H135 Circlip x 1

H100 Grease (White) - 5 g x 2



255www.setfren .com

H
YD

R
A

U
LI

C

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for HYDRAULIC caliper systems

SN6… SN7… SK7…
SB6… SB7…

STH1011 Caliper Boot Kit
SP8567

STH1012

STH1009

Caliper Boot Kit
SP8597

Caliper Boot Kit
SJ1037

Setfren No Description Pcs

H127 Piston Boot x 2

H128 Piston Seal x 2

H139 Pin Boot x 2

H125 Pin Cap - Ø 22 / 12 mm x 2

H126 Pin Cap - Ø 22 / 8 mm x 2

Setfren No Description Pcs

H141 Piston Boot x 2

H142 Piston Seal x 2

H139 Pin Boot x 2

Setfren No Description Pcs

H141 Piston Boot x 2

H142 Piston Seal x 2

H139 Pin Boot x 2

H138 Pin Cap - Ø 24 / 12 mm x 2



256 www.setfren .com

H
YD

R
A

U
LIC

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for HYDRAULIC caliper systems

SN6… SN7… SK7…
SB6… SB7…

STH1010

STH1013

STH1003

Caliper Boot Kit
SP8564

Caliper Pin Boot Kit
SP8566

Caliper Auto Adjuster Kit
SJ1091

Setfren No Description Pcs

H121 Piston Boot x 2

H122 Piston Seal x 2

H139 Pin Boot x 2

H125 Pin Cap - Ø 22 / 12 mm x 2

H126 Pin Cap - Ø 22 / 8 mm x 2

Setfren No Description Pcs

H139 Pin Boot x 2

H140 Plug x 2

Setfren No Description Pcs

H175 Hand Brake Piston Kit - Ø 58 / 63 mm x 1

H174 Adjusting Bolt x 1

H172 Spring Case x 1

H173 Spring x 1

H135 Circlip x 1

H100 Grease (White) - 5 g x 2



257www.setfren .com

H
YD

R
A

U
LI

C

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for HYDRAULIC caliper systems

SN6… SN7… SK7…
SB6… SB7…

Caliper Auto Adjuster Kit
SJ1092

STH1004

Caliper Auto Adjuster Kit
SJ1215

STH1002

STH1001 Caliper Auto Adjuster Kit
SJ1214 

Setfren No Description Pcs

H177 Hand Brake Piston Kit - Ø 68 / 63 mm x 1

H174 Adjusting Bolt x 1

H172 Spring Case x 1

H173 Spring x 1

H135 Circlip x 1

H100 Grease (White) - 5 g x 2

Setfren No Description Pcs

H181 Hand Brake Piston Kit - Ø 60 / 63 mm x 1

H174 Adjusting Bolt x 1

H155 Spring Case x 1

H156 Spring x 1

H135 Circlip x 1

H100 Grease (White) - 5 g x 2

Setfren No Description Pcs

H185 Hand Brake Piston Kit - Ø 68 / 63 mm x 1

H174 Adjusting Bolt x 1

H155 Spring Case x 1

H156 Spring x 1

H135 Circlip x 1

H100 Grease (White) - 5 g x 2



258 www.setfren .com

H
YD

R
A

U
LIC

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for HYDRAULIC caliper systems

STH1021 Caliper Pin Repair Kit
000 423 0663

Caliper Pin Repair Kit
000 420 0054 -  000 421 0850

Caliper Pin Repair Kit
000 420 0054 -  000 421 0850

STH1020

STH1021

Setfren No Description Pcs

H102 Caliper Pin - Ø 12.15 / 82 mm x 1

H103 Caliper Pin - Ø 11.50 / 82 mm - With 
Bush Slot

x 1

H104 Pin Bolt - M10 x 1.25 / 30 mm x 2

H105 Pin Boot x 2

H106 Rubber Bush x 1

H100 Grease (White) - 5 g x 2

H100 Grease (White) - 5 g x 2

Setfren No Description Pcs

H107 Caliper Pin - Ø 18 / 66 mm x 1

H108 Caliper Pin - Ø 18 / 66 mm - With Bush 
Slot

x 1

H109 Pin Bolt - M8 x 1.25 / 70 mm x 2

H110 Pin Boot x 2

H111 Rubber Bush x 1

H112 Rubber Plug x 2

H100 Grease (White) - 5 g x 2

H100 Grease (White) - 5 g x 2

Setfren No Description Pcs

H141 Piston Boot x 2

H142 Piston Seal x 2



259www.setfren .com

H
YD

R
A

U
LI

C

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.for HYDRAULIC caliper systems



260 www.setfren .com

Z-C
A

M

Z-
C

A
M

for Z-CAM caliper systems

C Spring
167090 - 68192115

STZ1001 Abutment Pin
137075 - 68192487 - 68200150

STZ1002

STZ1005 Cross Shaft Assembly
SP8540 - ST4018 - 68191219

STZ1003 

Strut
137074 - 64225252

STZ1006

STZ1004

MERITOR

MERITOR

MERITOR

MERITOR

MERITOR

MERITOR

Manual Adjuster (Short) - L
Old Model
68020145

Manual Adjuster (Short) - R
Old Model
68020146



261www.setfren .com

Z-C
A

M

Z-
C

A
M

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

STZ1007 STZ1008

STZ1011

Gasket
166063 - 68191066

STZ1009

STZ1012

STZ1010

Adjuster Kit - R
ST4013 - ST4024  
A164062 - 68192566

Adjuster Kit - L
ST4014 -ST4023
A164061 - 68192565

MERITOR MERITOR

MERITOR MERITOR

MERITOR MERITOR

Manual Override Stem Kit
Old Model
ST1033

Manual Override Stem Kit
New Model
ST1034

Manual Override Stem Kit
New Model
ST1035 - ST4022



262 www.setfren .com

Z-C
A

M

Z-
C

A
M

for Z-CAM caliper systems

Cover Plate
166062 - 68191065

STZ1013 Adjuster Lock Kit - R
ST1037 - ST4020 - 68191541

STZ1014

STZ1017 Seal Kit
ST1053 - ST4025

STZ1015

Adjuster Stem
68191930

STZ1027

Dirt Excluder
68192410

STZ1016Adjuster Lock Kit - L
ST1036 - ST4021 - 68191540

MERITOR

MERITOR

MERITOR

MERITOR

MERITOR

MERITOR



263www.setfren .com

Z-C
A

M

Z-
C

A
M

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

Pinion (Long) - L
New Model
A164052 - 68191510

STZ1020 Pinion (Long) - RT 
New Model
A164055 - 68191511

STZ1021

Manual Adjuster (Long) - LT
New Model
ST1038

STZ1018 Manual Adjuster (Long) - R
New Model
ST1039

STZ1019

MERITOR MERITOR

MERITOR MERITOR



264 www.setfren .com

Z-C
A

M

Z-
C

A
M

for Z-CAM caliper systems

STZ1022 Complete Repair Kit - L
000 423 0663

Complete Repair Kit - R
000 420 0054 -  000 421 0850

STZ1023

Setfren No Description Pcs

STZ1001 C Spring x 1

STZ1008 Adjuster Kit - L x 1

STZ1007 Adjuster Kit - R x 1

STZ1005 Cross Shaft Assembly x 1

STZ1016 Dirt Excluder x 2

STZ1006 Brake Adjusting Pin x 2

STZ1017 Seal Kit x 1

STZ1024 Manual Override Kit - L x 1

Setfren No Description Pcs

STZ1001 C Spring x 1

STZ1008 Adjuster Kit - L x 1

STZ1007 Adjuster Kit - R x 1

STZ1005 Cross Shaft Assembly x 1

STZ1016 Dirt Excluder x 2

STZ1006 Brake Adjusting Pin x 2

STZ1017 Seal Kit x 1

STZ1025 Manual Override Kit - R x 1"

MERITOR

MERITOR



265www.setfren .com

Z-C
A

M

Z-
C

A
M

ALL ORIGINAL NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY.

STZ1024 STZ1025

STZ1029 Pinion (Short) - L  Old Model

Tappet Cover Kit Old Model
SP7984 - ST4019

STZ1026

Pinion (Short) - R Old ModelSTZ1028

Manual Override Kit - R
Old Model
SP8549

Manual Override Kit - L 
Old Model
SP8548

MERITOR

MERITOR

MERITOR

MERITOR

MERITOR



266 www.setfren .com

Setfren No  OEM No 

KNORR

STK1007 K000944-K010604-K010606

STK1120 II339680062-II369100062

STK1127 II350470062-K000132

STK1121 K000687

STK1003 K000366-K001300-K010603-K092079

STK1135 K000472-K017707

STK1137 K000375

STK1155 II310370066-K000696

STK1204 II19712004-II30679004-II197120061-K000129

STK1012 K001929

STK1152 K001928

STK1139 K001532

STK1173 II368470064

STK1195 II39769F0063

STK1194 K001301

STK1198 K000029

STK1065 Z001548

STK1122 K000935

STK1175 K000698

STK1179 K000697

STK1219 II328090061

STK1143 K001915-K048389K50

STK1145 K048371K50

STK1142 II39769F0062

STK1147 K004100-K004168-K010766

STK1117 K000365

STK1133 K011117-K031844K50

STK1150 K001274-K002716

STK1130 II197140062

STK1129 II179320062

STK1197 K000945

STK1131 II197330062

STK1008 II179320065-II304130065

STK1005 II370760065

STK1123 II358510062

STK1216 II350470063

STK1213 II350470061

STK1148 K010813

STK1218 II197140063

STK1217 II344730063

STK1146 K048396K50

STK1159 K013007

STK1011 K046523K50-K108004K50

STK1160 K012912

STK1199 K003902

STK1110 II328090062

STK1140 K052759K50

STK1202 K000133

STK1134 K002845-K067417K50

STK1113 K002311

STK1025 K000421

STK1044 K048399K50

STK1112 K000946

STK1094 K001925-K028451

STK1156 K002872

Setfren No  OEM No 

BENDIX

STK1003 802119

STK1065 802455

STK1147 803114

STK1199 802643

MERITOR

STM1035 2297J6692

STM1159 68321678

STM1097 SJ4074

STM1085 SJ4114

STM1181 68320912-68321272

STM1146 MCK1213-SJ4011

STM1165 68320133

STM1160 SJ1212

STM1127 MCK1139

STM1142 MCK1102-ST1157

STM1128 ST1156

STM1203 MCK1289

STM1143 MCK1103

STM1156 MCK1067

STM1158 68322900

STM1152 MCK1065-MCK1066

STM1147 SJ4001

STM1141 MCK1104-SJ4076

STM1145 MCK1086

STM1002 MCK1171

STM1001 MCK1192

STM1054 MCK1237-MCK1239

STM1056 MCK1236

STM1151 MCK1299

STM1169 MCK1041

STM1167 SJ4109

STM1171 SJ4105

STM1150 MCK1244

STM1112 SJ4112

STM1050 MCK1113-SJ4110

STM1052 MCK1112-SJ4103

STM1051 MCK1111-SJ4102

STM1129 MCK1238

STM1137 MCK1254

STM1130 MCK1309

STM1149 SJ4061

STM1092 SJ4031

STM1266 68321441-SJ4117

STM1144 MCK1140-MCK1243

STM1098 SJ4073

STM1084 SJ4113

STM1136 MCK1298

STM1218 SJ4021

STM1154 MCK1253

STM1139 MCK1317

STM1030 MCK1344

STM1153 MCK1310

STM1117 MCK1399-SJ4097

STM1116 MCK1398-SJ4096

STM1122 SJ4108



267www.setfren .com

Setfren No  OEM No 

MERITOR

STM1087 MCK1022-MCK1152

STM1086 MCK1021-MCK1151

STM1016 DSB5L

STM1015 DSB5R

STM1018 MCK1290

STM1017 MCK1291

STM1027 MCK1161

STM1211 DSB6L

STM1212 DSB6R

STM1155 MCK1088

STM1189 MCK1174

STM1148 SJ4032-SJ4078

STM1006 MCK1168-MCK1169-MCK1294

STM1275 MCK1128

STM1268 MCK1127

STM1255 MCK1048

STM1185 SJ4111

STM1186 MCK1311

STM1111 SJ4098

STM1254 MCK1050

STM1232 68322562

STM1233 68322563

STM1252 MCK1087

STM1177 68323746PK10

STM1251 68324854PK10

STM1175 68322655PK10

STM1248 68322297PK10

STM1020 MCK1292

STM1019 MCK1293

STM1026 MCK1160

STM1209 MBA100

STM1135 MCK1134-SJ4094

STM1133 MCK1116

STM1134 MCK1135-SJ4107

STM1132 MCK1118

STM1253 68322485

STM1288 68321502

STM1289 31932070-68321507-68321508

STM1157 MCK1129

STM1182 68915080-68915081

STM1260 SJ4053

STM1126 SJ4077

STM1225 MCK1240

STM1301 SJ4022

STM1249 MCK1264

STM1310 68320550-68323027

STM1302 MBA101

STM1077 MCK1262

STM1250 MCK1263

STM1317 MCK1211

STM1318 MCK1212

STM1312 MBA108

STM1298 MBA104

STM1091 MCK1170

STM1095 MCK1191

Setfren No  OEM No 

MERITOR

STM1323 MCK1323

STM1295 MBA103

STM1119 MCK1167-MCK1295

STM1332 MBA112

STM1319 68322300PK10

STM1314 MCK1209

STM1313 MCK1210

STM1021 MCK1172

STM1234 MCK1193

STM1140 SJ4052

WABCO

STW1043 12 999 699VT-12999702VT

STW1022 12999776

STW1044 12 999 704VT

STW1020 12 999 738VT

STW1045 12 999 580VT

STW1025 12 999 746VT

STW1015 12 999 729VT

STW1034 12 999 678VT

STW1080 12 999 677VT

STW1105 6403229262

STW1120 6403229322

STW1100 6403229272

STW1101 6403229282

STW1064 12 999 734VT

STW1068 12 999 733VT

STW1090 6401759202

STW1122 6402229282

HALDEX

STS1053 94664

STS1054 94665

STS1055 92731

STS1025 95397

STS1048 95399

STS1047 95398

STS1022 90673

STS1052 89794

STS1006 91011

STS1003 91012

STS1004 91013

STS1005 91014

STS1021 91019

STS1019 89926-90693

STS1014 87405

STS1016 87408

STS1017 89925

STS1001 87406

STS1008 89541

STS1009 89927

STS1012 89723

STS1015 94663

STS1011 87680

STS1045 89924

STS1010 94661

STS1046 91216



268 www.setfren .com

Setfren No  OEM No 

HALDEX

STS1051 94659

STS1104 94662

STS1041 94660

STS1050 94892

STS1032 93299

BPW

STK1007 09.801.02.63.0

STK1120 09.801.02.61.0-09.801.02.87.0

STK1127 09.801.02.51.0

STK1187 02.1410.21.00

STK1003 09.801.06.32.0

STK1135 09.801.06.33.0

STK1137 09.801.06.24.0

STK1155 09.801.02.97.0

STK1204 09.801.02.66.0-09.801.02.76.0

STK1012 09.801.07.06.0

STK1152 09.801.07.05.0

STK1139 09.801.06.31.0

STK1220 09.801.06.34.0

STK1175 09.801.06.91.0

STK1219 09.801.02.60.0-09.801.06.11.0

STK1188 02.1410.22.00

STK1177 09.801.06.90.0

STK1216 09.801.02.58.0

STK1199 09.801.06.25.0

STK1110 09.801.02.88.0

WABCO  HYDRAULIC

STH1015 SJ1022

STH1010 SP8564

STH1013 SP8566

STH1017 SP8565

STH1011 SP8567

STH1006 SP9669

STH1005 SP9670

STH1019 SJ1034

STH1007 SJ1030

STH1009 SJ1037

STH1012 SP8597

STH1016 SJ1035-ST1153

STH1008 SJ1033

STH1018 SP8902

STH1014 ST1154

STH1003 SJ1091

STH1004 SJ1092

STH1002 SJ1215

STH1001 SJ1214

MERITOTR Z-CAM

STZ1007 68192566-A164062-ST4013-ST4024

STZ1008 68192565-A164061-ST4014-ST4023

STZ1005 68191219-SP8540-ST4018

STZ1021 68191511-A164055

STZ1020 68191510-A164052

STZ1001 167090-68192115

STZ1019 ST1039

STZ1018 ST1038

Setfren No  OEM No 

MERITOR

STZ1012 ST1033

STZ1011 ST1034

STZ1010 ST1035-ST4022

STZ1002 137075-68192487-68200150

STZ1006 137074-64225252

STZ1013 166062-68191065

STZ1017 ST1053-ST4025

STZ1016 68192410

STZ1014 68191541-ST1037-ST4020

STZ1015 68191540-ST1036-ST4021

STZ1026 SP7984-ST4019

STZ1027 68191930

STZ1004 68020146

STZ1003 68020145

STZ1024 SP8548

STZ1025 SP8549

STZ1009 166063-68191066

MERITOR  Ø 394 / 381 DUPLEXT

STI1026 A2247U47-A2247D1018

STI1022 RBSK0502B.M

STI1028 RBSK0549B.M

STI1023 RBSK0251B.M

STI1033 RBSK0250B.M

STI1024 RBSK0248B.M

STI1027 RBSK0249B.M

STI1032 2257D108-2257M1001

STI1030 165017

STI1031 165005

MERITOR  Ø 410 SIMPLEX

STI1044 RBSK1408.M

STI1057 2258D1122

STI1058 2258F1306

STI1048 RBSK1407.M

STI1039 RBSK1600.M-RBSK1607.M

STI1040 RBSK1599.M-RBSK1606.M

STI1041 2258Y1507

STI1047 RBSK1255.M-RBSK1573.M-RBSK2051.M

STI1049 1259A1015

STI1050 1259Z1014

STI1053 RBSK1481.M

STI1054 RBSK1482.M

STI1056 225781004

STI1055 1227K1337-1227K1337

STI1043 RBSK1586.M

STI1036 RBSK2030.M

STI1059 RBSK2128.M

WABCO PERROT  Ø 360 SIMPLEX

STI1004 12 999 403VT

STI1003 12 999 418VT

STI1006 12 999 402VT

STI1011 12 999 404VT

STI1013 12 999 410VT

STI1005 12 999 135VT

STI1014 12 999 411VT

STI1017 13301191-13301191



269www.setfren .com

Setfren No  OEM No 

WABCO PERROT  Ø 360 SIMPLEX

STI1008 13301212

STI1009 12 999 443VT

STI1021 13304029-13304029

STI1018 12 999 573VT

MERCEDES

STK1007 000 420 0682-000 420 3982-000 420 4882-050 121 0168-050 121 
0657

STK1120 000 420 1282-000 420 3015-001 420 2883-050 121 0655-050 121 
1763-098 010 2610

STK1127 000 420 1082-000 420 2182

STK1003 000 420 2382-000 420 4082-000 420 4982

STK1135 000 420 3482

STK1137 000 420 2982

STK1155 002 420 0383

STK1204 000 420 2682-050 121 1049-6274200188

STK1012 000 420 4282

STK1152 000 420 4182

STM1181 000 423 0062

STM1146 000 420 0276

STK1173 000 420 0150-001 988 2810-050 121 2199

STK1194 050 121 1048

STM1160 000 423 0082

STK1198 000 423 4687

STK1219 001 420 5283

STK1015 050 121 0656

STK1143 000 420 4682

STK1147 000 420 5082

STZ1007 1892003407221    

STZ1008 1892003407231    

STZ1005 1892003407351    

STZ1021 89200340794-1892003407941

STZ1020 89200340793-1892003407931

STK1117 000 420 0782-000 420 2282

STK1129 050 121 0167

STZ1001 1892003407951    

STK1005 000 420 1382

STZ1006 1892003407251    

STZ1016 89200340815

STZ1014 1892003407911    

STZ1026 89200340751-1892003407511

STK1123 000 420 1182-050 121 1047

STK1213 001 420 6683

STK1200 000 420 0882-000 420 2482-6274200186

STK1011 000 423 0316

STK1199 000 420 3248

STK1202 000 420 2582

STM1310 3564210046

STW1064 4054200076

STW1068 4054200083

STH1021 000 423 0663

STK1094 000 420 4382

STH1020 000 420 0054-000 420 0250-000 421 0850

STH1012 000 420 1344

STH1016 000 420 0476

STH1018 000 421 1463

STH1014 000 421 8386

Setfren No  OEM No 

MAN

STK1007 81.50822.6007-81.50822.6022-81.50822.6032

STK1120 81.50822.6009-89.19933.6424-N1011014128

STK1127 36.50822.6008

STK1003 81.50822.6020-81.50822.6031

STK1135 81.50822.6019

STK1137 36.50822.6000-81.50822.6023

STM1159 81.50822.0006

STK1204 36.50822.6001-36.50822.6005

STK1012 81.50822.6027

STK1152 81.50822.6026

STM1181 81.50822.0003

STM1146 81.50802.6008-81.50802.6009

STK1194 81.50822.6025

STM1160 81.50802.6007

STM1127 35.40311.2182-81.50802.6024

STM1142 35.50310.9496-81.50802.6017-81.50802.6020-81.50802.6021

STM1128 35.50310.9502-81.50802.6016

STK1198 81.50822.6021

STK1219 81.50822.6008

STM1203 81.50802.6026

STM1143 81.50802.6022

STK1143 81.50822.6019-81.50822.6034-81.50822.6037-81.50822.6044

STK1145 81.50822.6036

STM1145 ZG002950002

STW1045 81.50822.6003

STZ1007 1472809-8603390-N2509996054

STZ1008 1494055-8603391-N2509996057

STM1151 STRMCK1299

STZ1005 1422829-8603403-N2509996050

STZ1021 1350890-8605967-N2509990131

STZ1020 1350884-8605966-N2509990129

STM1129 STRMCK1238

STM1137 STRMCK1254-ZG070160007

STK1130 81.50822.6006

STK1197 81.50822.6024

STZ1001 1398023-8607130-N2900000088

STZ1019 1428758-N2509996051

STZ1018 1428741

STZ1012 1449350

STZ1011 85.50001.3424-2068777-8604735

STZ1010 1341829-8701361-N2509996037

STZ1006 8603393-N2970060001

STZ1013 1321228-8603384-N2900000084-N2900000152

STZ1017 1422835-8701362-N2965026017

STZ1016 1427340-8701359-N2509990143

STZ1014 1386099-8604737-N2509996047

STZ1015 1336762-8604736-N2509996035

STZ1026 1376916-N2900006011

STZ1027 1336791-N2509990127

STM1144 35.40311.2205-81.50802.6025

STK1213 81.50822.6005

STM1154 STRMCK1253

STK1148 81.50822.6033

STK1217 81.50822.6010

STZ1024 1322422-N2509996031



270 www.setfren .com

Setfren No  OEM No 

MAN

STZ1025 1322439-N2509996033

STZ1009 1321234-8603385-N2966010119

STW1015 81.50800.6023-N1011015566

STM1027 N2509990223-STRMCK1161

STM1155 35.50307.5636-N2965026008

STM1189 06.01771.8107-35.50307.5700-81.50822.0014

STM1252 35.50307.5607

STM1177 35.50307.5642-81.50901.0015

STM1026 N2509990221-STRMCK1160

STM1133 STRMCK1116

STM1288 81.50812.0009

STM1289 81.50812.0011

STW1105 81.50822.6038

SCANIAT

STK1007 1415151-1723414-1743421-1746824-1756389-1759811-2121859

STK1120 1390427-2121643

STK1127 1390426-1798063-2121644

STK1003 1723417-2121858-2198394

STK1135 1723416

STW1022 2093081-2198529-2396937

STK1152 2121650

STK1139 1415148-1444207-1472919-1477676-1477678-1906776-2021750-
2087143

STK1173 2121840

STK1194 1439494-2121839

STK1219 1415150

STK1143 1477675-1527631-2121646

STK1145 2121648

STK1142 2121645

STW1020 1723418-1748132

STK1147 1307967-1322394-1748131-2121647-2198395

STK1133 1756390-1906779

STK1197 1415152-2121868

STK1008 1390429

STK1123 1415149-1415154-1415515

STK1146 2121641

STK1199 2121869-2198536

STK1110 2121642

STK1134 2064260-2292232

STW1090 1872780-2198528-2396938

STK1112 1504808-1886091

STS1025 2092720-2305913

STS1048 2092714-2305915

STS1047 2119426-2305914

STW1122 2432073

DAFT

STK1007 1448913-1623221-1690420

STK1120 1142142-1198153-1198154-1448915

STK1121 1603326-1603327

STK1003 884506-1616894-1622785-1689313

STW1043 1436853

STW1022 1628065

STK1204 1448911

STK1173 1142144-1448910

STM1160 1522063

Setfren No  OEM No 

DAFT

STI1008 13301212

STI1009 12 999 443VT

STI1021 13304029-13304029

STI1018 12 999 573VT

STI1021 13304029-13304029

STM1127 1487339

STM1142 1522034

STW1044 1519363

STK1219 1448914

STK1143 1639100-1847716

STM1141 1522184

STM1145 1522185

STW1020 1505890

STW1045 1517407

STM1002 1489989

STM1001 1489991

STK1147 1527854

STZ1007 1694353

STZ1008 1694352

STM1151 1522170

STZ1005 1694368

STZ1021 1694794

STZ1020 1694793

STM1167 1522168

STM1112 1522169

STM1129 868378

STK1129 B230397

STK1197 884504-1142146-1439493

STZ1001 1694362

STW1025 1440505

STZ1010 1694364

STZ1006 1694355

STZ1013 1694347

STZ1017 1694370

STZ1016 1694354

STZ1014 1694366

STZ1015 1694365

STZ1026 1694367

STM1154 884368

STK1217 1448600

STI1004 1518476

STZ1009 1694348

STW1015 1517354

STM1122 1522167

STM1017 876051

STM1027 1675766

STM1189 868303

STM1006 1689883

STW1034 865966

STM1020 876052

STM1019 876053

STM1026 1675768

STM1135 1489198

STM1133 1489197

STW1080 865965



271www.setfren .com

Setfren No  OEM No 

DAFT

STM1134 1522166

STM1126 1524607

STI1003 1505885

STI1006 1518475

STI1013 1505883

STI1047 1258802

STI1014 1505884

STH1010 1522160

STH1013 1522175

STH1017 1522081

STH1011 1522161

STH1006 1522162

STH1005 1522163

STM1140 1522192

STH1012 1522174

STH1016 1522179

STH1018 1522173

VOLVO

STM1097 3098111

STM1085 3092764

STW1022 85108166

STM1127 85107913

STM1156 3095626

STM1141 3097542-3098108-8550880-85103129

STM1002 AMMCK1171

STM1001 85102099-AMMCK1192

STM1176 3092264

STM1137 AMMCK1254

STI1026 1695493

STZ1001 1696444-3097092

STW1025 21454874

STM1130 85109891

STM1092 8550893

STM1266 3092765

STZ1019 1081820-3090998

STZ1018 1081819-3090997

STZ1012 276096

STZ1011 276099

STZ1010 276100-3098275-3090964

STZ1002 1696445-1698346-3097299

STZ1006 1696446

STZ1013 1696449

STZ1017 272905-3098290

STZ1016 1696448-3090954

STZ1014 276098-3098273

STZ1015 276097-3098274

STZ1026 272904-3098272

STM1144 85107912-AMMCK1243

STM1098 3098110

STM1084 3092763

STM1136 85109890

STM1218 8550881

STM1154 AMMCK1253

STM1139 85109889

STM1153 85109892

Setfren No  OEM No 

VOLVO

STI1028 272857

STZ1004 1607502

STZ1003 1606775

STZ1024 272906

STZ1025 272907

STZ1009 1696450

STM1117 3092259-85109976-21109754

STM1116 3092258-85109975-21109753

STM1122 3092260-21109755-85109977

STM1087 85104828

STM1086 85104827

STM1018 AMMCK1290

STM1017 AMMCK1291

STM1027 AMMCK1161

STM1189 85107958-AMMCK1174

STM1148 3097526-8550895-3098113

STM1275 85102098-85109979

STM1268 85102097-85109978

STM1185 3092283

STM1186 85109893

STM1111 3092261

STM1254 3095646

STM1232 3092281

STM1233 3092280

STM1177 20706975

STM1248 20706977

STM1020 AMMCK1292

STM1019 AMMCK1293

STM1026 AMMCK1160

STM1135 3092255-3095627-85103892-AMMCK1134

STM1133 85102094-AMMCK1116

STM1134 3092256-3096768-85103891

STM1132 85102092

STM1288 10552713

STM1289 2111686

STM1157 85102099

STM1126 3098109

STM1249 3092276-3092277

STI1032 6770266

STM1295 85109445

STM1332 85109894

STH1010 270527-3090937

STH1013 3090852

STH1017 3090851

STH1011 270531-3090938

STH1006 271163-3090356-3090939

STH1005 3090940

RENAULT

STK1007 5021133447

STK1120 5021133459-5021135225

STK1127 5021175206

STK1003 5021171548

STM1097 5001845387

STM1085 5001856320

STW1022 5001866626



272 www.setfren .com

Setfren No  OEM No 

RENAULT

STK1204 5021175165

STM1181 5001822997

STK1139 5021181996

STK1173 5021175226

STK1194 5021175294

STM1160 5001831176

STM1127 5006028414-5021179952

STM1128 5001849886

STW1044 5001852880

STK1198 5021175269

STM1147 5001822994-5001822998

STM1141 5001837006

STM1145 5001858717

STM1002 5021170885

STM1001 5021170886

STZ1007 5001868117-5006018437

STZ1008 5001868118-5006018438

STZ1005 5001868121-5006018458

STZ1021 5001868126

STZ1020 5001868125-5006018474

STM1150 5001858718-5001860792

STM1129 5021202828

STK1129 5021135101

STK1197 5021175286

STI1022 5021203245

STZ1001 5001868113-5006018480

STW1025 5001858722-7421454874

STM1130 5001866398

STZ1019 7401081820

STZ1018 7401081819

STZ1010 7403090964

STZ1006 5001868120-5006018440

STZ1013 5001868127-5006018435

STZ1017 5006018459

STZ1016 5001868119-5006018439

STZ1014 7400276098

STZ1015 7400276097

STZ1026 5006018457

STZ1027 5006018450

STM1144 5001860791

STM1098 5001845386

STM1084 5001856319

STM1136 5001866989

STM1153 5001866400

STZ1004 5006046766

STZ1003 5006046765

STZ1024 5021203714

STZ1009 5001868122-5006018436

STM1027 5021139151-5021170883

STM1189 5001858719-5001866486

STM1006 5021202850

STW1034 5021170488

STM1186 7485109893

STM1177 5006028416

STM1248 5001866415

Setfren No  OEM No 

RENAULT

STM1026 5021139150-5021170882

STM1133 5021202776

STW1080 5021170487

STM1225 5021177423

STI1003 5021170485

STM1301 5001836607

STM1077 503128759

STM1312 5001845969

STM1319 503128760

STM1314 503129553

STM1313 503129554

STS1019 5021174163

STH1010 5001014701-5001829895

STH1013 5001829894

STS1010 5021174076

STM1140 5001845385

STS1051 5021174162-5021174180

STH1012 5001014679-5001829892

STS1041 5021174174

IVECO

STK1007 42541341-42553530-93162050-97131443-503512832-
5006046989

STK1120 93162048-5801109377

STK1127 97131439

STK1003 42541413-42552622-5006028046

STK1135 42541412-42562856-5006028005

STK1137 42538002-42562855

STW1043 42536957

STW1022 503512819

STK1204 42538004-97131548

STK1139 5006028067

STK1173 5006028066

STK1194 5006028068

STK1219 93162049

STK1142 42537451

STZ1007 3348784R91

STZ1008 3346429R91-3348783R91

STZ1005 3346443R91

STZ1021 3346447R1-3346449R1

STZ1020 3346448R1

STI1044 42558430-93161622-93162114

STK1197 5006028069

STI1026 42480062

STI1022 42491950

STZ1001 3346437R1

STZ1010 42540290-3346439R91

STZ1006 16352S1

STZ1013 3346423R1

STZ1016 42540274-3346430R91

STZ1014 3346441R91

STZ1015 3346440R91

STZ1026 3346442R91

STZ1027 3346433R1

STM1144 42552052-42555201-503128758

STK1200 42541464

STI1004 93161268



273www.setfren .com

Setfren No  OEM No 

VOLVO

STI1028 42491974

STI1023 7980408

STI1048 42558429-93161623

STM1189 503131342

STM1006 2995922

STI1003 93161254

STI1006 93161267

STI1033 7980407-93161353

STI1039 42537364-42537366

STI1040 42537363-42537365

STI1011 93161257

STI1013 93161768

STI1024 7980405

STI1027 7980406

STI1034 42559512-42562830

STI1035 2996557

STI1038 42536195

STI1047 42536194-42537942-93161621

STI1032 42488484

STI1005 8124815

STI1014 93161256

STI1017 8121308-8121308

STI1008 8121307

STI1009 93161260

STI1021 8121441-8121441

STI1018 93161872

STI1020 42538063

STI1045 42538065

STI1053 93161863

STI1054 93161864

STI1055 93163852-93163852

STI1043 42536192

STI1036 93161625

STI1037 42537884

STH1015 93161035-93161475

STH1010 93161552

STH1017 8124737

STH1019 93161037-93161473

STI1059 93161627-93162113

STH1007 93161036-93191505

STH1009 93161028-93162075

STH1016 93161029-93161472

STH1008 93161034-93161471

STH1002 93161040-93161245

STH1001 93161244

NEOPLAN

STK1007 11014051

STK1120 11015565

STK1219 11014050

STK1129 11015462

STW1015 11015566-82139200

SCHMITZ  CARGOBULL

STK1007 015419-016703-016786-017264

STK1120 015418-1052335

STK1003 017696-1008451

Setfren No  OEM No 

SCHMITZ  CARGOBULL

STK1137 017197

STK1155 017947

STW1022 1068119

STW1032 1104514

STK1204 015420

STK1139 017665-018071-917682

STK1220 017695

STK1173 016787

STK1219 015422-015649-017155-018077

STK1147 1008450-1105586

STK1197 1044273

STK1199 1008453

STW1090 1068160-1104515

STW1122 1199858

KASSBOHRER  SETRA

STK1007 82855154680

STK1120 89199390714

STK1127 8285515563-82855154690

STM1181 8285388449

STM1160 8285388441

STM1289 82854415090

STM1310 8285388450

SAF

STK1007 3434380400-5317002800-85317002800

STK1120 5317002100

STK1003 3434381400

STK1135 3434381200

STK1155 3434380500-84434371000

STW1022 3434382800

STK1204 3434380700-3434380900-5317002600-85317002600

STK1173 3434380100

STK1195 3434380600

STK1194 5317002700

STK1122 3434380200

STK1175 3424381300

STW1020 3434382701

STK1147 3434381500

STK1197 85317002500

STK1216 3434380300

STK1110 85317002100-85317002200

STK1134 3434382000

STW1090 3434382900

STS1025 3434386100

STS1048 3434386300

STS1047 3434386200

STS1003 3434385402

STS1021 3434385601

STS1019 3434385502

STS1014 3434320200-3434385200

STS1016 3434320400

STS1017 3434385501

STS1010 3434320300-3434385400-3434385401-3434385600-
3434385700-3434385800

STS1051 3434385101

STS1104 3434385201-3434385202

STS1041 3434385702-3434385801



274 www.setfren .com

Setfren No  OEM No 

KÖGEL

STK1003 6500509

STW1022 6500700

HENDRICKSON

STK1003 S-29152-6

STK1065 S-29152-5

STK1147 S-29152-9

STS1004 S-30560-6

STS1019 S-30560-4

STS1017 S-30560-2

STS1046 S-30560-12

STS1051 S-30560-3

STS1041 S-30560-14

STS1050 S-30560-13

STS1032 S-30560-5

FRUEHAUF  SMB

STK1007 M100942-M91006202

STK1120 LSA0086001-M100918

STK1003 M91005201-M91006201

STK1137 M91004801

STK1204 M100969-M91000201

STK1194 M100977

STK1198 M91004901

STK1219 M100926

STW1034 M100675

STW1080 M100667

AWD

STZ1005 A4027696

STZ1021 A4027691

STZ1020 A4027705

STZ1010 A4027698

STZ1013 A4027680-9P901178

STZ1017 A4027695

STZ1016 A4027686

STZ1014 A4027699

STZ1015 A4027706

STZ1026 A4027697

STI1033 A4022499

STI1024 A4023357

BMC

STZ1007 9P910414

STZ1008 9P911107

STZ1001 9P901265

STZ1017 9P905487

STZ1014 9P910412

STZ1015 9P910411

STZ1027 9P901234

OTOKAR

STW1043 13C3508276AA

MACK

STW1044 261112999704VT

STW1025 261112999746VT

YORK

STW1020 79787365

NISSAN

STM1085 69030020

Setfren No  OEM No 

NISSAN

STW1022 411209X625

STM1149 69029770

STM1092 69029760

STM1266 69029810

STM1084 69029730

STM1087 69030040

STM1086 69029750

STM1260 69029910

STI1032 69028800

STM1140 69029720

BREDAMENARINIBUS

STI1022 192753

STM1030 193107

STI1028 192752

STI1023 192757

STM1006 193100

STI1033 192756

STI1024 192754

STI1027 192755

STM1021 193101

STM1234 193102

DENNIS

STM1097 656565-2

STM1085 CASJ4114-DEP100074

STW1022 659742-2

STM1146 655079-11

STM1160 653563-1-655079-10

STM1141 655377-7-656564-4

STZ1007 613859-11-653996-12

STZ1008 613859-13-653996-13

STZ1005 613859-7-653996-21

STZ1021 613860-6-653996-3-653997-5

STZ1020 613859-29-653996-25

STZ1001 613859-19-653996-19

STM1092 655377-8-655377-9

STM1266 655377-14

STZ1010 613859-15-653996-15

STZ1006 608893-35-610497-27-613859-9

STZ1013 613859-3-653996-7

STZ1017 613859-23-653563-8-653996-22

STZ1016 613859-10-653996-14-653996-20

STZ1014 613860-4-653997-3

STZ1015 613859-28-653996-17

STZ1026 613859-12-653996-16

STZ1027 613859-17

STM1098 656564-10

STM1084 CASJ4113-DEP100073

STM1218 655377-10

STI1004 654812-16

STZ1009 613859-4-653563-15-653996-8

STM1087 655378-4-CAMCK1152

STM1086 655377-6

STM1148 655377-3-656564-3-DEP100080

STM1182 646464-6-656564-5

STM1126 DEP100072



275www.setfren .com

Setfren No  OEM No 

DENNIS

STI1003 654812-17

STI1006 654812-15

STI1011 654812-18

STM1310 655079-3-655079-5

PACCAR

STZ1007 PPMST4013

STZ1008 PPMST4014

STM1151 Y07100312

STZ1021 TP02006096

STZ1020 TP02006095

STM1137 871054

STI1022 FBU6782

STZ1012 TP02006268

STZ1010 TP02006093

STZ1006 AAU6457

STZ1016 TP08023002

STZ1015 TP02006094

STM1144 1522058

STM1136 9500931

STM1177 868304

STI1032 Y03018809

LEYLAND

STM1085 LBSJ4114

STZ1007 XBU0911

STZ1008 XBU0910

STZ1021 XBU0685

STZ1020 XBU0684

STM1084 XBU1066

STZ1009 XBU0889

RABA

STM1181 746871

STM1160 650459

STZ1008 665135

STZ1001 665153

STZ1006 665152

STZ1013 665145

STZ1016 665151

VAN HOOL

STK1007 11031121

STK1137 11099621

STM1142 10770779

STM1128 N508026022

STK1197 11057545

STI1026 634321231

STI1028 634321204

STI1027 10610921

STI1032 634321233

ZF

STM1159 0501318076

STM1181 0501314109

STM1160 0501208810-0501209883

STM1127 0501215022

STM1142 0501213164

STM1128 0501211883

STZ1008 0501210719

Setfren No  OEM No 

ZF

STZ1010 0501210721

STZ1016 0501316391

STM1144 0501215220

STI1023 0501298164

STM1189 0501321591

STM1177 0501322343

STI1033 0501298159

STM1319 0501318077

FORDt

STZ1007 9C462A105BA

STZ1008 9C462A105AA

STZ1005 9C462458AA

STZ1021 9C462K161AA

STZ1020 9C462K161BA

STZ1001 9C462296AA

STZ1002 9C462069AA

STZ1006 9C462B003AA

STZ1013 9C462213AA

STZ1016 9C462B009AA

STZ1014 9C462K400BA

STZ1015 9C462K400AA

STZ1027 9C462C200AA

STZ1009 9C462B032AA

STI1041 6C462L371AA

STI1032 82DB2B026AA



276 www.setfren .com



277www.setfren .com



278 www.setfren .com

Z-C
A

M

Z-
C

A
M

for Z-CAM caliper systems

Org. San. Böl. 75. Yıl Bul. Demirciler Sit. A Blok No:5 Nilüfer / BURSA 
0224 242 05 63

info@setfren.com      www.setfren.com


